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1. Which of the following organization composes

Topographic Map of India-

(a) Geogrophical Survey of India
b Survey of Tndia

fc) Geological survey of India

{d) Archacological survey of India

Ans. (b} [SSC CHSL (10+2), 2010, 2011]

Expl:- The Survey of India was established in 1767 under
the department of science and technology ministry, The main
objective of department is to Jocate all the areas in the country
and cart them in a map so that standard map ean be available for
inclusive and faster growth. The organization works on making
a database of all natural maps under digital cartographical
datahase.
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The Eastern Coastal Plain is also named as-

A . Which of the fallowing will net get diree Fliyy My,
(a) Mumbai
(b} Chennai
(c) Thimvananthapuram
i7" Srindgar
Ans.. (d) [SSC CGLEI:mm
Expli- The Direct rays of sun will not fall on 5.;-"7‘,:

sun rays directly fall in the middle of wopic of Cingy

Capricom. Srinagar is very far from tropic of Cancer, _.,.:,*r:
rays of sun do not fall over Srinagar while Chennai, Mrriy

and Thiruvananthapuram located in between tropic of Cany
and Capricom,

f.

Which of the fnlhwin;: city located on Northery .
Latitude-!

*.,'_,L_a}“';]‘npmllf

|
|
(b) Allahabad i

SN o o @ Panchmarhi  (d) Ahmadabad |
5 ﬂ. A i~ ke, t J."J.‘li.fll-. [EY [SSC CGL Exam, X0
(b} Ciujarat Plains T o
Ler Coromandel coastal plains My i w7 | Expli-
(d) Malabar coastal plains ot Ty City Latitude
Ans. (c) .. [SSCSieng Exam, 2011] |[Paina 2537'N
e Panchmari 3
Expli- The eastern part of Indis from False Divi Point 1o CAPE| | 230
COMORIN is called Coromandal coast, while Konkan, Gujarat Allahabad J528°N
plains and Malabar plains are related to western coast. Ahmadabad 1.29°N |l
3.  The Standard M-Eriﬂllnn of India is- 7. What is the name of India’s Southern Tip-
{a) 75.5E longitude ..__W"EEE}E longitude (2) Kanyakumari (b) Point Calimere
(c) 90.5E longitude (d) 0 longitude \_E}D}”"I'a:lira Point (@) Kovalam
Ans. (b) [SSC CGL Exam, 2016, SSC CPO Exam, 2003]  Ans, () [SSC CGL Exam, 2008, 55C MTS Exam ¥
_——l-"'.II
E#L' Elﬂ.ﬂdﬂ'ﬂ fireridinn ﬂf lnlilﬂ I;E m 5 E Imym: Wh]c"i E:plr., The %mhm IIP nf']nma is I“d“'g Pﬂlmt “m i‘
ﬂmﬂ“m I'rﬁl:ﬂ-_lﬂlf near Allahabad. It is 5:30 hours ahead HI]:-;I F}famaimn point, Kanyakumari is the southem *
7 ;:dl“ Sbamdand Time I slead of Girkoawich Mesn Time. g, Which is the Iast point of Southern India-
!‘-.
AT 5.30 hours (b) 4:30 hours (a}) Cape Comorin {b} Kanyakumari
{c) 4 hours (d) 5 hours \As¥" Indira point {d) Port Blair

-EIFI'-'* Indian Standard Time (IST) is the time observed
ghnmlndhmntﬂl:lunh.mﬂmummﬂ‘m ofUTC+05:30,
ia does not i:ttl-i:l'_# daylight aving time (DST) or other
ol nﬂ_[lﬂimmlﬂ In military and avistion time IST is
esignated E* (“Echo-Star”),
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E:pl:-'lmLh-n Paint is the southern tip of the ltlﬁlﬂl‘*'j"’l'w]I

of Great Micobor, in the Nicobar Islands south © grﬁf

represents the southernmost point of Indian nati ‘1‘"1'
only

'Hnn:r 110 miles ESE of India"s mainland 3—7-] _-”,/

I!I.'lﬂﬂ; HNE of Sumatra in Indomcsia,
i
i
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y of Area, Indla I8 __ targest nation in the
by Ans. (d) [SSC (10+2) Exam, 2012]
o S;cﬂﬂd (8) Fourth E'ﬂ"'ﬂﬂkshinﬁmn- —— —

tﬂ gt Ay Seventh mmm'IWMMﬁﬁEBh;EmBH:ﬂTmM- ca.
. Iﬂiii‘ag""““th largest country of the world in terms of o
| Russia 3 Coii .l " :T:g:ru‘:iﬂﬂﬂ of Himachal Pradesh touches the border
i Amenich 4. China {2)  Kinnoor () Chamba

- Braz] 6. Australia (<) EKullu (d) Sirmayur

Ams. () [SSC MTS Exam, 2006]

“ e Area of India is _ times larger than the area of

TN

Erpl:- Kinour 18 one of twelve administrative districts in the
Indian state of Himachal Pradesh, India. The district is divides

E:::: 2 W 7 1i|:|1|:+3 adfni:u'stmtl?c areas- Pooh, Kalpa of Nichar.

i [SSC MTS Exam, 2013) ; ;.:":::h of the following is the largest unjon territory of
| GTadms area is 4 times larger than Pakistan. The Arca of (a) Chandigarhi, gi\“x
13 #7.2695q km and Pakistan's area is 7,96,095 (b) P:.H!IJE!‘L:I.'!'}": . B ¥

1 Indian subcontinent was mainly a part of - (¢} Andiman dnd Nicobar Islands

§) Jurassic land {b) Angara land ,';‘.{d!*;_f;ﬁhﬁﬂmfp

i) Aryavan i{d¥ Gondwanaland ) Ar?.""z{n_:_)‘g M [SSC (10+2) Exam, 2010]
i (4 [SSC Section off. Exam, 2000] ¢ Tg op e e rns oF area Andaman and Nicobar Islands is the

largest umion territory of India.

Indian subcontinent was part of Gondwanaland. Australia,

i of Pangaca was occurred in two large parts one is called
: and other Gondwanaland. The Current scenario of
wirld came afier (he bifurcation of these two lands.

. Which of the nations are cunﬁéz_fqg_ﬁ-ﬁﬁ Palk Strait-
. Ih N.”
e India and Sri Lefiks (O >
() Morth Korea aﬁé‘:ﬁ]bﬂws
e Pakistan and China~

i) Britain and France
n, [a)

[SSC MTS Exam, 2011, 2001]
.i,i.rut 15 a naturally mwmfﬂrﬁ'ﬂ}'ﬂm
i 280 r bodics of water. i

+ Which of the port is nat a Natural Port-

Wmmi (b} Mumbai

' Cochin (d) Paradip
fa) [S5C CPQ Exam, 2006]

™ Hemisphere Antarctica-

i) Dakshin Bhapay (b) Dakshin Niwas

“ Dakishin Chitra 4} Dakshin Gangotn

Vo o 1 fel.

Sauth America, Medagascar were also its part: The |” 3,

Which state is the profectorate of India-

{a) Arunachal Pradesh (b) Nagaland

{¢) Meghalaya (d) Sikkim

Ans. (d) [SSC MTS Exam, 2013
Expl:- Sikkim fs the protectorate of India. In recent time
Anunachal Pradésh is also proposed for protectorate of India.

4. Which group of following states shares the boundary

with Nagaland-
(o) Arunachal Pradesh, Assam and Meghnlaya
(b) Anmachal Pradesh, Assam and Manipur
{c) Assam, Meghalaya and Manipur
{d) Anumachal Pradesh, Assam and Mizoram
Ans. (b) [85C FCI Exam, 2012]

enli stag in Mortheast India. 1t borders the ml.n_:pr'ﬁ_.::'nmi
;ﬁ;ﬂa'ﬁ@,ﬁnmnhﬂl desh and part of Assam to the north,

Furma to the east, and Manipur 10 the south, The state capital is
‘Kohima and the largest cify is Dimapus
wWhich of the following state does not share boundary
with Myanmar-
{a) Assam {b) Manipur
{c) Arunichal Pradesh {d) Mizoram
Ans, (3) [SSC MTS Exam, 3002, 2008]
219



Expl:- Assam does not share its borders with Myanmar, It's
border touches with the border of Arunachal Pradesh, Nagaland,
Manipur and Mizoram.

6. Which of the following palr Is not carreetly matched-
(a) Dehradun - Uttar Pradesh
(b) Shimla - Himachal Pradesh
(c) Darjecling - West Bengal
(d) Panchman - Madhya Pradesh
Ang, (a) [85C Section off., Exam, 2006]

Expl:- Dehradun is the capital city of Urtarakhand.

7. Which pair is correctly matched-
(a) Assam - [tanagar
{b) Amunachal Pradesh - Guwahati
() Tripura - Agartala
(d) MNagaland - Shilong

Ans. (c) [S5C FCI Exam, 2012]

Expl:- The Capital of Assam is Dispur, Itanagar of Arunachal
Pradesh, Kohima of Nagaland and Agartala of Tripura. So option
iC is comect,

(b) Less rain and relative humidity o by,
evaporation of the sca water oy

(c) Saltis exported from kandla port
{d}) The Salinity of Water near coast of Cyian, -
high Harzt j ",
[S5C MT5 EHHL?J},

Ans, {h)

Expl:- The reason for Gujarat as main salt prodocer i$ thy
rain and relative humidity is best for the evaporation of the,,
WaleT,

11.  Which of the following state land is situated

and western coasts- ” iy
(2) Puducherry (b} Kerala
(c) Andhra Pradesh (d) Blaharashira

Ans. (a) [SSC MTS Exam, 21

Expl:- Puducherry is situated on eastern and westem coagy
India. It has four districts

1. Puducherry and Karaikal-on the coast of Tamil Nax
{eastern coast)

2. Ymmam-on the coast of Andhra Pradesh (easter coan)
¥ Mahe-Kerala {weslern coast)

B.  Which is not correctly matched-

(a) Darjecling - West Bangal =
(b) Mount Abu - Rajasthan e
(e} Kodatkonal - Tamil Nadu ﬂ..f."’.ﬁ'~

{d) Shimla - Uttar Pradesh f"“__ ::-‘a- »

Ans. (d) A .ES{ELE{(.]T:EXEH‘I, 2012]

.E:I.'pl:- E!ﬁmla. 15 the capital city of Himachal Pradesh: Darjeeling
is in West Bengal, Mount Abu in Rajasthan, Kodaikanal in Tamil

Nadu.

9. Correct pair of the staté and its capital Is —
(a) Nagaland - Shillong
(b} Jharkhand — Ranchi
(c) Ustarakhand — Nainital
(d) Chattisgarh - Bilaspur

Ans. (b) [35C MTS Exam, 2014)
Expl:-
: | State Capital
.' Nagaland Kohima
Jharkhand Ranchi
| Uttarakhand | Delradun
| Chattisgarh Raipur

12, Which state has the largest area in India?

o

Ya v (a) Uttar Pradesh {b) Madhya Pradech
3 “ {e) Maharashtra {d) Rajasthan
Ans, (d) |SSC MTS Exam, NiE

Expl:- In terms of area Rajasthan is the largest state of

followed by Madhya Pradesh, Maharashira, Andhra Pradesh
Uttar Pradesh.

13, Which state has the largest constline in India®
{a}) Andhra Pradesh {b) Maharashira
() Orissa {(d) Tamil Madu
Ans. (a) [SSC Tax Asst. Exam, 2009, SSC CGL Exam. 2011]

Expl:- Gujarat has the longest coast line in India followed b
Andhra Pradesh,

15. The Coast line of India s-

{a} 5500km (b) &500km
(&) 7500km {(d) B400km
Ans. (¢) [S5C Section OT. Exam, 201

Expl:- India’s coast line is 7516km,

10. There are nine coastal states in India but half of (he sen
salt is manufactured in the coast of Gujarat because-

(a) Gandhiji started Salt Satyagrah in Gujarat
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16.  Where Is Lakshadweep Island located-
(n) None of these (b} Bay of Bengal
(¢) Arabian Sea (d) Indian Ocean

‘II
Ans. () [SSC (10+2) Exam, ¥

Expl:- Lakshadweep is situated in south west part ':'r[."ﬁ:
Ocean located in Arbian Sea, Its capital is Kavaratti. [t

smallest of all union territories of India,
1l




Jlaw many islands are there in Lakshadweep -
by 27
(dy 47
[SSC {10+2) Exam, 2014]

it
@ 7
) 36

ans- i€}
Eapl:- 14 Islands form Lakshadweep. It is the smallest union

sepritory. 11 capital is Kavaratii.
g Anda rnnn_and Nicobar Islands are separated by which of
the following-
) Ten degree channel (b)) Great Channel

{¢) Bayel Bengal (d) Andaman Sea
[S5C CGL Exam 2008, SSC Steno (Grade C & D)

I

Ans- (3}
Exam, 2012]

- Andaman and Nicobar Islands are separated by ten degree
channel which lies in between linle Andaman and MNicobar

istands.
{4 Where is Saddle Peak in Andaman and Nicobar Island
sifuated-

ja) Great Nicobar (b} Middle Andaman

Linle Andaman : (d) Morthem Andaman

[SSC MTS Exam, 2013]

(ch
Ans. (d)

Expl:- Sanddle Peak Located in north Andaman of Andaman and
Nicobar Island, Saddle Peak is the highest peak of the islands.

0. West Bengal makes borders with how many countries-

fa) One (b)Y Two
(c) Three (d) Four
Ams. (&) [S8C Tax Asst. Exam, 2006]
Expl:- West Benpal makes birders with Bangladesh, Nepal and
Bhutan,
1. The Coastal terrain of Andhra Pradesh and Tamil Nadu
I8 known as-
{a) Konkan {b) Coromandal
(£} East coast {d} Malahar coast
Ans. (b) [35C Tax Asst. Exam, 2008]

Expl:- The Coastal terrin of Andhra Pradesh and Tamil Nadu
s known ag Coromandal, while west of Kemla is known as
Malsbir Coast,

1 Which of the following higher ground is not the part of
elangana Plateau-

24,

India‘s longest tunnel Jawshar tunnel Is located In which
state-

(n)  Jarnmu and Kashmir

(b  Maharachora

{c) Kamaaka

(dy Himachal Pradesh

Ans. (a) [S5C CGL Exam, 2008, $5C Section off. Exam, 2007}

Expl:- Jawahar tunnel, longest tunnel of India’s rood network
is situgted at Hanihal Pass in Jammu and Kashmir. Jammu-

Srinagar highway passes through Banihal Pass.

15, Match these-

Port State
A.  Bhatkal I. Kemla
B. Alleppey 2. Tamil Nadu
C. HKakinada 3. Kamataka
[ Theothukudi {Tuticorin} 4.  Andhra Pradesh
A B C b
fap 1 3 4 2
(b} 4 3 2 I
fch- 3 I 4 2
(dy 2 4 I 3
Ans. (c) [SSC CPO Exam. 2009]

Expl:- Bhatkal Kamataka, Alleppey Kerala, Kakinada Andhm
Pradesh, Tuticorn Tamil Madu,

26,  Which of the following state is the member of ~Seven

Sisters™-
(3} West Bengal (b)) Tropura
(e} - Orissa (d} Bihar
Ans. (b) [S5C Tax Asst. Exam. 200%]

Expl:- The Seven main states of northeast India are known as
seven sisters. These are as follows-Arunachal Pradesh. Nagaland,
Manipur, Mizoram, Tripura, Meghalaya and Assam.

27.  Which of the following Indian state does not have any
coastal border-
(a) Gujarat (b) Goa
{c) Rajasthan {d) Maharashira

Ans. {c) [SSC DED Exam, 200%]

Expl:- Goa, Gujarat and Maharashira have cosstal borders while
Rajasthan doesn’t have constal border,

. I8,  Where will “Smart Cliy™ be established-

[H-} Amﬂtl'i :_h} Westen E',l'ﬂ.t [i} Cochin HJ} Hl-'-l'lll:liﬂ“m
Eastern gha {d) Satpura {c) Hydernbad (d) Chennai
[§5C CPO Exam, 2005]  Ans. (a) . [SSC MTS LExam, 2006]

** Arsvalli high land is not the pant of Telangana Plateau
Ghat end Satpura are perts of Telangana

Expli- The Smart city will be csiablished in Cochin. The
Smart city is an information technology business park. Under
construction in Kochi, Kerala,

L Ry
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19, Sabarimala is stiwated in which of the following stale-
(k) Tamil Nodu

{a) Andhma Pradesh
e} Kemla {dy Kamaiaka
Ans. (e} [S5C MTS Exam, N3}

Expl:-Sabarimala is siwsated in pathanamthitta district of Kerali

It is a pilgrimage site of the Hindu Ayyappa Dynasty.

30, Diu is an Island-

(3} Besides Daman b Besides G
{e}  Besides Gujarat [y Resides Maharasiom
Ans. () [$SC CGL Exam. 2011 ]

Expl:- Diu is the part of union territory of Daman and Diui. It is
located near Gujarat coast in Arabian Sea.

31.  What is the name of the disputed coastal area located far
from Gujarat coast in between India and Pakistan-

{a) GuifefCombay (b Sir Creck
fer Gulfof Khambhat  (di  Mowh of Indos
Ans. (b) [S5C Tux Asst, Exam, 2004]

Expl:- Sir creek is located near the Indo-Pai: border of Gujarat
Sir Creek, called Baan Ganga locally, ks a 9 km long estuary in
the marshes of the Ran of Kutch.

32, The Proposed Sea way “Sethusamudram®™ is the canal
passes through which sea-lanes-

(0}  Gulf of Mannar
(b} Molacca S1mn
{cy  Ooulf of Kuwich
{d} Andamon and Nicobar islands
Ans. (a) [55C CPO Exam, H005)

Expl:- This project will connect Palk Strait and Gulf of Mannar,
After the completion of this project the distance and time of

eagtern and western coast will reduced to 8 preat extent.

33, ‘Which of the following union territory of India hos Four
districts but the barder of ils district do not mect with
oiher distriet-

(n) Chandigarh
ib)  Puducherry
{ep  Dadra and Magar Havel
iy Anchimon and Nicobar slinds
Ans, (k) IEﬁI'lllr-hI-unl,:'lll.li

fdy Kerala
[SSC {162y F.Hm_jr,.r]_,

Expl:- Puducherry is a union territory of Indi, It hay
administrative divisions: four districts, viz. Pondicherry, |
Yanam and Earaikal, Pondicherry district has the birges Mea g
population. Mahé district has the smallest arca and populas,

—

|[ ~  MOUNTAIN, PASS AND LAKE |
L.——-———'—"__""_'—'—-—

1. The Study of Lakes is called-

fe}  Andhra Pradesh

Ans. (&)

fa) Limnology () Potomology
fe)  Topology {1 Hydrologs
Ans. (1) [S5C CGL Exam, 21y

Expl:- The Study of Lakes is known as Limnology under whi
the study of lakes, ponds. rivers and wetlands is conductsd

.5 Find the add one —

{a)  Diela ihy Bolson
{cl  Arc Lake 1dy Creep
Ans. (b} [SSC CGL Exam, 2014

Expl:- Delta, Arc Lake and creep are related o plains wher
bolzon is related 1o deserts,

3. Which of the following is inducted in the list of nerid
heritape sites of UNESC()-

{at Lake Chilku

Dal Luke

Magin Lake

Sundarban Mational Park

(ch
fall

Ans, (dj

| S50 MITS Faam, 309
Expl:- Sundarban MNational Park. in 1957 was inducioed m 'h‘_\l.i
OFUNESCO World Heritage Sites, Recently UNESUT insrity
Malanala University of Hilar, Clandigarh’s Capial Comed
and Sikkim's Kangehenjunia National park that inludes o
Kangchenjunga among its workd hesitage sites.
4. Zajl ln puss connects-
fuh  Srinugar amd Leh
fch Chomba and Spiv
Ans fu)

by Arunschal and Tibed
o Kalimpong and |hast
i

[SS0° Seeam, b -

"y e i . ﬂ
Expl- Zaji i s, Bovited o Jsnmu amd Kashinie &0
Srimazir w0y,

Expl:- Poduchermy s situated v vislerm (17T IRTRCRCTC ST B Py
Inclua. b bas fowr districis, Podisclermy amd Karmikol-oa the cogsi
ol Tomil Mady (eassern coasth, s anmm-on the comst of Andbic
Prachesh feastemm coust] amsh imohe -Kerala wesiem waasi,

X The border of Unbon Territary of Puducherry does pet
mect with -

Kanutaks

{al thie Tl Sadu
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A
o Rl valley bs Tocated amnng which of the BB
LUTTELT YT Fa iy
T

il

Lislakh arwd 1" |";|_“.i“|
Lesagr Hlimslas vl Shivalik

fob Demslablias ol 14y PFangal

idl Bampodi aend Mungzim Mgy a0




. [S5C10+2) Exam, 2011)

~tallu volley is titled as “valley of gods™, It is siated
S 1he munges of dhauladhar and pir panjal. 1t is stretched

.ﬂ"!.lk peas River in kullu.district of Himachal Pradesh,

5l
A pass jn Himachal Pradesh is -

4] .:El.'r_ii Ia
dr Felep b
[B5C CGL Exam, 2011]

jal Ehl:]ﬂ!ilﬂ
tu:| Hﬂﬂ'ﬂﬂn

Ak (4}

1. Which is the eastern most peak of Himalaya-
{b] Annapurma
{d) Mteverest
[SSC MTS Exam, 2014]

(a)  Mameha Barwa
(e}  EKanchenjunga

Ans. (a)

Expl:- Mameha Barwa with o height of 7,756m is the eastem

most peak of Himalaya located at Arunachal-Tibet border.

apl:- Shipkila located in Himachal Pradesh, Shipkila is an
. ¢ mountainous pass which is necar the indo- China

soeder. River Suthe) enters lndia through this pass,

palakkad gap connects which of the follow ing states-

1. Godwin Austin s a-
(b} Peak
fc)  Telescope invenor  (d) Cieologist
Anms. (h) [$SC MTS Exam, 2002, S5C CHSL (12 Exarmn,
013

{ah, Pas=

Expl:- K-2 Godwin Austin is the highest mountain peak of India,
It is located a1 Karakoram range of Jarnmu and Kashmir.

i jar  Sikkim and West Hengal
iy Maharashira and Ciujarat
je)  Keralo ond Tamil Nadu
i) Arunachal Pradesh and Sikkim
s (8 [SSC CHSL (HH-2) Exam, 2012
li'a:.]’:]atk.nd is an imporiant pass which connects Kerala and
Tamil Madu,
%, Match with correct pairs-
List 1 List 2
A, Pulicat Loke 1. Orisss
B, Clilka Lake 2, Rajasthan
. Wular Luke 3. Tanul Madw
1. Sambhar Lake 4. Kashmir
A £ L 1}
a2 I 4 .
(bl 3 4 2 |
fe] 4 1 3 2
iy | 2 4 3
e fa) [SSC Steno Exam, 2010]
Eapli-
Lake State
| Pulicat Tamil Nudu
L hilka Orisss
 Wular Kashmir
L,_'__;.EL‘_T"_M Kujasthan
b Which Himalayan i Sy th
vun peak s alse callied gs Sogarmalhii-
) Narga Paryvag ihy [Hhaubagini
") M1 Everest 1y Kanchenjunga
!:I ) [SSC MTS Exam, 2013]

| %thm Everest of Himalayan range is also known s
. Wit the height of %348 m. It is the highes peak

,.
£

£
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13.  Which is the highest peak in India-

{2)  Kamet (b) Nandakot
jc)  Maonda Devi (dy K-2 {Godwin .-_lue.lim
Ans. (d) [SSC MTS Exam, 2013]

Expl:- With the height of B611m., K- is the highest peak in
Insdia, It i the second highest mountain peak in the world after
Mreveresl.

14. Which mountain is not the part of Himalavan rimge-

juy  Aravalli (b} Kunlun
{e]  Karakoram {d) Hindukush
Ans, [a) [SSC CHSL (10+2) Exam, 2011]

Expl:- The chain or series of mountains is called Mountain Range
which includes spine, peaks and valleys. Kunlun, Karakoram
and Hindukush are the part of Himalayan Range while aravalli
i% nod its port *

I5. What s the another name of Greater Himalayas-
(a}) Himadn (b1 Sahvaddri
(¢} Assam Himalaya  (d} Shivalik
Ans. (@) [SSC CHSL (10+2) Exam, 2013]

[Expl:- The Ancther name of greater Himalayas is Himadri. |

16, Nag Tibba snd Mahabharat Mountain Ranges are
inclwded in-

Gl Cross Himalmyan

{1 Cereater Himalayan
(1 Down Ward Himalayan
[85C CGL Exam, 2014]

{c}  Lesser Himaluyan
Anms. (€}

Fapl:- Nag Tibba and Mohabharat are lesser Himalaya, The
average height of this area is 12,000 to 15,000 feet, I stretches
fram Punjab, Kumanyun, Nepal and Assam.

17, Which of the following is known ws Sahyudri Mountain-

{uj  Fastem ghs ih) Wiestem gha

icl Shvalik ranges i Vewdhya range




-

Ans. (b) [SSC MTS Exam, 2008)

Expl- Western ghat is also called Sahyadr M{:uur!lains. I
is parallel 10 westen coast from westem border of Deccan

E-IFI:' Anammudi or Anai Mudi is o mouniaim locased in e

state of Kerala. It is the highest peak in the Wester, Gl
&outh India, at an elevation of 2,695 metres, and 5

LN L e

; prominence of 2,479 metrcs.
plateau. 33, Which of the Tollowing is the highest prﬂ:-“““"-
I8,  Which statement is correct-
_ i . Motkal fa) Kamet (b} Eunlun ]
a)  Mahadey Mountaing are in the west of Maika :
Mountains fe) Mangaparval (d} Nanda Devi
ib)  Mahadev Mountains are the part of Kamataka Plateau  Ans. {e) [SSC Section off. Fyam 5,
(¢} Mahadey Mountains are in the East of Plueau of Expl:- —— ]
Chotamagpur ek Heigh
(dy  Mahadev Mounsains are part of Aravalls Range. . e
$8C CGL Exam, 2014] | Hangapany Sl
Apt.. (9) E Bk Nandadevi 7.824m
EIFI:' Sﬂlpm“‘h'lfh isan Exmpl_furﬂluck Ml]'l.lﬂtllil'lﬁ ﬂmm Kamg[ T.?Sﬁ'm
from Rajpipla Mounizins in the west 1o Mahadev Mountains and - T 167m
Maikal Mountains in the west plateau of Chotanagpur. _F
19.  Which is the highest plateau in India- 24.  Which of the following mountain range i wj
India-
a1 5 ST by P f chotanagpur
W wwientgien T o (a) Arakan yoma {b) Suleman
{e) Ladakh plateau (] ]Ju..i_tlu:lln_ch.-:nd pllmeuu émq 6 Sk b (@) Pir Banjal | .I
Ass. () (BSCMTS Braon 2004 i 6y [SSC Section OFF Exam 10 ¢
Expl- The Ladakh platean is the highest plaleau in India. It ot e . - - : I
is part of Tibet plateau, Changtang with the height of 5.000m E‘F’*:j Bir Panjalis Jocliud ’““'“L'__':':“" Alstin Iy
part of western side of Tibet platcau Changtang is spread up to located in Myanmar,salt range and suleman range in Fakiss & 5
Ladakh in Indin. 25, Which hill station is known as the “Queen of Sagn’
20, The gap of a Mountain which provides natural path is ta) Panchmarhi (b} Nilgic
known as- ' : () Mahendragiri (dy Cardamom
{a) Valley (b} Highway Ans. (u) [S5C CHSL Exm h S
i _--.-
(e} Pass (d) Highland Expl:- Panchmarhi, in Hoshangabad district of Madhys ¥ A
Ans. () [SSC MTS Exam, 2013] | is known as "Quesn of Satpura.” _.--‘1r
Expli- The gap of mountain which provides nawral path is 26. A Hydro Power Project on Lake Loktak Is s
called a poss. which state- i
21. The highest mountain peak of peninsular India is- (a) Madhya Pradesh (b} Manipur 2 ;
. f : 1 Pradcs X
(@) Anamusdi (h) Dodabett 9 Mo ). Hingim o
Ans. (b) [55C CGL B
ey Mabendragiri () Nilgin R
At (8 - [SSC MTS Exam, 2002, SSC CHSL (10+2) Exar, LAl Lokiak Lake s situated in Manpur. 1
el LR 27, “Loktak™ s a - ] A
- : W
Exple- Anamudi is the highest peak of peninsadar or South India, ta) ?”“ {b) Lake . EIB
Its Tweight is 2,695m. Tt located 1n Kerala Peak. Doddabetis is (e} River (d) Mountainminge Sy
the second highest peak of south India with o hesght of 2,637m, | AnS- (b) [5SC iﬁ_l._li”f_‘;__/ i
locared in Tamil Nadu, I = _ . rlH"'""
22, Where iy Anamudi peak Jocated- 2pk:- Loktak is the langest fresh water lake i 72 !
(2} Sahyadri 8. Where Is Lonar Lake situated-
tnh  Tiwmil Mady ib} Kerala Ay

(b} Eastern ghat
(¢l Milgini mountain range
(d)  Palini mnge
Ans. () [S5C COL Exam, 2014]
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() Maharshir (d)  Gujarat b
ﬁnlr - 7 [ 5 E;“:I“- ]
(c) [SSC 5-ono (Grode 'C &E’Jﬁ:

F-'ﬁlﬂh- Lunar Lake situated in Buldhana district o
15 & saline soda lnke,

| A
T T e e — g ¥ -
it o
— ol S —




pich 5 jhe largest Man Made Lyj.
¢

Ll (k) Gobind Sapur
W “,dpmapﬁ;lgat {d) DBaikal

il
* [S5C CGL Exam,

2014

|]1
(bt Bhakra Dam on the ri .
¥y orroed b BIARIR 230 on the river Sutlg;,

Wﬂd Garo hills are located jy-
'|| 1

i | EE,,‘ILW rafge 1h‘i Hﬂm'l-;umm 1—,“!]:..4_1.

I:. Fuskar fNge td) Himalayoy Tafige
fé

2 [SSC Section o, Exiam, 2006]
[

Fasferm Fange i the |'IH]11 of north-gass Hrmn_h:,-;m system.
:':;ﬂ"r:@* Garo. Khasi. Iayantiya, Patakai and Lustuai hills

el

F L

:';-:;;.mudﬂ Falls is situnted on (e bank of whicl
et

g Enisima

i Kaveni

b} Godavari
(dy Mahamadi
e i [35C CGL Exam, 2011)

fgb- Sivanasamuudea falls s located on the bank of Kaver]
| perin o Mandaya district of Kamataks,

1 Balroro olacier is located in-
i Kesskoram mountain range

[ Pamir mountains

ich - Shivalik
i Alps "
= I} [SSC CHSL (10+2) Exam, 2016]

l"'m':ﬂﬂ Glacier is located in karakoram Mountain Range.
E&ﬂ“m Godwin Auwstin, Hispar glaciers are other located
Sy fege. Baltoro, Bimto (Pakistan), K2 Godwin Austin

Ly
:*bﬂehm waterfall of India is located in which of the

" Kamarsky {b) Andhra Pradesh

.'||,

Iej "'qu
L

(dl Maharashisa

[SSC (10+2) Exam, 20 3]
ladiy

35, The Hiphest waterfall in India is -

fa) Cokak ibi Gcrﬁuppa Falls
1€} Shivamsmnuda  (d)  Yenna falls
A, ()

[55C Tax Asst, Exam, 2008]
{_——— =

The compasition of laterite soll in higher areas is-

fa)  Alkaline il Saline
feh Acidic (dy Halaneed
Ans. (¢} [SSC MTS Exam. 2008]
Expl:- A laterite soil of higher anca is ocidic in nature, It is @

result of sntease leaching due o tropical rains. In dry weather
this soil becomes dry. The aterite sl is mainly found in arens
of Eastern and Western Ghat. South Maharashira, Kerala, Tamil
Nadu, Orissa, some districts of West Bengal and Jharkhand.

L The Laterite soil is found in which of the following

stabe-

(1) Kerala (b} Linar Pradesh

(¢} Rajasthon () Moharashtr
Ans, {addj

[SSC CPO Exam. 2015)

Explz- A laterite soil of higher area is acidic in natre, It s a
result of intense leaching due 10 tropical rains, In dry weather
this soil becomes drv. The laterite soil is mainky found in the arca
of Eastern and Western Ghat. South Maharashira, Kerala, Tamil
Nadu. Drissa, some districts of West Bengal and Jharkhand,

3+ The Laterite soil is found in arca of-

(n)  High ranfall staics
(b)Y  In deserts
()  Tropical areas
(d} Dry and humid tropical areas
Ans. {d) [S5C FCI Exam, 2012, S5C MTS Exam, 1002

Expl:- It is found in humid and dry Tropical areas, The Laterite

seil is rich in Iron Oxide and A luminium Compounds.,

s highest waterfall s Kunchikal falls located in

i IIl.shhM e following Is the highest waterfall in India-
) qum:h fulls (b) Hogenakkal falls
Wallam falls () Jog falls
ISSC MTS Exam, 2001, SSC MTS Exam. 2011]

| 1:?::,:]5" known as Gersoppa falls is the highest fall
O S, oo =/ Balls, Its hcight is 253m. It is located on
i, River in shivamogga district of Kamatakn.,

1' ¥
%Y Readers Publication

4. How can soil crosion be controlied on hill stopes?
(a1 Forestation
(e} Strip cropping
Ans. (d)

(k) Step fanming

(d} Lincar contour ploughing
[S5C COL Exam, Xoum

Expl:- On hill slopes, soil zrosion can be controlled by following

terrace farming and contour ploughing. The Step farming can

also be used but contour ploughing is the best method 1o control
sl erosion.

&, The soil of nerthern plaln of India |s formed b=
th)  Aporadstion

ld}  Erosigay

(o)  Degradation
(o) Wenthering in sit

Ans. (b) [S50 CGL Fuam, His, m I

I li\



The soil of northem plain of India is formed by

[ Expl:- .
! aggradation. These plains are formed by the sill of nvers
6. Which soil is hest for the production of cotton-

(o} Black soil {h) Loam soil

{d) Peaty svil

ich  Alluwvial seil
[SSC (10+2) Exam.. 2001 5]

Ans. {a)

Explz- Black soil is best for the production of cotton. It is als0
known as Black Cotton Soil. It has character of Slow Absorption

and Loss of Moisture,

8.  Which of the following crop grown in alluvial soil requires

hupge ampunt of water-
{a) Tea (b} Wheet
(el Rice () Peanut
Ans. {c) [SSC MTS Exanm, 2005

Expl:- Rice grows in alluvial soils and it requires maximum

amount of water.
9.  The another name of acid or alkaline soil is-

inity of thesoil is measy .

|:- The Salimty of - m

f;l:hr: electrical cnnduﬂln-u}-_ Psychromete ﬂmr&\!
to mcasure the humidity in atmosphere, Hﬂmml'}'l{
k

N

mcasure moisture cisient. )

| What percent of Indian terrain receiy, -

helow 75 cm-

(a) 35% (b) 45%

(¢l 40 (d) 30
Ans. (@) [S5C hﬂ&gh}:
Expl:- India has to face scarcity of high l‘i;l!-lﬂ-}'a

When monsoon rainfall is high, Lowlands o, o
with water whereas a highland has to suffer s iy
uncertainty of rainfall is a different aspect We ryg
drought once in five years, 35% of the Indian mﬂ:
annual rainfall below Ticm.

2. The driest part of India is-
(a) Western Rajasthan (b)) Jamrmu and Keste

—

{a) PRegur (b) Bangar {c) Gujarat {d} Madhya Pradsh
{c) Kallar {d) Khadar Ans. (a) [SSC MTS Frx
Ank: () [ CHAEL (1) By 301/ | Expl:- Western Rajasthan is the driest part of Indiz

Expl:- Alkaline soil is found in dry areas of Rajasthan, Utlir
Pradesh, Bihar, Haryana, Punjab and Maharashtra, These

infertile lands are also known as reh, kallar, usar, rakar, dhur,
karl and chopan. s

10, In which of the state land with maximum arca an
ontisahle-

{a) Rajasthan -
(c) Madhya Pradcsh

Ans. (a)

(b CGujaras
(dy Jammu and Kashmar
[S5C CHSL (10+2) Exam, 2011]

| Expli- Rajasthan has the maximum unusable land in India,

11. Peirology Is the stady of -

{a) Land {b) Mineral
{e) Rock {d) Sodl
Ans, (<) [SSC CPO Exam, 2012]

Expl:- Petrology is a branch of Geology. Under Pgép_uqnﬂ the
study of origin of rocks. Their distribution and structure i

performed.

12. The Salinity of soil Is measured hy-
{a) Electrical Conductivity Meter

{b) Hygrometer

{c) Psychrometer

{d) Scaler
Ans. (@) [SSC CGL Exam, 2012)
Rakesh Yadav Readers Publication

3. The climate of India is-
(b} Monsoonal

(dy Continenial

{2) Equatorial

(c) Mediterranean
Ans. (b) [S5C EEE_‘-E::
Expl:- The climate of India is monsoan type. Tn Indu &=
winds and air changes the season. e
4. I|-";|’I'Ill.‘h of the following does not affect Indian &

{a) Monsoon

(b)  Ocean currents

(¢)  Proximity to equator

(d) Existence of Indian Ocean i
Ans, {b) [SSC 5._1%
Explt- Ocean currents does not affect Indisn 627,

The fictors which affects Indian climate ate LI
to Sea, Monsoon Winds and Nature of Soils

S Which of the following area of India®
becomes the area of low pressure In sumiee

'[h} R-B-_il]sth.n
lc}  North Western India

() Meghalaya
Ans. (c)




.-‘"Tﬁ.:?lhﬂ 21" March summer solstice, heat wayve starts in
h llldi:l' Heak wive sEarts 1o cxoced ax the inenth af mid June
ames and Worth Western India and Pakistan become the belt of
Jor# pressure. These b pressures are so powerful that the winds
goutherm Hemisphere ane ntiracted iowards it crossing the
anfﬂpmnm and South Western monsoon winds become
e par of STONE MONSO0N System., I this way monsson stons
i h‘ﬂlim Subconiincni.
"-',q;u_lh-“ﬁ*fm winds areattracted to Indian subcontinent
in rainy season by which of the following.
jni Low oir pressine o north-western lnglia
b1 Effect of morth-castem commercial winds
fey By the formation of cyclone a1 equaior
pdp  Effect of castem winds

ans (3) ISSC €O 2015

Exph- The winds -n!'?':ur.'rull'u_:m Hemispher: are atiracted beeause
ol the low air pressure belt in North-Western India. The sitsation
pf low §ir pressure in north Western Tndia becomes largely by
the high temperatune in summers due to which South-Enstemn
aommerceal winds enter Tndin

v The coastal Andhra Pradesh and Orissa have to face
which of the fallowing notural calamity-

fay  Cyelone ib) Earhguake
gy Lardslide {d) Tormado

Ans. (3} [S5C CPO Exam, 23]

Expl:- Every year various cyclones affect the coastal arcas of
Andbea Pradesh and Crrissa,

o,
(Mature of Forest) (Area)
A, Tropical Evergreen 1. Shivalik
B Monsoon Shillong
C. Temperale 3. West Bengal
0. Mangrove 4. Nilgiri
A i C ¥
far 2 i 1 i
(b 3 1 4 F
el 2 | 4 3
(g A 4 I 5
Ans (€) [SSC UG Laam, 2012]

Expli- Tropicul Fverpreen  Shillong,  Monsoon  Shivahik.

Temperte Nilgirt, Mangrove West Bengal

11, Where does the heat come in ihe eavironment-
(b} Condensation
(dy Convection
[S5C Section off. Exam. 2006]

fab  lmselation
feh Rasbistion
Ans. (¢}

Expl:- The sum is the ultimate sowrce of heat and light for the
garih. As corih gets hod omsd hot, It beeomes a m:ll'ati.ng b-Dd-jl'
and emits the longwaves of radiation. This cnergy makes
the environmen! warin, This process s known os Terrestoal
Radiation. These radiations are absorbed by the atmospherical
gases like carbon- dioxide and other green house gases. In this

way atmosphere is warmed by this Terrestrinl Radistion.

B Which of the follawing receive, heavy rainfall in the
manth of Oetober and November-

(8) Hills of Garo, Khasi and Jaintia

{b) Platezu of Chota Nagpur.

£} Coromandal Coast

(&) Malwa Plateau
Ans, (e} [SSC CHSL Exam, 201 1]
Expl:- Originating from Bay of Bengal. the monsoon rains in

Bstem ¢oasta) arvais. The month of October and November are
£20un for the scason of petreating monsoon. I rins 65-75cm

e .rm“hm mﬂ"rﬁjﬁ] by north-eastern
:_?:11 i Ry L [
i | .H.-.ﬁ:':. - .| '

12. Chennai receives fess rainfall by South-West Monsoon
than other places, becaunse-

(2]  Monsoon travels paralle] 1o Coromandal Coast

(b} Chennoi is very hot place and do not allow humidity 1o
Evapomie

fc)  These winds are offshore monsoon winds

(dy Above all
Ans. (d) [S5C FCI Exam. 1{!]12]
Expl:- Chennai reccives less rainfall by South="West Monsoon
winds than other places because monsoon travels parallel o

Coromandal Cosst and Coastal winds hove to imvel far distance,
Chennai is very warm and humidity can not be evaporated.,

113, Duaring the Sooih-YWest Monsoon, Tamll ¥adu remalns
dry because-

(al  Inis leested in min shodow area
(b) Temperature is 50 high that wind does not get cooled
(c)  Winds do not reach this area
(d) There 15 no mowstain in this area,
Ang. (a) [35C CPO Exam, 2012]

Expl:- The main reason of Tumil Madu renaining Jdry during
gouth-west monsoon is thot it is located in rain shadow area,




o Whay I the Bature of moensoon rain from Guwahail te  Ans. (c) [SsC My E
Chundipar,.

Expl:- The River Krishna flows from the Moung
@) Trrepulae Nature

Its height is | T38m. Trimbukeshwar in Nasik, ,
(b} Crescens o Growing Nature Y. Which is the longest river of Ill‘ﬂil'lmlar]wa‘ '
ic) Diminishing Mapure (i) Krishna (b} Kaver,
W} Cuglie Mty € Tapoan o, |
Ans. (c) [S8C Stenopraphy Exam, 2014]  Ans. (d) ISSC.CHsL ') Exa, My |
T o — ———— s st River of peninsular Ingin :
Expli- The Nature of MONS00N rain is of diminishing nature | | Expl: The Longest r"""'_qu " . 1S Gy,
&m:ﬁuumm 10 Chandigarh length is 1465km, [t ofiginates from Tnmbal;g‘_,hwal-llh: |
. , district of Maharashtra, Tt is also known 2 " Diakshyipy Gings |
; 4. Which river of India is also kn num;?"ﬁ-
M i .
) Mahahaleshwar (b Cherrapunii {al Krishna (b} Godavar; ‘
{ch Udbapamandalam ) Mawsynram {¢) Kaveri (d} Marmada
« {d - i i
Ans, {d) [SSC-MTS Exam, 2002] Ans: [s5c 'l'_GLEwr._:-l.-; |
Expl:- Mawsynram located east of the Khasi Hills in Meghalaya - = : e ~ |
which is the most humid place of India. It is also known as Expl:- godavari is Yeey o'cl Tiver and it is alsum
witiest place,

Eanga cauz of it's length which is 1200m 50 it js ¥Tidh g

. - means old and as said by people thar ol people have o)

16, The Place to recelve annugl Fainfall below Stem js- knowlepe it refers 3 vast basin in cage of godavar '
L) Mephalaya (b} Leh in Kashmir

5. Which of
(e} Coromandal Coast (d) Konkan Coast

{ |
the following river s known a -EZ

Ganga™-
Ans. (b) [SSC CGL Exam, 200%] (a)  Krishna (b) Godavari
() Mahanadi d T
Expl:- The Place receive receiving annual rainfall below 5p i . &) Kaveri i)
em is Leh in Kashmir, Western Rajasthan, Kutch and Saurashirg | AN (b) [SSC MTS Exam 205 '
coast and Ocean FI-BIE'JU- ! E‘.P]:" It i5km'i'|l'|'| 2% dﬂkﬂliﬂ- EE-“EH {Smlﬂ'!m G‘ﬂm@ﬂlmln
17.  The Paddy fields of Indjg are located in the areas of it originates from river Gmga{undq-_gmmﬂwter] near Trizhl
annual rainfall- in Nashik. _ |
(a) 120cm (&) 140 cm 6. Nasik is located on the bank of which river- -
{c) 100 em {d) 80cm (@)  Mahanad; (b} Tapti 5
Ams. (¢) [SSC ECI Exam, 2012 (e} Krishng (d) Godavar N
' - . Ans. (d cam. 311 §
y Pz The Rice ot paddy ranks first in country's food gramn] AP (@) [5SC MTS Exan. 3!
Main paddy field in India are locaied in the areas receiving E:l_llz— Nasik is locateg on the bank of river Godayar, Nl
100cm minfall. one of the four places Where Kumbha Mela is organisal 0
— three » Haridwar and Ujjain,
T Which of the following river originates out of Indi
@) Brahmapyyry (b) Vyas
1. The fertile land between twao rivers Is called- (©) Rayi b .Il;:]um .
{(8) Dminage basin (b) Water-shed Ans, (a) (SSCFCl Exan i ;
¢} Doab © (d) Lowland or terrain I E —
Pli- The Brahmaputra g inates from Mount Kailsh ™™
Ans. (c) (SSC MTS Exam, 2003) North Himalnyay, Ranges I,Tlghl-'.'t}.
" = e
Expl:- The fertile land in hﬂw-um two rivers is called Doab,| &, Which s e river known ag Tsangpo in Tibet:
Watcr-shed is the area which divides the direction of the flow W o .
of water. Terrain is a soggy or boggy field while basin is a place 4 anga (b) Bralmoputra M
where water joins another body of water, + 1) Indue (d) Tista 1
2. Which Is the highest river basin of peninsular Indiy. ARs. (b)
(a) Mahanadi () Godavari
() Krishoa (d) Narmada

Rakesh Yadav Readers Publicatic_




s (1

. painl pff origin of Indws River js-
L i Boush Flouimlain

pimaliya Range

garakoram Range

sfount Kailash

i)
[S5C COL Exam, 2001

The Point of ongin of Indus River ix located near Kailash
Fapk- Lake, Mount Knilash s loeated in Tibet os a F
nmr!r (= i ¢ i P.:L'n; i

s i3ty
A Which of the fallowing river is beyvond the Himalaya-

(h) ¥omuma
) Ravi
[S5C CGL Exam, 2002

a1 Ciangd

jch 5'I.|[|‘~"i

ams (€

. Suile] is an importanl nver onginated beyond the

E:uj,}-,, Indus and Brahmapuotra ere also Trans Himalayan

fiverk
1L Which of the river does not originate in Indian

Ierritory-

{a) Ganga ik Sutleg
e} Mahanadi’ (dy Yaomuna
Am, (b} [S5C CGL Exam, 20H S

Expli- The Suilej River is the longest of the five rivers that fow
fmegh the historic crossroads region of Punjab i northemn
ledia a=d Pakistan. The Sutlej River is also known as Satadree.

his the casternmost tributary of the Indus River.

I Which af the following river originates bevond

Himalaya-
145 Indus (b} Saraswali
el Ganga {(d) Yamuna
Ami. fa) [SSC CHSL (10+2), 2013]]

Etpl- Origin of the Indus River. The Indus Rivef originates
" e Mansarovar Lake in the Tibetan plateau, on the northem
s of the Kalash Mountain Range. Regardiess of the fact
h:]’"“' o thirds of the itinerary of the river is flowing

: e Pakistan, it has jis presence on the Indian soil.
* Which river is known as “Open Sewer™ in India-
faj Ganga

(b} Yamuna

% [ Marmagy id) Godavari
hw:‘“i ' [55C MTS Exam, 2008]
@w pollution river Yamuna is also known as
iy ZWer” or “Khula Naala™,

.htT"'“ located on (he confluence of rver Bhaglrathl

; o Alakinangg, i%-

£

o dmpmag (o) Devprayg

Vobmiprayag  (d) Kamaproyag

Sl
- "*dav Readers Publication

- MTS Exam, 2008
Ans. (b} [S5C MTS Exam ]

Expl:- River Rhagirathi and Alaknpnda arg 1.11; main SOUrce :F:I‘
river Ganga, Noth meet at devpeayag. After its conflugnee in
devprayap colleetively known as “Cianga”,
15,  Where do civer Bhagirpihl and Alaknanda meet-
ibj [ovprayag
fd) Cimngotri

[SSC MTS Exam, 2008]

) Kamprayvag
(L]

Ans (h)

Rendrapriyag

Expl:- Devprayag: where river Alaknanda mect river Hh-‘.l:_gi:.:'lhi:
Rudrapeayag: where river Alaknanda meet river Mandakini

Where Is ithe confluence af river Alaknanda and

If.
Bhagirathi-
(m)  Devprayng (k) Rudraprayag
() Vishnuprayog {d} Eamprayag
Ans, (a) [S5C CHSL {10+2) Exam, 2015]

Expl:- Devprayag is the last Prayag or the holy confluence of the
Alaknanda River, from here that the confluence of Alaknanda
and Bhagirathi River is known as Ganga.

17.  Which of the following river fows from the sediments in
Imikla-

{a}
{c)
[t}

Expl:- Ganga is the main river flow from sediments: Brahmaputra
and Indus are also in this category but their sediments are few in
COMParison (o gangs

(b} Indos
(d} Yomuna

[S5C Steno (Grade C & Dy Exam, 2014]

Gangea
Brahmaputra

Ans.

18, Which of the following river is famous for changing its
path-
{a) Marmada (b] Kosi
{¢) Brahmaputra {d} Damodar

Ans, (b) [S5C MTS Exam, 2008]

Expl:- Kosi is an east flowing river. It is known as “the Sorrow
of Bihar”, While changing its path, it causes devastating fAoods,
water may fize in 9 min 24 hours,

19. The sarrow ol Bihar is-

(2} Damosdor I'h_r Kosi

(e} Son i) Gondak
Ans. (b [S5C MTS Exam, 200%]
{ Expl:- See the explanation of above question, I
20, In north-east India, river flows out of the country fs-

{n]  Hrahmoputm b} Ciamdnk

el Kosi {di Cianga
Ang, {a) [85C Steno (Grade D) Exam, 2015)

Expl:- Brahmaputrs flows out of Indian Termitory and flows o

Bangladesh It is known us.




s

Ans. (3) (S5C Dﬂ}l;uﬂ [
BE- W
: cita- — " : Iy
21, Which of the following river does oot form 2 d —— origin of Narmada is i
- Expl- The PO C 0 arpest west ﬂm%
{2) Gang= ib) Godavan “al Moumiain. It is the larpgss “"Ellmr,.& ¢

i i . Arabian Sea. [t fows through Rif vy

fe) Mahanadi (d) Tapti which mests by

Ani. (d) |8SC CGL Exam. 2011] | cgpuary inspite of 2 gce. .
Expl:- Gangz, Godavari and Mahanadi are the 2=t fowing| 17, Vijayawada s located on e e “f:;"-"‘fa?‘"
i ol .4 31 Bay of Bengal Kaveri (b} Kmshna '
rivers. They form delta at its confluenee point a1 by ’ (a) .
while Tapti is a west fowing river. It does not form 2 dela at its ©) sahanadi {d) Yamuna -

outfall it forms estuary. ) ‘

of Sarmada Ans (k) [SSC MTs hm'—l"._

22. Which of the following state i not parl
valley-

- Vi3, da in Andhra Pradesh is located o ¢,
Eﬂmgﬂﬂ is the third largest city of Andhr Fm&:l

A jesiha
{a) Madhva Pradesh (b} Eajasinan s and Visakhapatnam.
(c) Gujarat (dy Maharashtra - : flows between Satpura and Visgsy
Ans. (b) |SSC CGL Exam. 2010] 28, Which river fows § a4
thrmm.:rﬂanmhwsfmﬂ%m!ﬂﬂdhﬂ 1 (dy N
Praciesh, 1.5% in Maharashira and remaining in Gujaral (¢} Taphi Namada
Rajasthan is not part of its basin Ans. (d) [55C FCl Exem 3
23.  Which of the following peninsular Indian river does not Expl- The Narmada flows From Middie E=t b v
meet Arablan Sea- middle of satpura and vindhya ranges.
{a) Periyar (b} Kaven : PR = - —
@ N I {d} Tapii 29, ‘Which of the following river flows berween Visdnz
$5C CGL Exam, 2008 SIS THngr>
A %) [ S ) {a) Chambal {b) Ken
Expl:- The Peninsular Indian River Periyar, Marmada and Tapti . e , :
fall in Arabian sea while kaveri in Bay of Bengal, s (e} - Godayan (d) Narmada "
24. Which of the following river flow from south te north 1) IS MY TEm
i 30. Match the following-
{a) Krishna (b) Kaven Cite River
ich Son {d) Godavan A lﬂhﬂlpl.ll.’ | Ravi
Ans. (g} [S5C CHEL {10+2) Exam, 2012] B Pics 5 Narmada
Expl:- The Son River flows from southward to northward C. London 1. Seipe
Jon and with Patna.
direction and merts P g T2 D.  Lahore 4. Thames
25. Conslider the Hlvl:l'lﬂl'lﬂ pairs- A B c 0
Tributary Main river (a) 2 3 4 I
1. Chambal ¥
2 Son Marmada ) 1 ;
3. Manas Brahmaputra @ 4 4 3 :
Which of the following s correctly matched- i 1 2 3
: a
(&) 1,3 (b) land2 — [SSC CHSL{ wt‘fiﬁ"’
(c) 1,2and3 (@) Only2 Expl:-
Ans, (a) [55C COL Exam, 2012, 55C CHSL Exam, 2{'1]] CI'I_T River .
Expli- The Pot of origin of Narmada is Amarkaniak Peak Jbalpur |Narmada
Maikal Mountain. 1 is the largest west flowing peninsular pe. Paris .
e & peninsular river Seine
which mocs Arabian Sca. It flows through rift valley forms an Londan
estuary inspite of a delta, : Tahoes Tharmes
36, 'Which of the following river forms estuary — g Ravi ___’,/,J
(a) Narmada (b) Kaveri Fu':‘l“-:h_nr the following river does no! ™ |
{c} Krishna (d}) Mahanadi (
8} Sutlej
(b) Ravi
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¢} Vyas (d) Tapr
gas- (0 [S5C MTS Exam. 2014)
Fapl The Tapti is not related to Punjab. The Tapsi originates

e range in Madhva Pradesh,
7] gpraf is located on the bank of which river-

ja)  Narmads ih) Sharawati
fe)  Mahi {dy Tapi
Ans (d) [S5C FCI Exam, 2012]

Eapl:- The Tapdi is not related to Punjab. The Tupti originates

from Satpurz Range in Madhya Pradesh,

1. Animportant river of Indian desert is-
{a) Luni thy Nammada
je) Knshna (d) WVyas

Aps. (8} [SSC DED Exam, 204009

Expl- The Luni is an important iocer of Indisn desers. Tt

priginates from Aravalli Range near South West of Ajmer. It 15
130km Jong and ends in FRann of kutch.

1 The Flash flood is related with which of the following-
(b} Cyclonic storm

{d} Tomado
[S5C CHSL Exam, 2011]

{a) [Incessant storm
{c) Tsunami

Ams. (b)
Expl:- The Flash floods are rapid occurring cvents. This type

of flood can begin within a few minutes or hours of excessive
ramfzll, .

35 Which is an artificial harbour of India-
(2} Kandla {b) Mangalorc
i) Chennai ormadras (d) Haldia
At (e) [SSC CHSI Exam, 2011]

Expk- Chennai is one of the oldest port of India. It is an
arificial port located on the Eastem Coast. The Petroleum and
its products, Fertilisers, fron Ore and General Commodities are

‘ ENVIRONMENT AND ECOLOGY |
— ————|

I.  Which of the Organisation is mainly related with
emy lromment planning?

{ah  CSIR ihy MEERI
(e CIFR] idp ICAR
Ans. (h) [55C CGL Exam, 2012]

Expl:- The National cnvironmental engineering  research
institute is mainly related with cnvironmental planning. Tt was

estublished in Nagpur.
2, Silent valley is located in-

jap  Assmn ib1 Kcmla
(e} Africa ity Andbra Pradesh
Ans. (b) [SSC CPO Exam, 2010]

Expl:- Silent Valley is located in Kerala, Silent Valley is known
for i1"s biodiversity. The Rare specics of Lion-Tailed macague
animal js found in the valley. The Tropical rain forests are found
in the valley. The woedd of these forest are very hard in nature.

3. Which kind of forest is found in Silent Valley of Kerala-

ja] Mangrove Fomest

(b} Deoiduous Forest

fey  Tropical Rain Forest

{d) Littoral and Swamp Forest

Ans. (c) [S5C MTS Exam, 2011]

Expl:- The tropical minforest is a hot. moist biome found near
Earth's equator. The world's largest tropical minforests are in
South America, Africa, and Southeast Asia. :

% Majull, world's largest river island is tocated in which

ttafe
(@) Arunachal Pradesh (b) Assam
() Tripura (d) Mizoram

A, () [SSC FCI Exam, 2012]

4. The“Valley of Howers™ Is located in which state-
ib) Jamma and Kashmir
{d) Himachal Pradesh
[S5C Steno (Grade C & D) Exam, 2012]

{2} Unlarakhand
ici Kerala
Ans. (a)

Expl:- The Valicy of flowers is a national park which is located
in Uttarakhand, This national park is known as Nanda Devi

Expl:- The Majuli is the largest Aver island n:f the world in
Em river in Assam { Asom).

National Park which is also located in Uttarakhand.
5, Which Is the first national park of India-

{a) Jim Corbett National Park
ib)  Similipal Nativnal Park

n,
How many ports are there in Indis- (¢) Dachizam National Park
a g ) 9 |
®) 10 Wy 12 idi Hazaribagh National Park
Ang, {dy [SSC ( j0+2) Exam, 2011] AR {m [SSC (10+2) Exam, 2015]
Expl:- Jim Corbett National Park, the first national park of India

Ports hy Tndia for many centuries, There
ve been used in g :

was cstablighed in 1936 with the name of Hailey Notional Parkc
The Project tiger was started in 1973 froim this national park.

R o] 1Y et -
Mmajor ports of India, out of which 1
~2 806 Ennore port of Chennai is the one
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fi. : :
i Dinch Reagraphical area of India is forest land- Ans. (d) R T an
{E} E{H-'a. (b} FIng E:Fh. El:ll:n mn is o fmous cricke Eud]mn ‘]hth {u
ATy (i) [SSC CHSL (1042} Exam. 2014] 12 The Forest of Sundarban is ealled ay
t T . orest b) Mang
Expl: According to a case study conducied in 2003, the aren of () T Toras (bt Mengroe forea
'ﬁ.fg.;.ﬂgﬂﬂ ki, which is 21,239 {nearer to 20% so answer is A) je)  deciduows foresi {d) Tundra
ol the total area is forest land. Accordi : '
x . r to report of 2005, wotal 85C CG
area increases to 7,01,673sq k. il A \¥) SSC COL Exay, Ty
% 7. In terms of area, which of the fallwiiig 1adlan stais Aas F,,Pj_-.. The Sundarban is an Example of ctn]ug_.ir:at Sysiem |
' the largest forest cover- is famous for Mangrove plants. Kutch planis in 1y, Coves
4] an arca of 6000sq km. Under Kutch plants conseryagg,
(a)  Arunachal Pradesh (b Chattisgark munuE:rnEHI wvojana, 15 Kutch, plants areas have E:nmrkr
(e} Moadhya Pradesh  (d) Orrisea I3, The Mangrove forests of Ganga delta are kngyy a
Ans. (c) [S5C Tax Asst, Exam, 2005] {a)  Monsoon forest (bl Sundarhan
Expl:- According to forest report of 200 5 Madbya Pradesh ranks {e} Tropical forest {d) Swamp forest
first with largest forest covering area followed by Arunachal |, oo (b} [S5C Steno (Grade C & D) Exam

Pradesh, Chattisgarh, Maharashtra and Orissa. In terms of total
forest cover Mizoram ranks first followed by Arunachal Pradesh, Expl:- The Mangrove forests of Ganga delta are knowy 4
Magaland, Meghalaya and Manipur. Sundarban. It is largest river delia in the world spread in lug

8.  Which of the following state has the hichest percent and Bangladesh, It is also known as Sundarban Naiional
of farest cover- ' ¢ has the highest pe a- which is famous for Foyal Ben&al ﬁ&ﬂ'cuﬂmn|iun_

14. Bharatpor Bird Sanctuary is located in which state-

{a) Punjah (b} Madhya Pradesh
{c} Andhra Pradesh {d) Manipur {@) Kamataka (b} Orisss
Ans. (d) : [B5C Steno (Grade ), 2005] (€}  Kerala {d} Rajasthan

! 'II'.J Expl:- According to forest report of 2015, Manipur has highest E::m {:_?EJIS] i I-::Hm' i e
forest cover within following states, :

9, Which of the following state has the highest percentage

| Expl:- Bharatpur bird sanctuary is bocated in Rajasthan. |

; of forest cover- 15.  Which is a famous bird sanctuary located In Haryani-
't- (a) Jammu and Kashmir (b} -Haryana {a) Sultanpur {b) Bharatpur
f¢) Mizoram () Assam " i) Rajsji (d) Sariska
= Ans. {c) _ [SSC LDC Exam, 2005]  Ans, () [SSC CHSL {10+2) Exam, 21| |
[Expt- Mizoram (88.63% in 2005) has the highest perceniags of | [Expli- Sultanpur bird sanehsary &= Tocared near Gwewt #| |
forest cover ameng the following states. Heryana, Many migratory birds eome here every }.ﬂr[n.'.ll-"F
10, Which state has the highest percentage of forest- S
fa) LUrtar Pradesh (b} Mizoram 16.  Namdaphs is a national park in-
(c) Arunachal Pradesh (d) Assam - ta)  Mizormm (b} Manipur
Ans. (b) I [S5C CHSL (10=2) Exam, 2015] (£}  Tripura {d)  Arunnchal Pradesh
| Ans, fd] [Ssr Pk Exam, :‘:"ﬂl

| = Expl:- According to forest report of India 2013, Mizoram :
(90,38%) has the highest perceniage of total forest cover | | Expl:- Namg T Anuu:hﬂfh;;‘

followed by Arunachal Pradesh (80.39%), Nagaland (78.68%). | | is spread over in an aren of 180sqy ke, It is siated 3t 3

f Agsam has 37.30% and Utiar Pradesh Turj lnml':! will::i’-li:ﬁ ;::Mpar:: ;::i]ﬂ{hn Th;:,;,r towards thiz park ks VEF“ L:ﬁp”*‘
hich of the following Is not a garden, thoug 5 known ome to the large varicty of mammals 1 '
1n. w :dl‘-'n— Yellow Throated Marten, Asiatic Black Bears, Hog D:ﬂﬂ]"#n
i f Mumbai Munjac ete.

. (a) Hanging Garden of Mumbii e . -
| (b} Vrandavan Garden of Mysore Faund tnly sanctuary where Kashm peet?
! (c) Khuosaro Grarden of Mumbat bl e ) Doctigan

| 4 Ai i e - (d}  Mudumolad

{ «
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[S5C CPO Exam, 2007]

~Dachigam Mationa Park is located 22 km from Srinagar is

Irﬂ'“ﬂ""‘ lhome of the mre of eritically endangered Hangg ful

of RuphTir 125 .
which of the following Blo-Heserves I Indla s il

14 gatural habitat for lions- ;

jal Milgin Bin-Resenve
jp) Kaziranga Big-Reserve
) Mudumalai Bio-Reserve

id) G Fiap-Bescre
ins (i}

The Gir Bio-Reserve is located in the state of Gujarar. It

is famons far the great Indian lions.
g Where is famous “GIR™ forest located-

() Mysore (by Kashmir

jc)  Gujarat (d) Kerala

qax. e} [SSC MTS Exam, 2000, 55C CPO Exam, 2006, 2004]

[S5C MTE Exam, 2006]

Eapl:- The Gir Bio-Reserve is located in the state of Gujarar. It
s farninz for the great [ndian lions. '

. Whick of the foliowing is the largest Biosphere Reserve
off Inifia-

W) NilgA (bj Manda Devi
i) Sundarban () Gulf of mannar
Ans. {d) [SSC CHSL Exam, 2014]

Expk- The Gulf of Mannar 15 the largest Biosphere Reserve of
hia,

Gulf of mannar - 1,5005q km
Sundarban - 96308 km
Nands devi - 6,497sq km
| MNilgin - 5520sqkm

. What wil be the effect of global warming on Mangrove
foresis. g
18)  They will grow in large number
B} Big ares of mangrove forest will be submerged
e} Their role as carbon sinks will become more important
i) Both A and

An
L (k) [SSC CGl Exam, 2012]

m”'“ﬂ“\’ﬁmdluud&]phhls in coastal areas.
i grow in
mﬂuhﬁbﬂmﬂhﬂmgﬁh:ﬁiiﬂgm level due tn
fingg, 7. Sundarban, an UNESCO werld heritage sie is
“,ﬁn Forest.
mmﬂ““"ﬁm—
" Delty Forest

™ Rain Foreg;

% Yadav Readers Publication

(el
()

ANE,

[*

Submerged Consial Forest

Trupical Forest
[$SC Steno Exam, 2014]

Expli=

The term mangrove comes from the Portuguesc word
“pangue" ond English word *Grov™, The Word mangrove is used
for the group of plants which grows §
Planis flliclll:gmpw in tropical arcas ane also called mangrisves.
Mangrove forest, mangrove group, Mangrove ccology are e
words which are used to describe mangrave plants. Despite its
classification, semetimes it begomes very difficult to define

I'I'IDI'II_._EI'I'.'I"-'E.I.

in moeist and saline waler

re few

21, Which of the following forest is grown in waterlopged
Areis-

(a)
(&)
il
i)

Ans (d)

Evergreen Forest
Deciduaus Forest
Tropical thorn Forest

Mlongrove
[SSC CGL Exam, 2014]

Expl:- Mangroves mainly grow in Saline Water. They are highly
developed in Coastal Areas and Estuary of the Rivers.

24, The Silent valley of Kerala —

(2]
(k)
=]
(d)

Ans (d)

Is only Evergreen Forest in India
Has trees of expensive constiruction wood
Is famous for pichic spot
Has rare species of Flora and Fauna,
[S5SC CPO Exam, 2007]

Expl:- The Rare species of Flora and Fauna are found in Silent
Valley of Kerala_ It is famows for its Biodiversiy,

15, HeriTiera Fomes (sundarl tree) is o type of which of the
following plants:—

{a)
[l

Ans, (@)

Tidal Forest

Mountoin Foress

(b} Thom Fores
{dy Taiga Forest
[S5C MTS Exam, 2006

Expl:- The Tidal forest is found at the eastemn coastal areas in
India. The water of tides is stored in the lowland of delta area of
Gangn, Godavan and Krishna river and because of this the land
becomes bogiry here. The Sundarban of Bengal is an Exmmple
of Tidal Forest. The Mangrove and HeriTiers Fomes {Suncari
Tree) are impartant tidal plans, :

26, Manas Wildlife Sanctuary is located in which statee

)
()

Ans. (b}

Rajasthan
Fhark hinnad

(b)  Assam
() Chottisgarh
[S5C Steno Exam, 2011)

Orissa.

Expl:- H.muh:tqlmu Motional Mark & located
while Bundipur in Kamataka, Manas in Assam and Simlipal in

in Rajasthan

233 ﬁ



L}

7. Which was the first scheme of "Biosphere Reseryt
Areas’-

(@)
(b}
(<l
id)
Ans. (b}
Expl- Nilgiri was India's finst Biosphere Reserve. h Hﬁl
cstablished in 1936.
28. The objective of Biosphere Reserve -
(a)
ib)
(<)
id)
Ans. (d)

Expl:- The objective of a hinsphere reserve = 10 presiic i
and fauna of forest land wod o encowrage the rescarch and
development of forest and aero product.

29,

Sundarban Biosphere Hesenve
Nilgin Binsphere Reserve
Manda Devi Biosphere Resenve
Gull of NMannar Bwsphene Heserv
|88 Sieno Fxom. 2001]

Preservation of flora and fauna ol forest T
Research and Development of forest product
Research and Development ol agro- produst
Al of the above

|550 U] B, 200 2]

Which of the following is considered as the “forest of
waorld heritage™-

fa)  Wandankanam in Orisse

ib)
(e}
(d)
Ans. {c)
I Expl:- Above all sudarban is a UNESCD world heritage sine.

Kazimmgain Assam
Sundorban in wes) Bemeal
Indian botanic garden shibwipar i West Bengal
[S50C COL B, 200 2

- [Expt:- About 3
found in Assam =

..—-__

. n E_gq.:jﬂ'l- El}{ll S50 5“-‘“!.! E?iil'ﬂ_ 2
s 'ﬁa}fﬁsf MT:‘ : : I H-lfrﬁ,] |
000 Rhinos live in the wild, 2000 of wiy
K uziranga alone.

hich of the rﬂ“llh'ir'g ki

by

Wy

Spa-cow IS found in W

Jh i
ceserve of Indid-

by Gulf of manmmar

ja)  Nokrek .

() Manas (dy  Sundarban |

Ans. (b) [SSC CHSL (10-2) Exam, 3, |
Expl:-In Iredia, sea-Cow is found in G ull'uJ'_Manmrl[}umm |

covw ) 15 a mammal, They cal seafrass and do not hr 5
Despite gulf of mannar. they arc found in Culf of Kuicy &, |
Gulf of Pak, The Few numbers of sea cow are also fo 5 |

Andaman and Wicobar Islanids. |

14, Kanchenjunga national park is located in-

fat Uttar Pradesh (bl Wost Bongal
fei Sikkim fd by Jammu and Kashmir
Ams. (e [SSC CHSL Exam, 2012

Expl:- Kanchenjunga National Park is located in Sikkim, |

Shivpuri National PPark of Madhya Pradesh is fame
for which of the following-

IS,

ia)  Tiger and elephant  (by Wild Bison
() hinds (d) Leopard and Spotted dsr
Ans, (d) [SSC MTs Exam, X1

Expl- Shivpuri (Madhav) National Park was eswblisel 2|
1933 in the state of Gwalior, 1t got its present name in 1945, Tie|
mam species waich are found here —Leopard, Cheetal |spone
dear), wild pig ete.

B—

30, India's Biosphere Reservie "Samda Devit (UNESCOY s
located in which state-
(a) Uttarakhand (b Sikkom
icl Meghalayn (dy Thischal Pracdesh

Ams, (a) ISSCCHSE Evam, 2014)

Expl:- NManda Devi Biosplicre Huesenve i bocated in sine of

M. Where is Panchmari Biosphere Reserve located-

b Anenachal Pradesh (b)) Himachal Pradesh
1 :"-iilLﬂi;'r.J. Priidesiy idy Andhra Pradesh |

A ey [SSC CPO Exam, I

Expl:-

i the = ijmh-m:"i Biosphere Reserve was establishad i 1
¢ =laly a h1:|.-.1l|:.-:1 Pradesh, UNESCO -;I-n.'-.h'rgn;m:-l i

Uﬂlll‘ak.hlnd- H';’"..'HL' in :‘LH;H_
3. Im which af the Gl ing wildlite sumctimary of Dnadia, 17, Where is k
where project of comsersathon of Rhinos b underw - vre s Kanha Nagiomnyl Fark-
- - - il i
ia)  Randipur thy Perisae i Ny thy Hih
i H ||
. ik L e L
€)  Kasmaingu- (i G " “b A Prugey i) Afadlina Maabesh I
I s (d : RN i
Ams. (c) [SSCANS Fxom, 2002) :‘.I 1SS0 Ms x|
- [Expl- Kariranga Nutiowal Park of Aewn e T 1 T el oaly Houting Nathsnal Purk | lacatrd i-
i = i L (i ) u
conservation project of thinos, 14 1"-!-.Ill-qu._,

32, Karirangs Natiomal Fark §s famows for which of the

follow img-
' (a) Rhinos ihi Tiga
(ch  deer idy Flepham
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i) Kuola Luivpur
() Dispur d
ISSC CHSL (10+2) Exa

€} Hiluspug
Anx, {m)

i

Kie n ”
I..|tHI Lﬂn'uau I'l-llﬂunl.ll mlll i!'i “_‘“']IJ!'!

Floating Nagjn.
Honal Park which i located in Bishnup




id*s enly Floati
; “t:;::-w“ ¥ Floating National Park “Keibul
i
jal iporam (b} Nepal
i phutan {d} Moanipur
b [S5C CGL Exam, 2011)
1

jao National Park is a Mag -
The u-:ihﬂllLﬂmJ““ rk is a National Park in
ﬂ.pl?wrdj,mﬂ of the state nl:M;.ml]'mr-in India Itis 0 kme
] in area, the only floating park in the world, located

mi) :
Hﬂ East India, and an integral pant of Loktak Lake,

-Em‘ﬂglrhﬁt‘ National Purk-
]

) Madhya Pradesh (b} Kamaaka

Orissa (d} Assam
e ) [33C CGL Exam, 2009]

Nagarhole National Park is located in Kamataka, |
Where are Rain forests found?

g Central India
by Fastern Grhat
[} North-Eastern Himalaya and Western Ghat
i1 North-Western Himalayas and Eastern Ghat
i fc) [S50 Steno ofF. Exam, 2006]

Ans. (a) [SSC CHSL (10+2) Exam, 2015]

Expl:- India's first Biosphere reserve was established in 1986
i Nilgii arca spread wpto South of Western Ghat, Tamil
Madu, Kamataka and kerala. It covers an area of 5520 sq km.
Mukunhi, Bandipur, Mogarhole and Wainad National Park are

in ils promises,

46, Which of the Tollowing is known as * Bio-Diversity hotspat
ol Imedia™-

() Westerm Ghat ik} Eastern Ghat

(¢} Wesicrn Himalya  (dy  Gosiern Himalya
Ans. (a) " [SSC CGL Exam, 2010]

Expli- Western Ghat is a hetspot in India. Eastern Himalaya
is also in this list but it is lesser in biodiversity than Westem
Ghat.

47. The*Central India Teak™ is an Example of =

(a) Tropical Evergreen Forest
(b Modst Deciduous Forest
fe} Dy Deciduwous Forest

{dy Maontane Fonest

Ans. (hy [SSC MTS Exam, 2014]

Ixpl- Tropical Evergreen Forests are also known as Rain
Forsts, These are found in Western Ghat, Coastal Arcas of
dmbisn Sea in Peninsular India, Worth-East Himalaya and
fadaman and Nicobar [slands.

L Mudumalai wildlife sanctuary is famous for-

{2} Tiger (b} Bison
e} Birds © (d) Flephants
iy, [y [SSC CHSL Exam, 2011]

Expli- Central India Teak (Tectona Crandis) is species of moist
deciduous forests, This wood is famous for its shape, color and

good quality. It is best for making fumiture.

48.  Which of the Following is a commonly founded plant in
tropical deciduous forest-

fap  Orchid ib) Fir
e} Pine {d) Eucalvptus
Ans, [a) [S5C Sieno (Grade D & E) Exam, 2012]

nﬁﬂkﬁﬂﬁt'm are made in order to conserve the

yoopicd system by maintaining Bio-Diversity in a particular

::“"Mnu India s divided into 10 bio-geographical zoncs

Gere are 25 states in these zones. Till now, 18 bipspherc
e identified in the country.

Total number gf biosphere reserves in India are-
F1] 1

e} s

{hy 10

(d) 1%
[SSC FCI Exam, 2012

i Reserves are made in order 1o consenve III'II:
ten, WM by maintaining Bio-Diversity in a particuiar
:.,;::h India iy divided into 10 biv-geographical zones

"¢ 25 states in these zones. Till now, 18 Biosphere
Wentified in the country,

Ingty, "™ the first biosphere reserve established {0

" (by Manda Devi
- Musaripggp (d) Kanha

- Yaday Readers Publication

| Expi:- Orchid is very common in tropical deciduous forests.
49.  Where is the “Willow™ of the ericket bat derived from-

() Tropical Deciduous Ihresis

(b} Heavy Rain Forest
(e)  Deviduomes Fonest
iy Mouniain Forest
Ans. (d) |SSC CHSL 4 10+2), Bxam, 24014

Expl:- The Wallow" of the Cricket bat derived from Mountain
forest. In India, Jammu and Koshmir i well manufaciere of
WILLOW Hars.

&), Roesin bs @ product of-

() Cimpes i) Coniferous Trees

ic)  Rubber () Danyin iree
Ans. (b [SSC CHSL (1042) Exam, 2014]
[ Expis- Resin s a product of conifereus product, |




o .

i

5l. Kugri Wildlife ﬁunﬂunr}' is licated i which of the

follawing stage;— ;
ta}  Maharashir iy Fanwnuw and Eashimar

1€} Himachal Prodesh (v Litnrakhomd
Ans. () [S5C MTS Exam, 2084]

Expl:- Kugti Wildlite Ssiciumry § . —
i ¥ iz lscpsed in Chamitm Ditrict
of Himachal Pradesh. It j5 3% Inre : i
Himncheal I'md'w.h‘_h Hia.=" Tangast sacyory o (e s

T

“& Find the wrong pair-
i Bandipor Natnal Park - Kamaraks
(k)  Sariska Notional Park - Rajasihan
(=) Annamalai Mational Park - Tamil Madu
(d)  Periyar National Park - Andhra Prodesh
Ans. (d) [S5C Steno Exam, 2014]

Expl:- Periyar national park is located in Idubki and
Pathanamihitn district of Kerala, It s famows for figer and
elephant conservation,

53 Which of the following is not correctly matched-

(a) Malagha - Maharashia
(k) Kanha = Modhiwa Pradesh
(e} Manns _ = Aszam
{d} Peryar - Kamaiaky
Ans, (d) [S5C LDC Exam, 2005]

Expl:- Periyar Tiger Reserve, Thekkady, is an example of

mature’s bounty with great scenic charm, mch bio diversity and

providing veriiable ..

i.;j:ﬂinn : Idukki , Kotayam and Pothanamthitia, Kerala state,
8

54,  Global warming may resuli In-
fa)  Hise in sea level
(k) Change i crep pogtem
(e} Chamjre in constal line
{d} Al of the aboye
Ans, (d) |S5C CPO Exam, 2009)

Expl- Due to global warming level, sea fevel may rise and thers

may be a change in cropping pattern and coastal line,

S5, The most dangerous effect of exeessive deforestationg js.
(a) Lossof foresi
it} Loss of other plants
{e)  Destruction of hebium of wild andmals
(d) Soil erosion

Ans. (€]

Expl:- The Excessive cutting of wees and forest can destroy the
namral habitat of wild animals. Tt is the most dangerous effect

[SSC CPO Exam, 2012)

amaong all of the ghove oplions.
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EETOTEEET
sh,  “Chipke Andelan™ is related to wiyyy,

{n) Wild Life Conservation

(bi  Conservation of Foress

(o} Agro-Scienee

fdy  Deforsmion
A, (IF)
Exph= Chipkn Andolon was Emmw
Bakuguna for the conservation of forests, by 5“‘:
7.  Afforeatatlon is the process of-

{a} Cleaning forests

LSSC Section oy

] F|3r|.|;.u|_i|;q-|
{e1  Culting of foress
Ans. (b

(d) Eﬂilem-mb. foreg

[R50 CHAL (10 gy
Expl:- Afforestation is the process of F'hﬂl-'ltin::;?,_"""--;
it, important necessary and usefl rees ane plapyey :'"‘ Ly

It is also used as a method o control fonds ) Em'*'q
and conservation of environme, Ohtenay

|[ AGRICULTURE

1. Edible eraps include-

(#] Cotton, Tebaces, Sugercans
(b} Limseed. Casior, Turmeric
(e} Foodgrains, Pulses, Oilsesds
(d)  Jute, Cotton, Chilli

Ans. fg) [55C CGL Exan X

Expl:- Edible crops include pulses, oilseeds, maize, whetiz
potats, bestrool e,

2. IR-I0 and RATNA are two main variety al-

—

(a)  Whea (b1 Mdille
ey Jwar (d) Rice
Ans, (d)

[ssccol.™
—-'-"

Expl:- JF_l. M and RATNA nre two maoin varkfy "”:
Cnher variety arc Hamsa, Jayo, IR &, IR 36, Pusa | b

Rejeshisari, T

3, The Shlﬂil’lg Elﬂtl‘\'.fi{in % wrill Prﬂ'uhﬂ‘i“‘
(8)  Meoram (b)  Nagaband
ch  Maonipur “ (d) All of the aboe i
Ans, (d) Asst. B2,
I55C Tax asit BT

Expli- The Shifting cultivation {% on ue;r‘i‘-‘l-'"“"‘|I :

which Ftﬂ! of lnnd mre cultivaned Eﬂlmﬂm'"fl than aHH' ¥
and allowed 16 revent 1o their nanral vegention Mok
cultivator moves em to anather plot, This kisd of "

sed i morthe s Indinn sianes,

A The Practice of shifting cultivation is used &
fa) Himaehal Pradesh

S ]

il

Ax



A FeFfE 2

4]

i ll-l'.!IHr-ﬂ Highlands
il Coastal Tomil Nt

& pagaland
[&ﬂCT ! = 3
3 ) % A, Exggy, I[HT.T_I

The Ehil'tinglmlliv?lmu s W agricaini
E'!'bpl.m of land are cultivated femporarily, theg :h:"smltr']m
ol silowed 0 mw,' » ’:’l"‘" "1""'“" vegewtion. While the

iyabor moves ane ta anather plot, This kind of cultivas
3 in Nonh-East [ndian states. B ulkihvation is

@ A Folk Dance

ihh A River

il A Trbe of Morth-East Indig
i@ Atypeof Cultivation

At () IS5C CPO Exam, 2012)

Fapl:- Jboom Cultivation, alse known as the slash and bum
sgrcelture, s the process of growing crops by first clearing
e tand of trees and vegelation and buring them thereafier, The
ami s0il contains potash which increases the nutrent content

of the sail

. The erop which Is produced largely/imastly In India-

(a)  Whent {by  Jwar
(€l Maive {d) Rice
A, () [S5C Steno Exam, 2000]

Expl:- Rice is prochuced largly in Indian amaong all given options,
The tatal production of all of the above erops in 201314, Rice -
L06.65m. 10n, Whenat -95 85m. ton, Jwar -5.24m. ton and Maize-
24 26mon

1. Which is the most arable crop In India-

(i Hice i) Whet
(=) Chrom {edp Lansoed
Ana. (m) [S5C CHSL Exam, 20010]

Ezpl- Rice production i India 15 an important part of the
natiennl cconomy, Dry productive Paddy Fields i South India,

India iz one of the world's: lonpest produecers of wive rice

& Which of the following is not o0 Ropor Crop-

fay  Tem by Colfee
(g} Hubber {d}y Cone
Ani. {dj [55C Tax Ast, Expm, 2007]

12, Whot is the name of the largesi coffee producing state in
Indin-

0y Andhra Pradesh
(e Bamataka {d) Toamil Mado
Ans. (¢} [SSC Steno (Girade DY) Exam, 2005]

{by Goa

Expl:- Eamataka {T1%) ranks first in coffes production,

fiollowed by Kerala {20%%) and Tamil Madu in [ndia,

Expl:- Ted, caffee and rubber are Ropar Crop while cane is
8

L Whikeh typre of wheat is furmed in India-

e} Emmer whent
Jdelb Club whear
hpg ‘h}

(%) Bread wheat
iy dirum wheat
[SSC CGL Exam, 2012]

Expl:- Except club wheatall of the above type of wheat are
in [ndia. But during 1965-2007, Bread Wheat was

13. In terms of money, which spice is exported most from

Indio-
oy Pepper {b) Dy Red Chilli
ich  Turmerns () Cardarmsm
Ans. (b} [S5C CHSL Exam, 2014]

Expl:- Dry Red Chilli ranks fisst in all exported spices of India
in terms of mensy valuz, In year of 2012-13, Diry Red Chilli of
23806090 Lakh was exported while Pepper T63810.29 lakh,
Turmeric 53487590 lakh and Cardamom 2121504 lokh

the most in India.
" Madhya Pradesh Is the biggest producer of -
) Cattan by Chlsceds
(e} Pulses (d) Maize
- ) [$SC CHSL Exam, 2011]

51-"‘“"’111'# Pradesh ranks first in the production of ailseeds

14. Which Crop is cultivated in Zaid season—

{a} ‘Wntermelon (b} Soyabean
(¢} Maise () Jure
Ans, (u) [S5C CHSL Exam, 2011]

Expl:- The Crops af znid ore sowm in TL‘I':I.I'L'h and harvested in
Tune. Watermebon, cucumber ane its main crops. Rabi crops ane
sown in October and harvested in March. While Khanif Crops
are sown in July and barvested in October-November.

Y The Step farming Is performed on- 15, Zal crops are- .
(2} Slopes of Hills (b} In Dry Arncas (o) Ginoen erops which ore food 0 aniimal for grazing

A ) Terrace (d) Peak of the Hills () Sl crps which ar cropped when g

e [SSC CHSL Exum, 2011] fail 10 grow

Bl
"":::.]hl Efosion is very necessary to be conmrolled ﬁm'::dl’
Mg *F Manking, Sicp farming is dane to control (e

=2 1he slopes of the hills.
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je)  Crops which ane cropped oo attroct insecticides
(d} Crops which ore eropped 1o attract such insecis which
are necessary ioowork s pesticides,

[



) [SSC CPO Exam, 2012)  Ans. (%) [35C cygy
Expl:- Zaig Crops 3 : l:= According to figures of 20]4-j5 : iy
are substity lace of | | Expl:- According 1o | _ + Ing i
Iﬂ“lm' Srops in 8 field. e crops which take p corton production.India put behind Chipg [ﬁ:a"r:u!u g
1 ' ith a production uf 6.51million on, Chile ... ffo N
™ ::.::I;: of the following is not produced in the senson of ':rlr:ﬂuv:Enn. Clhina.in e and s, ® ranks ﬁmin’h
: . . Which of the following Indian st
(@l Millctand Rice (b1 Maize and Jwar = 1:: o T by L
(e g
2 :]] Jau and Mustand {d} Jwarand Rice A ks () Kerala Y
[ =
3 |SSC Section off. Exam, 2006] (c) West Bengal (d) Chattisgary,
Ipli=- Khanf £Tops are sown, when south-west monsoon d [S%
4 t o . A,
reaches in India and harvested at the time of its reversal, That A ) MTs E’“’ﬂ.

MCANs it is sown from the month of May to July and harvested
EEptEmb.H e October-November, The main crops of khanif
=£3=on are rice. millet jute maize and cotton. '

Expl:- Chattisgarh is not a tea producing stare 4. !
of 201314, Assam tea production is 62005 milli Tl
Bengal 312.1 million kg and kerala 63.48 milligg k

17.  Which of the following is not Rabi Crop in India-
(2l Wheat (b Jau
<] Rape seed (dy Jute
Ans. (d) [55C CHSL Exam, 2010]

_E:rp:l:- Wheat, Jau and Rape seed ure crops of rabi season while
Jute & a crop of kharif season.

18. The state which tops in production of mustard seed is—
{a) Maharashtra {b) "Rajasthan
{(c) Unar Pmdesh (d) Guojarmt

Ans. (b) . [SSC MTS Exam, 2008]

Expl:- According to the figures of 2013-14, Rajasthan ranks
first in Mustard production followed by Madhva Pradesh &

Haryans, :
19. The Topography of Plateau is best for-

(a) Farming (b) Forestry
(e} Mining (dy Hwvdropower genération
Ans. ig) |S5C Section off. Exam, 2006]

Expl:- Plateaus are generally nch in minerals and due 1o
availubility of minerals. They are best for mining. Platcaus are
also suitable, for forestry but it depends on the ccology and
climate of the platesu.

20. There is rainfall more than 200em. Im a sloppy
mountainous tract of India. Which of the following crops

23.  Which of the following groups of stares
an commercial scale-

{a) Maharashtra-Gujarst-Madhya Pradesy

(by  Kerala-Tamil Nadu-Kamataka

(e} Sikkim-Madhya Pradesh-Nagaland

(d} Orissa-Madhya Pradesh-Mahzrasherez
Ans, (b} [S5C CPO Exam, 2xg .
Expl:- As per new data kerala produces 87.6% of tota] lsse

rubber, In current scenario, contribution of Kerila is oML T:
Nadu 3.4% and Kamataka 2, 1%,

24.  Which of the following is a cash crop in India-
fa) (b) Gram
()  Onien (d} Wheat
Ans. (c) [SSC Tan Asst, Exam, 20

|I_}:1|J|:- Onion is 4 cash crop in all of the above opticas. |
5. The Plantation agriculture produces-
(a) Only Food Crops (b} Plantation Crops

{c)  Cash Crops {d} Four Crops ”
Ans. (b) [SSC MTS Exam 2

Fmdﬂl;'t I'IIE

Maize

o
Expl:- Tea, Coffee, Pepper, Cardamom and cocanut are o7

plantation agriculture, I

. joa B
26.  The share of food crops in India’s total proded

can be farmed there- almosg-
(a) Conon (b Jute (2} 50% (b} 60%
(c) Tobacco (d) Tea € T0% id) 30% o
Ans. {d) [S5C Section off. Exam, 2006]  Ans () [85C ME-‘F;;;,(
Expl:- Mountainous tract with annual minfall of 200 cmormore | | Expli= Under total cultivered area of in Indis, 1004
is best suitable for ten plantation. uced on 70% arca. Ipﬁd,ﬂi
21. India s the largest producer and exporter of- IT.  Whichofthe following state Is the largest whes
Cotion (b} Copper state in I_mu--
s (d) Mica (8)  Punjab {b) Uttar Pradesh
() . (5] Madhyn Pradesh {d} Hanmna

. Rakesh Yadav Readers Publication




S
[S5C MTS Bygny 15
ing to the figures of 3

1 ..ﬂ|3-|.4,
ﬂ’p':'r!-l:'n wheat production followed by pyyy:

ﬂ:ﬁ{i “’lr isa j“'ﬂ' .hu“dl mt Slatp.

9, 200w)

\ teh Tuemeric (. Mone of e

n4. {d

! . id} [350 LI Exam, 2005]
t"h" Cloves ane obtuined from flower, Cinnaman from the

ifi : .
B westBengal . (b Tamil pyg 3 “Ef1b: ool and Turmerc from th sem of the plan,
! ez * he T “La #

J::F ]-:.:'I'Jlﬂ rdr Dri!'lh:\.l pr.d“:'ril:lh ﬂ[r:rtfﬂ “Ewlllﬂlﬂl i% u;ud ({1} *le hl].'.h‘l'r
. [S5C MTS Exam, 2011 ) namlinds
ﬁml is the l:u:gnsl producor of jue in T b1 Tree Montation
Iﬂ-qf?ﬂ!H"“ Jute was cultivated on an ang of 74,49 of tgaal e} . Per fegtare Agricultueal Ouipat
gk & al () Gurdening in urhan centres
. “:i:hﬂl:l the main competitor of India |n Jute ARs. ) [S5C Tax Asst. Exam. 2009

e = - —

a) China (b) Mepal E:ﬁﬂ:;':mwm fl.m_" Rh:;:r"“““ wes wied t show pet

Igeca autpat,

i Bangladesh (d} Japan -

: g 5. During the period of __ the production of food
. 16 [55C Stena Exam, 201 1] erops specially wheat increased very sharply-
f‘":-ETnghdﬂh_ 15 the main competitor of India in jue (a) 1954 b 196

5 _,q,.:mni_lnﬂ to the data of 2013 of FAD, India ranks (e} 1965 ) 1966
ain jutt production followed by Bangladesh. Ans. (d)

Where is the maximum wrea of jute production in india- - -
1 o=y Expli- During the period of 1966, production of wheat increased

|2 Assam (by  Hihar becase of the Green Revolution. The produciaon of wheat in
(£] Oirissa (d) West Bengal L5t weas 103,30 Eakh ton, while it increase many Gidd duming
[970-T] o 238,32 fakh 1on. '
i ) [S5C Steno Exam, 2011] —
36, Which of the following component was not the part of
Expl:- agricultural pollcy of Green Revolution-
 Stale Area (Im  Thousands | Production (a)  High der ity of crops
hec.) (DiMbales) (b} Guarsnieed moximum price
HHE;HI] =¥ 5349 il  Kew agricultural technology
o 139.1 1650 id) Investment package
ELIIE il 13 Ans. () [S5C CGL Exam, 2005]
{{Drizsg 177.7 : "
— 224 Expl:- Guaranteed ‘minimum price, not Guaramesd maximum

A Whay s the rank of India in milk production in the | price wos the key ingr!:dimr of agriculral policy of Indian at
it time of Green Revolution.

The Green Revelution was most successiul in-

@ Fourh (b} Third 3. en Revolutio
# Second id) First {tat  Punjab and Tamil Madu | |
% W [R50 TS [ TS gy P, Haryam and Lliear Prasdesh |

b Mhrgaim

(di - Utar Pradesh and Maharasihr

P -
i - Indi ranks first in the world 1o milk produciion. It has
[SSC CPO Exam, 2006

‘EiﬁiTt since [998. Unar Pradesh ranks first among ol

ln”'mh iﬂmilk produerion, Ans. (b} : -
""rptn.ﬁ“ ol ks abtained Trom- : Expl:- The Green Revolution was most successful in Punjab, |
¥ Cashe ine tree Haryana and westem Uttar Pradesh, .
wout shell  (b) Pine [ which were cropped by using high ;
) Bucyy ; free 38, Choose the erops i L1 188
g, Mt (0GR 2005] yielding seeds in Tndia during Green Revalution-
) [S5C LDC Exam, (a)  Rice, Wheat, Pulses, Oilsceds arsd Sugarcan: |
3 ~~Spcntins oilis obrained from pines UCE: = (b) Maize, Gram. Jwar, Coffes and i
"4h of the following spice is obtained from the 1% (¢) Rice, What, Jwar, Millet and Maize
b Cloves (b} Cinnaman
h
" Yaday Readers publication =
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44, Which of the fallowing factor affecg,

tm“ﬂ.ﬂ

() Wheat, Rice, Sugarcanc, Pulses and Maize India- iy, [
Ans (c) [SSC MTS Gaam. 2013] (a) Temperature (b} Humidipy, "
Expl:- Under Green Revolution, the Nigh yiclding sced (c) Wind (d) Rain
propramme was applied in rice, wheat, miller, joar and maiee Ans. (d] [S5C CHSL (1035
bast it was most suecesslul in wheat production. ST : “q‘l'b;
- : - The Rain is mm\
LN Frl!l:-l:l. Hevolation is relnted 1o which Crogi- E'II_H lrure in India, Due to s 'Impﬂd'tann:gl itis ;:i' Ith_
(2} Rice (bl Whent “Mansoon Ka Jua". h"'lq.,f
() Pulaes {d: Sl.lgfﬂ:ﬂ-ﬂt ‘5‘ pﬂwraﬁpﬂ Fmﬂd" is relmied In“hﬁ'
Ans. (b) [5C CGL Exam, 2007] {a) Milkproduction (B} Wheat progy g,
Explz- The Green Revolution is related with the production {e) Flood control (d) Water conseryap,,
of food crops. Its main impact was on wheat due to which Ans. (a) [55C MTS Exam, 2002, 55C DEQ E‘“t?u]
production of whent increased manifold, . .
ion flood" is refated to milk prodycte,
40.  Another name of Green Revolution in India i Expl: "I:IJ.:I:I"HTI.'DI'I th}hh
are following-
(ay  Secd, Fertilizer and Irrigation Revoelution First phase = [9T70-80
(b Food Secunty Revelution Second phase - 1981-R5 .
(e} Apriculiural Revolution Third phase . 1935-96 |
T

idp  Multi-Crop Revolution
Ans. (a) [S5C MTS Exam, 2008]

Expl:- In India, the meaning of Green Revolution is the use of
high yielding seeds, femilizers and irmigation, These three were
the main components of Green Revolution.

41. HYY is also known in India.
{a} White revalulion ;
e ib)  Blue revolution

{e) Traditional revolution
(d) MNew agriculiural policy
Ans. (d) [S5C CGL Exam, 20EZ]

Expl:- High yiclding varieties (HYV) is also known as Green
Revolution or New Agriculiural Pelicy in India.

42, Which state af India s known as “Supar Bowl™-

{a} Utrtar Pradesh (b} Punjab
{c) Andhra Prodesh {d) Bihar
Ans. (a) [SSC MTS Exam, 2011

Expl:- Unar Pradesh is known as Sugar Bowl of India,
L'ttar Pradesh ranks first in sugar production followed by
Maharachira,

46, “White Revalution™ is related fo-

{a) Wheat production (b)) Milk production
{¢}  Flood control {d) Fish production

Ans. (b) [55C

MTS B2

Blue revolution is related to Fish Production.

Expl:- The White revolution is related with milk prodaca
Dir. Varghese Kurien is known as the father of White Prodass

—

47. The Area of food crops in fotal area of cropping il

is-
(ay More than 0% {B) &0 -T0%

-—

(e} S0-60% () Less than 50% o
Ans, C CPO Esam
s, {h) [55 ]
Expl:- According to data of Ministry of Agriculturt, E':hg.f
were cultivated on 64.32% of the total cultivared 27
In 2012-13 this was 75.53%. ___..H.;;;
4% What is the percentage of Indien P'J'P“"tlm
agriculiure-
(a)  60% {hy St
el 70% (dy 8%

Ans, {a) 188C {.“'jLI:F.‘.IrL-

43, Which state in India is Known as = Rice Fow ™.

() Kerala by Karnaiak:
iey  Andhra Pradesh fuly  Tamil Madu
Ans. (e} [SSC MTS Exam, 2013)

Expli- Andhra Pradesh is knnwon os 'Rice Bow!" among all of
the above options. Rice production accounts 77% of its all crop

production.

Rakesh Yadav Readers Publication
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Bgriculiune,

49, Blue Revalution is reluted to-

(@}  Fish production by Milk Fmdud!-'"
e} Ol production (dy Food T""':"j“nmﬂ .;u."'lﬂ
Ans. (a) [SSC CPO Exam, 2006, ssc COLE

Expl- Agriculture is the backbone of ||_1dinn- m&"
2013, 55% of the totl population of Indin

\
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. H a ]
Revolution’ with gy, 205
with oilseed production 5.4 LGTT: i
e R"‘-‘nhl-ﬁnn' With
b .M.,n'r"“’“"““ in India j5 related g,

# ] Rice production
1

o Tea production

e

. 0 [S5C Tax p gy Exam, 200,
ﬁ per the classification by AR e tupe o
:] = :u}-wﬂmﬂk ZONUS are ip |“::-:'fn Ministry, hoy
o 127 (dy 122
s ) [S5C CHsL Exam, 2010
127 agre-climatic zones in Indi are identified .
- Nat
} rhm Pl'-:jl:nt, while India iz d&ﬁdud-ql:ml] ;u:laa
zones by Planning Commission, . .

g Find the incorveci pajr-

(8] Tea-Assam (b} Peanut-Bihar
{t) Coconut-Kerala (d) Sugarcane-Uttar Pragesh
ke b

[SSC CPO Exam, 2010]

= Assam ialrh:n'uiu producer of tea, while Gujamt produces
Kerala is the leading producer of coconnt while Uttar

AlEn !
3,
e

H.7%, |
55,60

I"‘—-——-________ 92985
In 2009. ¢

s BFOSE Cropices | l'
{4297, B, Pise Img&|=ﬂl.l'l:ﬂ.hﬁ3|lrhhirl.=-5um 'I

12 (24545), ¢
| 2nd heetage) - Cothon 13342) and Wheat (2620%) |in

6. Which of ihe fa
iﬁdi!innul arca l'n
(o)
il

Ans, (h)

llowing stote is considered as the
riank irrigstion in India- ‘

(o Tarmal Madu
(dY Dieiesy
[35C CHSL Exam, 2015]

%ﬂb Madbya Pradesh, Tamil Nage, Kamataka, Andhra

desh and T:lm:gm:, Eastern Uttar Pradesh and Eastern
Rajasthan are traditional arcas of task irrigation. The: tradition
||:|_l"l|u1t Imigation &5 a thing nI‘Pr:v‘u":-:]i:ﬁl.-.
5T Im which of the ared of India, Mon-]

y ted F:
i . on-Irriga arming is

{2} Kanem Field (b} Deccan Platesy
(£) Coremondal Ficld (d) Ganges Field

Giujaral
Assam

. of sugar Ans, (b) [S5C CHSL (10<2) Exam. 2011]
% BT seed is related 1o- Expl:- The aress which receives very less rain ame called
L land. The Moa-imigated in India f blerms like lack of
i gated areas in ace pro
! Rice (b} Wheat mioisture, faster evaporation, salinity and sand in soil and fvers
{2} Cofion {d) Oilseed are also seasonal and low water level,
b gy :

[5C CGL Exam, 2011]

ive 50il dwelling bacterium, commonly used as

. Sl pstie.
A Soriyg ﬁ.- i
. i‘] :E’“'I"'Erllm of various specics on private land
o, Managen, it of forests by co-operative council

s of same species on public land

1 managing useful plants on public land

[SSC CHSL (10+2) Exam. 2011]

58, Which of the following distrlet of Tamil Nadu is mot
suitable for farming doe to rising salinity in soil-

(b} Magapartinam
(d} Coimbators
[S5C CHSL (1042) Exam, 3013]

{a) Tirchirappalli
(c) Remnathporam
Ans, {a)

Eaxpl:- Teruchirappalli is not suitable for farming due to increass
in salinity. Despite-it, salinity is increasing in Agra, Bilaner,
Gangavati, Hisar, Kanpur, Indore, Bapalla ete.

&0, Maich the fallowings-
Crop Producing States
A, Tea 1. Himachal Pradesh
B. Sugarcone L Aussam
. Peanuts 3. Uttar Pradesh
D. Apple 4. Gujorat
{a) A-2b-hee -3 (b} A-2b-3e-44d-1

id) A-4b3.c-14-2
[S5C CGL Exam, 2011]

A-1b-2c-0,d-4




e

Expl- Teo.Assay
Apple- Himachg iﬁ“’"“”"—"m Pradesh, Peanuts-Gujrat,

=————— — e ——
e D
L MINERAL REsoy D)

i. dadugnra s Msmous for.
[a

Mining of iron bl Mining of mica

(d) Mining of copper
[S5C Tax Asst. 20046, 2007, 55C CGL Exam. 1994]
E-IPI:- IME!_'E. Ii!ernl'lq‘r:t Umium mi:l'l.ﬂE are located b Sh‘lﬁhb}llﬂ'ﬂ

district of Jharkhand nnd Joddugora near Ta:n:Hg.r.
2, sk

e} Mining or uranany
Anz (c)

The Huge deposit or uranium are found recently in-
ta)  Andhra Pradesh (b} Kanrataka

(¢} Kemla {d) Tamul Mady
Ans. [m) [S5C CHEL Exam, 2010]

Expl:- The Deposits of uranium were found at Gogt in Kamataka

in 2009, One of the biggest deposits of uraniom was found at
Tummalapalli in Andhra Pradesh m 2013,

3. Tummalapalli of Andbra Pradesh comes on world map
because of ome of the Biggest reserves of-
(0} Uranium (b} Tungsten
{ch Coal {d} Bauxite are

Ans. (a) [SSC CHSL Exam, 2011, SSC CPO Exam, 2042]

| Expl:- See the explanation of abave question, =
5. Where is the bigpest reserve of mics-

{a) In Sowh Afnco it In India

(c) ImUSA {d}. FnAustralia

Ans. (h) [S5C MTS Exam, 2001, 2008)

B, Where is- tha largest deposits qf LR

(@) Bihar Ibj Iharkhyyy,

(c) Madhya Pradesh {dj ﬂ-l'iss.-a_

Ans. (b [55C Tax Asst, Exam, 2008, 550 Mt : |
Expli- The Ranks of states along W
Aowsng as per 2014 data- N"‘h.:

R Producion iy
I. | Jharkhand HMIﬁ_]i—-_-_'_"--.____‘_H
2, | Orissa TET6T
3. | Chattisgarh S332e
4. | West H;ngaJ ML —
5. | Madhya Pradech | 2867300 2 |

— ]
9. Which Is the largest producer of w.

(2) Kerala (b} Rajasthan -
(cl Tamil MNady (d}  Gujarm
Amns, (e}

[S5C CHSL (10s3) Exry, 3

Expl:- Tamil Nadu is the largest producer of g o
It also hos the: largest reserve of lignite. The E"J“T'!i;
deposits are found here (43.22billion ton). Other s
Gujarat, Jammu and Kashmir, Kerala, Rajasthan s

10 “Panna™ is an important Place in Madhya Pradea s’
famous for mines of-

{a} Gold (B Silver
(<} DHMamond (¥ Trom
Ans. () [S5C Seeno Exin

Expl:- Panna located in Madhya Pradech which is boe¥
diamond. -

Expl:- India is the biggest producer and the exporter of mica, In
the world, Q0% of the wotal produced mica is exported by India,

. The Main mineral found in upper Brahmuaputra valley is-

(a) Coal {b} lrom ore
(e} Petroleum {d} Manganese
Ans. (c) [S5C MTS Exam, 2006)

Expl:- Petrolcum is the main mineral which is found in upper
Brahmaputra valley, This is the oldest ofl belt of India which
is spread from Dihing valley to Surma Valley. Dibrugarh and
Shiveagar are the main oil producing arcas of the valley.
A Raniganj in West Bengal Is concerned with-

{n} Coal b} Iromn ore

(cy Manganese {d) Copper
Ans. (a)[S5C MTS Exam, 1991, 20040, 55C Steno Exam, 2010

‘Elﬂ?mwjjsmﬂhmmﬂm&m&

West | obtained from Runigan) is the best quality coal
it mmmm of moisture, This is kighly inflammable
:;:E-:h is used in Rail Engines and Thermal Power Planis.

Rakesh Yadav Readers Publication

R
1. Diamond mines are found in —

(a) Panna, Madhya Pradesh
- (8} Mysore, Kamataka
(e} Waltair, Andhra Prisbesh
(d}  Ajmer, Rajasthan o o
MTS .
Ans. [a) [SSE__;:;;-‘;

I:IH'F
1. Which Is the destination of the slurry brough! r
fram Kudremukh-

{2y Koyali {b} Ingdishpur
(e}  Mangalore {d) Udnipur #
Ams. ()

s LEE

Expli- Slurry is brought from Kudremukh 12 M d
wmkﬂw—_—w&ﬂw/ﬂ
of

13, Iron ore produced from the mines
Exported from which of the following-

(0} Marmagag {b] Kochin




onualore {d} Chennaj
[SSC MTS Exam. 2000, SSC LBC Exam, 2
m, 2005]

New Mangalore port is located |

i ed in Kamao

w—-.rrm-mis exported to ather cound .m Mﬂh. %n:m
n B-"-Eilﬂ'l't

iltl- [ndia mainl}'ﬂFﬂrﬂ iron ore to which country-
(a) Japan ib) Bhutan
© [ndonesia (d) Russia
o @) [SSC Section off. Exam, 2006

years lndi_n has become an Important exporter
o orc is mainly exported to Japan from lndia.
L glsn €X jmnﬂremnmtrnuunﬁ'iﬁcfﬂnmldlm

. Belgiam. Poland, Hungry, Ttaly, Srilanka, Myanmar
- ;
15 g hetri i famous for-
(@) Aluminium (b} Fertilizers
(¢) Copper () Gold
Ans. () [§5C DEOD Exam, 2009, §5C MTS Exam, 2001, 2002)
Expl:- Khetri located in Ruajasthan which is famous for cl:-pp-:r_.J
16 Wherels ihe oldest working ‘Refinery'
(a) Bahamas {b) Basra
(c) Dighoi {dy Toxas
Ans. {c) [SSC CPO Exam. 5005, SSC MTS Exam. 2002}
Expk- The Dighoi refinery was cstabli
oil company Ltd. It is the oldest WO
17 The First refinery o India was established i~
(a) Barauni (b} Vishakhapainart

() Digboi (d)+ Mumbai

I8. The Total number of refinery working i
ja) One () Two
(d Four

(a) fIron

{c) Tomb
Anp. i

,.B_m.lmd]

- %ﬂ
= i yestion.
Expli- Sec the explanatics of above —

f’-}ﬁ:' The Mumbai High is related to petroleum. It i loeated
m Ir_na-.-.-n}- !':'ﬂﬂtlh'lunma.i coast, It is an important Petroleum
urea from where oil has been explored since 1976, It is located
i Arablan Sea.

M,  Where is Mumbal High located-

{a)  Confincnial Shell of Arabian sca

(b} Western Coastal Plain

{c} Western Ghat
idy Internal Flzins of South

Ans. (a)

I Expl:- Sez the explanation of above quc-.-Linn.

port develaped after independent

(b} Mumbai

(d)y Kandla

Ans. (d) [S5C Stend Exam. 2012]
g which was dﬂ“-'#hpﬂd.

Expli- Kandla port was the first po
k needed po have 2 port ol

after independence. [1 was very mue ;
becatse Korachi part Wos shifted w0 Pakistan afier

[SSC CHSL Exam. 1] |

!

WA

21, The Firsi
(o} MNew Mangalore
{ch  Nhava Sheva

wistem coast
partition of India. It was constructed in 1930.
23, Which is the largest and highest straight gravity dam of
Indin-
{a) Mether it R ihand
il Thein (&) Bhakra
[85C WTS Exam. 2007

largest dam of Inda
arkd. It 18 COnSEue



— S

o

|E1pl:n5=:lh:u1|ﬂmuﬁmnhhrcqm : 'j
7. The contribution of Hydro-Power in India’s total power
is almasts
(af  Half bl Cme-thinl
(€] One-fourk {d) One-fillh
Ans. (dj

[S5C MTS Exam, 2006]

| Expl:- Flydn{n__wr.w acoounts ene-fifth of power in India. i

8. The name of India biggest Irrigation Canal is-
(2] Yomuma Canal {b) Indira Gandhi Cannl
il Sirhind Canal {d) Upper Doab River

Ans. (b) [SSC CGL Exam, 200, 2005, 2011, S5C CPO Exam,
20415

of India. It has been cjocted from the harike barrage constructed
on the conflsence of vyas and Sutlej. Tt has been beneficial for
19,

The Indira Gandhi canal gets water from which river-
(a)  Sutlej and VYA
€} Raviand Chenab
Ans. (a)

(b} Raviand vyas
{d) Vyas only

[SSC MTS Exam, 2006]
Pair i correct jn contexi of

[Expl:- Sec the explanation sTammes

A Which af the ﬁ]lh‘l‘lill
lhem:lpawnrpmjﬂu-
(=) Korba-Uttar Pradesh A
b} Hal:rlﬂaunlianlm-lHndu . '
(e} Talchar-Andhm Pradest )
@ Kovesim N

e .t

[Tt

b Krjtl'n“
Ams. (b) [ss5C MTS E ;
COL Exam, 2012, ° £2M 2001, §5€ DEO iy 2009, g5

Nagarj ject is built pergre
o rjuna sagar project is o
E,;F‘j},ﬂﬂ:;i;m the bonders nftlje .Hﬂl:liﬂmta g Guh'irul{
:;_1'5 project irrigates an are of B.67 Inkh hecty, iy

UH
Pradesh and generales 210 megawatl of powgy. M»‘L::i

33, Inwhich state, the Koyna Hrdm—ﬁ%
: i

(by  Dihar
ey Tamil Nadu {d) Andhrg Pradesg,

{0y Maharashtra

Ans, (@) [S5C Steng Exam,

— - 20y
Expl- The Koyna Hydro-Power Project is bujly o |

: : : T4 e =

Koyna, main tributary of Krishna River. Thig Projecs § Ty
near Patan in Satara district of Maharashirn, "h:uq
34,  Maich the followings=-

Dam River
A, Hirakund | Raw
B. Pong dam 2. Bhagirathi
C. Tehridam o 3. Vyas
D Thein dam - 4 Mahanadi
A ol C (K
(a) .4 3 | 2
by 4 2 3 1
fc) 4 3 2 |
) 1 2 . 4 1
Ans. {c) [38C ) [SL Exam, 31
Expl::
Dam = River
Hirakund - Mahanadi
Pong Dam - Wag .
; Tehri Dam - Bhagirah;
! Thein Dapy, - Ravi
35, ;TIL;“ nFt[til:::nﬁl;u valley praject i India fs-
oo

[SSC MTS Exam, 2006, 206

t ]E{ Mulli'-?lm“ River Valley Projet d

.I : E ; way -ﬂ].l'!“l"l.'lml oa JL‘II}" o LS L[lh'
¥ Corporatian 1 the states of Bihar and Wed

linges
%) Bhajy 48m In Ingig 5.

© Hingp,  ® Nagarjuna Dam
e I e i

8 Exam, 1999, 2008

Ans

40,




e it~ Wer Plan, Cog

g Kaig () et

L : TEF.QF'“T {f! Eth

y R id An canal I

[ ] Enig 5 {e) (4} Sirhing canal

(b} Expi: 1550
m (SSC Mg ol Edan Coray; £ Erum, 2085)

1| : '
EI:"“ ':'rn-],rmh fiver, [LI: i oag Edan canal ¥ eonsiruched ok

Virdinan digiigy, 2 0 9030 10 thousands hectares of

4 Which
(AT
don. HUES Sire ped

ur Atomic Plant wag y,.

Fopl : ” first
was established in 104 o

pha I % at Tagapy

Find the 0dd one- —
Tarapur b
() () Trambe (@) Kamaiaka and Tamil Mo

- Kalpakkam
o) Kalp2 (d) Narory (b Tamil Nadu and Keratg
{€)  Kerals ang Karraka

i ) [55C CcoL
- E
Kam, 2012] 1) Andbra Pradesh and Kamataka

- Tarapur, Kalpakkam and Naror
: i - are nuc]
D rambeis an alomic research centr BAF power plants ;;:2-} ) [SSC MTS Exam, 2000 S5C CHSL (1047} £
a) Eram,

atedl with the dispute of "Mullaperiyar

I Tamil Nadu-
= ‘water of ; -
() Iddukki (b} Aliyar Periyas, Mullaperiyar dam. This dam is built across the river
Periyar . :
i:] ¥ {.da h".l.]ndah 45, Which state rl'l'!:lﬂlHI. ] dﬂl‘ll‘h]' Rihand Dam Fl"ﬂ_!l‘.‘ﬂ-
Ans: F’} [SSC Tax Asst. Exam, 2006] {a) Ciujarst and Maharashir
Expli- Aliyar, Periyar and Kundah Hydro Power Projects are (b) - Orissa and west Bengal
ipesied in Tamil Nadu,while Iddukki is located in Kerala, (c) . Uttar Pradesh and Biar
4. In which of the following places, power is gencrated o) T S
through hydro power- Ans. (c) [SSC CGL Exam, 2011]
(a) Neyveli (b) Annore Expl:- Rihand Project irrigates the regions of Uttar Pradesh and
{¢) Tuticorin (d) Mettur Bihar.
Ans. (d) [SSC CPO Exam, 2010] 46, There is always shortage of electricity in India for a leng
z time, because-
There is fluctuation in ydro-power gencration

Il'llﬂ‘-'- InMettur, power is generated through hiydro powes whilj @
: to 200 THtICHCR 21 | powes plea™= () Demsnd for clectricity is mcreasing while its gemneration
and distribution has mot been increased

4, Inwhich state, Salal Hyro Power Project is located-
I;II'."it'_\' et ol i.l.E‘hi'."'l'nd

The ohjective of gemting aew (39

{8} Haryana (b} Jammu and Kashmir ic)
= i the abo
(c) Himachal Pradesh (d) Punjab ), NemeihiR o qai, 2006]
! [SSC MTS Exam, 2
- [$SC CGL Exam, 2013]  Ans. (b) : .
' e wer gencration, and i distrbution B Aot
ect g built =_'|” : and for power i3 conti 1o rise 50
Ao Pﬂ“'Eme] heen mr.-rﬂiﬂd while EL'-]“I .
power L Lﬂfmﬂpﬂl‘hmu o there 3 s P e hich is similar t0 T.¥A.
[ e :Rﬂmmﬂ M h!ﬂﬂlaﬂ ch 1 L
{l Tht u .h[‘[]:'hd P Frujtﬂ Dam is Iﬂ-l.'ﬂ"fd few 47, H;r:cr\;lrt:?ir:tmmﬂy}dus*'nh.
miam Hydro pwer 3 b . .
kilometres north to which of the following” (a) Ramgong? Multi-Purpose Froject
(8) Kohima (b) mphal it dukki Project _
[ramadar Valley Project

i ject
) Motnat DI T o cpg paam. 2012
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[ OTHER RESOUCES OF ENERGY e
L —
I.  The energy generated through coal commereinlly 13

called-

fap Light Energy

{c)  Thermal Encrzy
Ans. (€]
Expl:- The encrgy which is generated through coal commercially
is known as Thermal Power. 3
. Which of the following is untraditionnl sources of

by Kinctic Encrgy
(dy Static Encrgy
[SSC Tax Asst. Exam, 2007 ]

Energy-
(a} Coal (b} Fuel
(e} Petroleem (d) Biogas
Ans. (d) [S5C MTS Exam, 2001 2006]

Expl:- Biogas, Bio substance, Solar Energy, Wind energy, Small
Hydro power project ete are untraditional sources of energy.

3. Which of the following is a renewable source of energy-
(a) Water (b} Petroleum
{c) Caal {d) Natural gas
Ans. (a) [55C LOC Exam, 2005)
Expil:= Water is 2 renewable source of energy. While other are
not renewable source of energy.

—_—

1.  Consider the following statemenis-
I.  NTPC has entered in the area of hydro-power
2. Power Grid Corporation has entered in Telecom Irh:imi-;.r

Which of the above statement is cormeet-

(a) Ouly 1 (b) Only2
(e) land2 {d} Neither I nor 2
Ans. (e [S5C MTS Exam, 2004)

Expl:- NTPC has entered in hydro power .
Power Grid Corporation has entered intdmuu'ng:;c[m Zhie

1. Whichofthe foll -
o Fenliiate. wing cify isthe centre ILIZIi'J'I'Il|'|||||‘l..~_-'=|.il.lE

(a) Sindri
(e} Pimpari
Ans l_'e]_

Eapk:-
p

(B) Delhi
(d) Alwaye
[S5C MTS Exam, 2004]
mmMufnmuﬁmm' e
in Maharashira and Rishikesh in E:!mmmltlllm pie

3. In “ITJI of the rnﬂphlng ' | . Hi
Tool Industry s located. t¥. Hindustan Machine and

{a) Mumbai

(B) Chennag
Rakesh Yadav Readors Publication

(c) Hyderabad (d) Bengalury

Ans. (d) ", 2,
i+~ Hindustan Machine and Tool was Estapfigj o B
H Ik

(EF
Bengalurnl-

Talcher is important for which of the rﬂ.,:*ing_

4,
{u) Cable Industry (b} Hydro Powg, th%
(¢) Atomic Reactor  (d) Heavy Waer p,

s ISSC CHSL kg,

Expl:- Talcher is famous for Heavy Watcr Pm'_'t'—';;ﬂ-i:‘u-f-"':
water board is established in Talcher. Heawvy WALer bogyy

unit Ubder Atomic Encrgy Dﬂpmme?t ['. is FESPOmsib, . ity
production of heavy water {Dlvl;l} which is used g ok iy
diluents in reactors. Inspite of i, Talcher is alsq knan
coal feserve of Orissa. There are many thermal WWM:
talcher. .
In which of the following state, fertilize
“Paradip Phosphate Ltd™ is located-

“-HH

(a) JTharkhand (b} Bihar
{¢) West Bengal (d) Orissa
Ani. {d) [SSCLDC Exarmmr]

| Expl:- Paradip phosphate Ltd is located in Orissa,
.  Mateh the followings-

=]

Industry Area
A, Basic mdustry . Fertilizers
B. Sirategic industry 2. Petroleurn
L. Critical industry 3. Automobile
D. Goodsbased industry 4. Arms and ammunition
A B i D
(a) 4 2 3 |
b) 4 | 2 3
e) 1 4 iy 3
{d} 2 F | 3 I
i“' o (SSC CGL Exam. 1
Expl:- The ]
~ Forrect match are as followed-
]Idlﬂl‘:.r |
— Area
Basic Indusery Petrol =l
Sirate i = elirgleum Ry
- ity Arms and Ammunitiod
| Critical industry Automobil =~
G T uhomaob e |
7. Which or the [y ik J
e lowing public sector undert®
@) Wi
5 Industan Aeronaugies lid
(B) E'U'III‘.E[I:II:r

N Corporation of India Iid
Ahagar Telephone Nigam Itd




(@ Engineers India g

Us "
o [l ': Iss
I o Hi'ﬂdl.lﬁ-tﬂ.ﬂ A-'E"rﬂ]'l . C htT :
'n # |sd, both are Naumml:lima and gy, : Exam, 2':'HEI] & Which of
N s Currently Companies, T coast of g, "™ s an myp
= 5 Thm 15# .:i“IJI i-.- ortant Fu“ 1].' E.l_i'tﬂ'q
ch the followi £ ;
1 . plat nEs- ; (&) Kraiks) (b} Visakhapainam
4. Tiruchirappalli ; ni. (b} i) Puduchermy
15 g, Vishakhapaitanam 1' Locomotiye Expli- Kol [S5C CPO Exam, 20
— L ' T:I.T.k'F aty, Haldia P"Hﬂm. +4011]
iy EI "\vadl' 3 Be Id“m T'l.lﬂl:lﬂ'm A ““khmlﬂ-rﬂ ﬂhm’ ]
¥ - : - Heavy Eloy kandla the main ports of enu
5y p, Chttaranjan 4 ETArica] Ing Westen =nd new Mangabore al ensism comst h
. Ship Builg lestry tm ports. Kandla, which | galore &rz the main
the A B Uiidin P ich is an im ports of
ing C E & = in Gulf of Kutch, postant pod of westem |
-" h!l‘] i K |
w [ 0L o g o Gt o |
 1h l:b} 4 3 1 - |:|;r ':-'Ul-rtl-‘l'j.’ilal-hm.l I'I:':I Kor Creck
- (e 3 4 ] 2 Ans. (m) watat: {4 Honcof e shove |
|l I
Py (d) 3 I : I l Explo-Ses fhe ; [35C CHSL Exam, 2004 |
‘: ::[FL“IHHI]'I.'I -I]'rﬂh]'rzq z
Ans. (€} g 6. Whereis ) thetica. |
S [S5C CPO Exam, 2012] {n) Pm.awlh“hl Pghrw Furt—
grpli- The correct match of the above is followed by © W :‘ (b} Kechin
- umtha d
0] [ciry Industry Ans. {c) L ETISTCH i
3 = - 1 C SLE 2D
:] Tiruchirappalli Heavy Electrical Industry Expl:- Jawnharlal Nehru Poct or Nh xam, 2014}
[Vishakhspattanam Ship Buildin e o e Sharhely Shews. Pous Wi
- g o from Mumbai port. 1t is the biggest
Avadi Tank Factory mest modem port of India. -
— a) Naval (b il '
———— ]
ic) Rivenne {d) MWatural
Ans. (¢} [$5C CPO Exam, 2015]
d'. n . -
. Which of th Tiow ke Expl:- iint’l:ar.a Part 15 an Example of Rivenee Port. 1t is bocased
olgepsei ¢ following sea Port s nearest to Ruorkeld |, ghe dlsu.l:rr:l:_nlil:ﬂkn:- b the coast of se T ia § 8
{he banks of River Hugli
(a) Haldia (b) Vishakhapattunam g Which national highway connects Defhi and Kolkata v&
(¢} Kandla (d) Paradip Varanasi
Am. i) (55C MTS Exam, 2006] ja) NH4 (b} NHZ
_ = (¢) NHID {d} WHE
308 I Paradip Port is located near Rourkel2 Stecl P . (85 COL Exam, 23]
T L HBJ pipeline transports- e | and |
- ) Crude Ol (b Natural G2 Kolkats e
i 3 n_ln .
J O o @ w00 BY g i 1 Fom
A, (b) (55C MTS Exa- 2
' olkata and Defi 276 connected By =

by NH2

< :m:' HB]J pipeline

] Which ports are located 00 the
5-;", (8) Kandla and Hadia (®) Hal
i (¢} Paradip and Kandl? (dy P

Aug, (d)
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o 14

red in Indin-
Where are the cosches of prains manufact

1,
(a) Jamshedpus and Perambur
{h) Kapurthala arwd Femimbar
{c) Hyderabad and Pemmbl

{di Varanasi and Perambur -

[S5C MTS Exam. &
Aas. (b)

ool The Rl couches are manufuctured 9 5 g
[M-b}m Perambur (Tamil Nadu).
1l. The Integral coach Eactory bs in-

{3} Pemmbur {Chermai}

i) Bemgalaru

{c] Varamasi

() Hawrzh (Kolkata}
Ans. {a) [SSCOGL Exam, 2012, S5C Tax Asst. Exam, 2008]
Expl- The Integral coach faclory is Iutatﬁﬂ.irl Pernmbur
{Chenmai) ‘while =il coach factary is located in Kapurthaka
Pumjab.
12.  Which of the following newly manufactaring unit is going

fo b established by Indian raibway-

(a) Hal Coach Factory, Kapurthala

(b} Wheel Faciory, Chapra

€} Wheel and Axel Plant, Durgapur

(dy  Rail Wheel| Factors, Bengalum 1
e [S5C CPC Exam, 2005]

Expk- Wheel fsctory has been established in Cha Bilar
by Indian Railway, Rail cosch factory was Euhlishﬂlm 1586
in Kaparthsls, Rail wheel factocy was established in 1984 jy
iemlwu:nd Wheel and Axel Plant was established in 1962

1), Which al the Tollowin

€ ity has the largest number of

l'qﬁ.?!rt! W:H.:I'-ﬁ-
(31 Musm (b} Kolksty
(c) Deth (d} Chennai
A
ne 1'.] [Sqf lr—?':l Eh“. Eu I.{I]
Expli-7.35 million vehicles are rg ]

Cheanai, Mumbai and Kolkae, Brstered i Dbﬂ'-!fhﬂmﬁh

Which is .
- ooy clty is the beadguarter o twa Rallway E0ney fp

(#) Huhli

(b} Hew Db
fl:]' Musnhai {dj -'ﬂba.lpmr
| Ans () .

15, “’:a::l:}f:rm- pail division
{a) xf tical pfficer in every train to fight in - m%:ﬂ
[ P¥REE
[ ’F“""rﬂ_ﬂ"::;uﬂrd in all air mﬂd_iliungd - .
ic) rs:j;ﬁ;gfsha:ubwdi and duranto ':mlﬂsl
azine available of Indian .rml available .
() ;‘ﬂ;ﬂiusmmharumc Duranto Trains
(i) [55C CHSL (10+2) Exam, 21]“'
Ans.

. : ich is distributed fres
. : b s a magazine whict OFcugy
Eml:-ﬂ&ﬂ E“dfﬂﬂjdhm[f Shatabadi and Duranto trajpg The

. o .
in :Er':;'i“:’f ine is 1o make people aware of mil sengeey
¥ agazl

(4 Konkan Raflway connecis-
{a) (oa-Mangalore
(k) Roha-Mangalore
ic) Hmﬂtmﬁrﬁ-“ﬂnga]gm ;
(d) Kanyakumari-Mumbal
Ans. (I

Expl:- The Konkan railways is spread over Maharashira, Go
and Karnataks - alongside Konkan coast. Konkan railway

caonnects Roha of Maharashir to M&ﬂgﬂlﬂ-ﬁ of Kamataka,

I POPULATION AND URBANISATION
l.—___—_—___

1. The Growth rate of population means-
a)  difference between the growth of male and female

(b) difference between the population of urban and red

Areas .

[SSC CGL Exam, 201}

No. of births per thouzand PeErsons
difference between birth rate and death rate

[SSC COL Tier -1 Exam, 2014

The Birth rate m

@ 10 Wi BISures the birgy during an year per
[
() 1000y, (&) 1000 populace

Expl- The By = [SSC CGL Exam, 2008]
3 ,.
wm:r:" of the g e 5 Ko 73 e birh
1l

bowing |
4 Tribg) quuEIBtE];Tﬂ Sate has the most N& d

) Mﬂdh}'l Fmd!gh
thar

b)) Assam
(@) Orissy
[SSC MTS Exam, 201




census 20
iup:f""ﬂ I I; M.F. {153] 5?34} Hiy

of Scheduled Tribes, gy the

g}ﬂﬂﬁﬁ'}' are second and ﬂ'iir:il,ar'li.:hm {Iﬂ-smzi;a}fﬂtﬂ
Lion For
'\':]y_ﬂ ETin

| ;

ﬁ:ﬂdhﬂm is 13363573 and IBR434]
“purlﬂ-“ of population, whicy ol the fiy)

| M:D"""-":t meaning of “Sex-Ranjg™. =
, wumber of males per 1000 lemales
¥ wumber of females per 000 majpq

ie} Number of female perl 000 populge,

lm""'L"g 'L“’I:ﬂhﬁ

() sjumber of female per 1000 sample of p
[SSC (10+2) Exam, 2012, 55 o
o & SSC CPO Exam, 200y

@Dm the number ul‘fmal-:apu 1008} mabeg
mDﬂ““'-"' of population in Indja s defined as- I

jal Number of PErsons in an area of one mile SEjuare
) Number of persons in an area of ong lakh mile square
je) Mumber of persons in an arca of one lakh km square

(d] Number of persons in an arca of one km square

. ()

Tl The Density of population means the number of persons
pedirg in an area of one km square.

i In India, the state with highest density of population in
ane km square js-

i) Kemlz (b} Uttar Pradesh
{¢r  West Bengal (d} Bihar
im. (o] [$5C MTS Exam, 2001, 2002, S5C LD, 2005]

[33C Section off Exam, 2006]

Egl- As per census 2001, the state with highest density
d poculation was West Bengal (903) According 10 latest
lse of census 2011, Bihar (1106) has the highest density of
E;Hﬂllm. i

% In India,the state with high Dense Population is-
() Uttar Pradesh (b) Bihar

(¥} West Bengal (d) Haryana
i, i)

[S5C FCI Exam, 2012]

Eapl- With an average density of 1,102,Bihar now Fmﬂ;:_?ﬂ
of West Bengal with 1,029, or Kerala which 15 at i
with 859, Uttar Pradesh occupies the the fourth spat nsw
h‘um" populated state with 828 persans occupying €
e within its boundaries.
At per the census 2011, what is the
ook (k) 352

&) 332 (d)

density in fudia-

% wB
| nd the name of the state whick lias the lowest density-
8} Meghalaya tht Mizocam
1 Arinochal Pradesh {dy Sikkim

Hul'll, lth

i [55C OGL Expm, 2004]

Espli=

wan in 3 P the data of the census 2001, Arunachal Pradesh

which 1o 17 . Vih lowest density, Its density was 13 in 2001
15 17 a5 per the data of census 2011.

0. Accordin
E 1o census 2001, the highest dens
Population is In the state of- ¥ e

2] Maharashira fbY  Uttar Pradesh
{c) Bihar (d) Del
A
ms. (d} [S5C CGL Exam, 2006)
Expl:- As per Census 2000, Delhi ranks first with density of

9340 among all states and UTs. Delbi is still on top as per the
census 2011 dota,

1. According to census 2011, which state records the highest

densiiy-
(o Dell (b} Chandigarh
(c)  Puducherry {d) West Bengal
Ans. (a) [S5C (10+2) Exam, 2011}

Expl:- Delhi possesses the highest of the population density
2011 among the states of Indin having a statistics of 11,297 pes
square kilometre,

12.  Which of the following is called the biggest leap forward
in the history of Indian populztion-

(al  1921-1%31 (by 19d1-1951
{e)  EOS1-1961 dp  [61-1971
Ans. (d) [SSC MTS Exam, 20E]

Expl- During 1961-1971. Indian population recorded the

highest growth rate.

i1, Which decade recorded the lowest growth rate in
Fupdllliul ol Imddla-

(by 191021
[9%1-41
|50 CUL Exam M%)

{ay 1921.31
) 1941-31 i)

Ans. (b}
Expl:- In 1911

Pumﬂ:-ﬁnu of India.

14. The Indian state W
{n) Haryans
{e) Linar PFradesh

31 recorded the lowest decadal arowth of in the
[t showed o decling of 0, 31%,

ith lowest sea- rutho is-
iy TFunjab
{dy Armachal Prodesh
[SSC CHSL {10 34 Exam. 2010

B79) hos the |owest sexs

201, Haryana |
consus20TL, A and Diu (618) hus the

| states in India, Daman
[ ETOries.

Expli- As Pl

1 .t
ralio AMONE o A




i _ census of 20010, Unar Pradesh
- ex-  [Expl- AccordinE 2 harashtra and Bihar were secgng bay L
fgsl in minimum § lnl:iﬂ'l'l-Ma ar 11. all thre ang g
I5. Which Union Territary ranks [ fargest POTRE,  per census of 2011, & TAICE States gy
ratio- respective Ly e
pm’.i"lm'
me
0 Dadmadiiean Sl ::: which state of India has the largest PEFCentyy, i
(b} Chandigarh poors- b) Chhatti
I:C:I Andnman amel Wicolar |'§!I:I|'HL‘| {|I:| Bl.halr { } il iﬁLafh
, (d} Jharkhand
(i Damnan and Diu Exam. 2012] {¢) Omssd SSECio R
: Al i
Ans. (b) [S5C (1{H2) EX ' Ans. (© kam, h}nl
1 Lxpk- According to census 2011, Chandigarh is at the fm'-""'j 'E:ph* _--‘j
\ . | rank in infant scx-rtio. ? L Poverity (% in | Poverity I"-E-i?
f i, Which s {{r;imt:;m H"I]ufl'":' ol 'ﬂ[hﬂ as PEr thedr Snt'ﬂ' 1&0‘-“5} Iﬂl.l-l]}
population - _ _ 32.6 =]
{a) Greater Mumibai, Dethi, Kolkata, Bengaluru, Chennai Orissd e , -
: ; i ; aid 337
(b} Greater Mumbai, Dethi, Kolkata, Chennai, bengaluni Bihar —
{¢) Kolkata, Grester Mambai, Delhi, Chennai. Hyderabad - Jharkhand 303 i, —
{d} Delhi, Greater Mumbai, Kolkata, Chennn, Hyilerabad Chhanisgarh_| 40.9 n
Ans. (b) [S5CCOl Fyam, 2] 71.  What pﬂ'l:i'rllﬂgf_ﬂr Indian population is below p.,.;-;
Expl- Az pet the data of census of 2001, line-
Sequence of cities ane as followed- () Less than 3%
l.  Greater Mumsbai (1,84,14.288) (b} 3P 1o 3350
2 Delhi(l,63,14.838) fel More than 35%: bur less than 30%%
= 3. Kolkaws(1,41.12.54%) (d) 0% 1o 45%
d . '
4 Chennai Ans. (a) [SSC CPO Exam, 17
5 Bengaluru - 1
Expl:- 27.5% of otal lats ia i puveriYy
17 Which of the Indian state recorded the highest growih | loe POpClAPRL- G didie S helow J
k. rate in celsus 2001, 17 A di
£ ; S According to census 2001, th | grasth
:_ (a} Gujars (k) Manipur rate during 1991-2001 js alrmml:‘nnruge annual gre
F () Magsland (d) Haryvana . (8)  L22% (b) J.N%. _
Bl [SSC CGL Exam, 2006) € 2.13% ) 2.34%
| | Expl-Nagaland was the stase whi : Ans, (b -
i of pomlaion. While sevmpm oo | | D [SSC MTS Fxam. 1V
Meghalaya recorded the highest nb!h oF eensts 3011, Expl:- as per the f o
growih rate of population, BrOWth Tate of o ;Eultﬁ of census 2001, the averag® .-.m
M. According to census 2001, wha Was the pereent m; 1.33%. S0 the g m-l-mm“ wes 197 which is nearer to of
population in total population below the age of oe = Hrect answer wil| b option B, __“.J
(a) 73 Ty B According
} by T Py sty !'.:;] I!“' data, released by housing and wb#
) 63 (dy 60 - ' P Ky VRN ministry, which state B W
Ans. (5 W N im by of slums-
it : |$5C CGL Eugar 3 ) D P
. [EIFL'-In India’s populstion, the sh il e M i (b West Bengal
» Hi Shase ulf s *
of 40) Popilation, dharash
1 :: : ur::rm beluw the Ans. (d) i {4} Andhra Pradesh "
- According (o the cens - 20l
of Indla demagra mr:;::ﬂl,whkh was the Iargost spary m [SSC { 10+2) Exam. =
{8) Maharashira (B) Bihar m:';::lm Ministry, A:;::‘“ by housing and urban P'?"'u:: .
(€} Uttar Pradesh d) West “miqun Slums. Mar Pmdl‘md:sh {(76) has the ma% b |
£4 Anms, {c] fl m[minnd Mal esh (65) is second En"-ﬂ"""f" 1
ES5C Tax Aggy, 2009) . EIWT data of Censug o “rashira (62),
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. which palr is not twin-ciips. ;

1] ¢ Durgapur-Asanzol ' by H

& i [katn-Hawrah Nmﬁhd.ﬂwumnﬁhﬂd
i AR () Delhi-New Degy

uf ,Ip {d} lsgc Cho E:l::l_rn_ EDUH-]

— Hydembad-Secunderabad,
Nh J 1 i i F"l-ll-."l.ﬂ.nm wf
‘MHI“W]‘ are tWin-city while Delhi-Nog Delh i “:“' :

. (c) id) 914
5,
’ {d) [SSC (10+2) Exam, 2011]

E
LHE:;?I l;!:'l':rlhu: latest figires of eensus 2011 child-sex ratio in
but currently it is 919 ps per the pew data,

30, Whiel ol the fallawi i
Hewing is mainly responsible for the lack
il female population kn India- g R

N7

J] g, The mest literate union territory in Indig . (8) Political Fators (b} Economic Factors
- (o) Delhi (b} Lakshadweep A PN el P {d) Superstitions
() Chandigarh (d) Puducherry iy [SSC FC1 Exam, 2012)
pns ) [SSC Section off Exam, 2007, |:':,,':.'; pmup,',?lﬁ?;j“’;; largely responsilble for the lack of
pepk et pﬂ:; x ﬂ ]?i:t?mf =001 .I'md :Emi both,| 31. As per the data released in July 2011, what is the
mate 15 91 8% mion temitory in India. hs percentage of population Nving in Indian villages-
[ercy e (a) &0 (b} 75%
o According b the latest fipures, :H.tl.‘l'll:j' i I maia is- (&) 708 idy 60
. 5) 63% {h) 65% Ans. ) [SSC FCI Exam, 2012}
U (¢} 67% (d) 68% (Expie
[SSC CGL, 2006, S5C Section off, 2007 :
. () ! Censea 1901|1951 |z2om
Expl- As per the census 2001, India’s literacy rate was 64,8434 Rural (%) w2 1827 leag
filmost 65%). The male literacy was 75.26% and female literacy Urban (%) 108 73 312
e was 53.67%, According to figures of census 2011, literacy -
|ne of the couniry is 73%. 32,  As per the dara relased in July 2011, Sex ~Ratio in Rural
I 17, The rate of population growth is high in India because- Arcas ks less than urban areas-

Birth rate and death rate both are high
Birth rate reduces very less in comparison 1o death rate

. (a)
(b}

b fc) Mortality rate is decreased but birth rate is still ETOWINE
(@) Mortality rate is decreased less than birth rate-
Am. (c) [55C CPO Exam, 2006]
Expl:- The rate of population in Tndia is high because growth
| fiz is higher than the mortality rate. So the answer 18 option C

B What b the main reason behind the faster population
growth in India-
' ﬁ.@ﬁlﬂhﬂlﬁ:m&Lﬂu Mortality Rate
(5} High Binth Rate and Low Mortality Rat¢
) Rate and Faster Monality Rate
. nd High Mortality Rate
rssC CHSL (10+2) Exam.

2012

{b) Four Times
cdl Two Times
[55C FCI Exam, 2012]

{a}) Five Times
] (=l
Ans. (b}

Expli- In 2001, the Sex Ratio in India was 927 which is 919 as
per cemsus 2011 In urban areas, the sex-ratio is 923(census2011)
which was 934 in 2001, and sex —mtio in urban areas is
905(censns 201 1 pwhich was 906 in 001,

33, As per the Cemsus 2011, which state has the lowest
population in India-
(n} Manipur

j¢) Puduchemry

Ans. ()

Thres Times

{h] Tripura
(dy Sikkim
[SSC ( 10+2) Exam. 2N 1]

2011, Sikkim (6,07,688)
e Ag per the figure of Census 201L, .
::;F:he lowest population while Lakshadweep (64.473) 1 the

i Siory in population
3‘:“1!:1::?:!::#““1 nfp;:mu.llﬂ 11, which of the following
- stafement Is mot correct-
ja) Overall [ircracy mie has .-m;r.

{b) Kemla's literacy rat is the highest

{c) Bibar has the lowest literacy rals- |
Hrerates mabe are more than female

2012, §5C COL (Tier-1) Ezxam,

{d) Inihe numbser of
Ans. (4 [SSC {10+2) Exnm,
2002]




(4

rjull:ll-'f-‘l'ﬂll licracy mie

Expli- As per the census 201 Lit is < (AL OVFEC g the

has risen, Kerala has the highest Hiercy
lowest,

15, According to the figure of census
territories Is last ranked in child-yex ralio=

2111, which of the unicn

{a) Dadar and Mogne Haveli
(b} Daman and Diu
(c)  Chardigorh

id}  Andaman and Nicobar Islands .
Ans. () [SSC CPO Exam, H12]

Expl- As per the latest data of census 2011, Chandigarh is ol
the Jast rank in child-sex mtio, child-sex ratio of all ITs ans a8
fol lowed-

Dradar Magar Haveli - |924

Draman and Chu - | 909

Chandigarh = | 86T

Andaman aml Micobar Islands - | Y

Dhetha 1- | 266

Lakshadweep - | %0OR

36. [In which state, female literacy rate is the highest-

{a) Kerala {by Mnharashirn
{ch  Tamil Nodu (dd West Bengal
Ane, {a) |55':'L' MTS I':'-::|.1|.'|1 3I:I|-1-|

Expl:- The liceracy rate of all of the above stabes are s
followed- '

Kerala-02, 1% ~

Mahamshim-759%
Tomil Madu-73 4%
Wiest Bengal-70.5%

-

3. According fo the fipures of Census 000, which state

has the maximum difference in the male and Temuale

Filersoy-

(i} Rajasihan b Kela
kh  Unar Pradesh

Ay (o

fel) Madhya Praded;
IS5 O By, 2012]

Expli- Rujasthan has the maximum dify

: EFSHCE iR 1
female literacy rae ke and

Literacy nne of states are i, lillwing-

Stales Male lit. Rate | Female lir, Rage ]

Rajasthan RS 1%, 51.66%

Kerala 9602 91.9K% |

Uttar Prudesh | 79.24% S9.6% |

Madbya Pradesh | 80,534 L0275 s
— |

Rakesh Yadav Readers Publication

—
-—-'-_I,—;;E;;_ States .
e 1. | Terai
A. | Bhil —
-E-' Thart 2. | Nilgiri
C. | Gond 3. | Bastar
['.l. Toda 4. | Malwa Ty
A B C b
(a) 4 1 2 :
by | 3 : 2
© 4 2 ! 3
(W 3 ' z 3
AN, {.} {SSC““I‘E} hmm:.
—_—
Expl:- j
Tribes State
Bhil Malwa
Tharu Tera
Gond Bastar
Toda Milgin

I,  Kukiis relafted to which state-

fay Macaland (b} Mezhalava

h Manipur (d) Tripum |
Ans, (c) |SSC FCI Exam i

!-.:::l.ph- Koukiis a tribe in Manipur, They are spread over inkrd
Easternncia, North-Western Myanmar and HBHE]H@_..-

3 Where are Khasi and Garo tribes mainly fousdin
Ak Meghalaya

{b} Magaland |
I.’:b r'rlli'_'LI[.'||'|'|
Ams, {a)

() Mamipur
i i
§SC CGL Exan|
(sSC COLEuR T

Esple Khos: z -
’::T;u:h;“ “nd Garo are mainly found in Meghalay® Ly
32% in total population of M:W_}

1. '
India's biggest tribal Eroup is-
2} R
hitl ih) CGond
e} Santhy {dy Tharu
Ans, {h) L

:ilfi
[SSC (10+2) EO™ i
Exphi- Gong i, _"'-H’I';;

Hl-l.! I grinyag . : T.h e |
M stites of Mygl, Egest tribul group of India. ThEY
Andhes Progay, ¥a Pradesh, Orissa, Chhattisgarh. p.jarﬂ""; |I

|

5. ‘l‘!'hi:-h I,i thl:'

@) Gapg

|III.L'|:4.-3I tribe of India- |
th) Toda
(i Clhenchu

<] Congd




w e ple are Adivasi iy

! 1 peo i people of .
Qﬂﬂ ~.}f_ﬁ.m[h:a Pradesh: Traditjop Emanh:iéj‘;m' “pread
BNEE in an

MOZEROUS group “Mangolap» found jy

; ; are ho
b
5 5
5

outh-Region
uuﬂ]gm-f.'{:ntrill Region
Western Region

[SSC FC1, 2012]

angolabs. are domiciled in north-east India, The

: from Chila and Magnolia and resided in Eﬂr.ii:r:
il‘#:d Pradesh, Nagaland, Manipur and Mizoram. They
f - in height with brown skin, less hair on body, with
eSO

Why hmre {he incidents of flood risen in India recently-

In India, the latest addition In the st of UNESCO's
world heritage site is-

(3} Quiub Minar

(b  Mumayun Tomb

(e} Temple of Khajuraho
(d}  Hed For

Ans. (d) [SSC Tax Assr, Exam 2007]

Expl:- It wasg designated 8 UNESCO World Heritage Site m
2007 a5 part of the Red Fart Complex.

Built ; 12 May 1639 — & April 1648; (& years 10 months & 15
days)
Architectural stylefs) : Indo-Islamic, Mughal

Location : Delhi , India
5, Which hill station Name means “The Place of
Thunderbolt™-
2]
(@) Shilong , ° ™\ () Udhagamandalzm

o S T !
{e) Canptok, 3 -(d) Drarjecling
Ans. {d) ./ [85C CGL (Tier-1) Exam, 201 5]
v

o4
lyo known s the Place of Thunderbolt

. (i) Risein annual rain E;fmﬂfg'::g;: and storm. It is made of twe m';'t'-li ::
() Deposition of silt in dams Tibetsn language-Dogje (underbalt) and ling (8 place
Deforestation in drainage zo0¢ | located in West Bengal.
© e 1i =y ine place is in the Hst of UNESCO
{d) Wome of the above "2l % Which of the followiag p
[85C CGL I'.TTET-B Exam, 201 3!,?-’ wWorld Heritage Sites-
Ams. (€} — < an-Velha Cathedral
e In the arca downstreal 10 fVErS, (a) Gon e
- F, i -ﬂf in - ; - .aTi_'I"I,ll'I'I.ﬂ:E- mp =
Expl:- -D?““-F“t“,‘““ e ident of floods. §oil has been by Tieupati e, Halchidy, Kamataks
i has suffercd & 1ot OF WELEE o s become shallow (¢) HoysaleswarsTemps: 2
;ﬂdﬂ:;:‘f“ﬁ?“'ﬁ";;“ﬁg flnod due to their shalio® (d) Kumbhalgarh Fort Rajas E——
normal rain too, rve e, i S
e S = Ass. ) : ESCO world hent=g=
1 = enic in India s due t- el Goa-Velba Cathednl 5 1 s
I The problem of arsenic.in &I e e
{2) Owerex lﬂj’miﬂﬂ‘iﬁpﬂjfrﬂﬂ water in affec FitE: Tolowing Indian place bias been inducted Ia
a -
(bl D"l'mphimiun of arsenopymite in land -, mf;;ét::;:d e
: oo of coal in Bihar and Bengal \ Japlar-hantan Ugjain
. Qroploiues d water io affiected areds iy Jatar-hantar Varanas
L] T a = 1 +
@) Overexploitation of groune ™ © 1) Exam, 2014] ) i Mantar, Delb
¢ cGL (Tier= () Jant ’
[55 — i; _Ju'-fl."i'ﬂ'!lmf- ]ELPU' :Dlll

Y Which of the following has
park by Indian government 0
Reel-

Woade . Fl—aadare I’Ilb"ﬂtmn

[$5C oL (Twr-



mil
8. When did India adopt the International Tomd
Warning System-
{a) 2004 () 2005
(o) 200 (dy 2007
Ans. (c) [S5C CPO Exam, 2011]

(cy High population density -

{d} {ndustrial and Water pallution
At 1) [ssC ':Iul-lj E

. Hich density of MJHIIEH:"H'I in MI]dim — :
t;l:l-ll:lnd lbl-‘E:han change. It is happeni s :tt:;i‘

Expl:- India adopted the Intcrmntional Tsunami Wambtg System

cCOnOmic development. _-'-“'----\_\q

in 2006, 11 s relased o Gadides fenlly. [t isconmesly K181 | - (IR ), esjoal GeogTaphy-a i
as 'Genus Gedus'. e ——
hips for Inding —— e
1a, ;:;h‘:_h of the following shipyard bulids ships RSE AND SO S _ 5 |
{a}) Mazagon Dock ——- . T !
(W) Cochin Shipyard I, Milky Way Galaxy was first seen by- |
{e) Hindustan Shipyard, Vishakhapateanam () Galileo (B) Martin Schmig
(d} Garden Reach Workshop, Kolkatn (e} Marconi (dy Mewtoen
Ans. (b) [SSC CPO Exam, 2005] 00 1q) o o [SSCTaxAgy Exam, g
Expl:- Cochin shipyard was established to help Indian mavy. [t | - [0y 4 cearding to Big Bang Theory propounded by |
builds ships for Indian navy. — | | Lemaitre, 15 billion ycars ago, the whole cosmie mhﬁ,!"“"?!
11.  'Where is India’s Satellite lnunch centre- in the form of a single dense mass ingot and afier i
A hrmadabad was scattered everywhere, This substance can be serm by uy
(®) e iy the form of galaxies. A galaxy is a huge system of billiss ofep! ;
Ang, [g) [S5C (10+2) Exam, 20 Lii-] make the universe. There are almost 1000 billion gakaxiss T

Expl:- India's satellite laumeh centre is located
{Andhma Pradesh)

12. What is the pame of resenrch station Ju::l%}fﬁ‘?mim

i Shelharikota

established by Indlan government-
(8) Dakshin Gangotn A&t%u 1
()} Yamimotn (d) of thess
b p
Ans. (a) 4Y (M T55ccro Bvam, 2010)
was established in 1983-84, T

India's first resenrch station of India in Antractica.

L)

13. Where Is Bhabha Atomic Research Centre-
(a) Delhi
{c} Clennai
Ans, (h)

{b) Mumbai
(d) Hyderabad
[SSC (10+2) Exam, 2015

fa)
(e} Drought and flocd  (d} Poverty Alleviation

Flood (b} Disaster Managesment

Ans, (m) [SSC CGL Exam, 29 2]
15. The reason behind ihe declining elimaie of Maldives 15
(2} Coatiiuous soil erosion

(k) Mone of these

Rakesh Yadav Readers Publication Pwi, Ltd,

galaxy in which our solar system is located is Yenoram as M|
Way. Galileo first saw it in 1610 with the help of telesoope b
2005 spitzer space telescope cleared all the myths about is
showing its shape which is in barred spiral shape,

1. Who founded the word “Geography™-

(&) Tolmic {b) Eratosthenes

{t) Hicatus (d) Herodotus
Ans, (h) [SSC COL Exam 2

ar

R

rﬂ'."ﬂmmhr‘.’_ ]
Pler’s Planetary Motion Law tells that I

quare of the period is equal to

(2] S:nﬁ-mag'm- axisg

(B} Square or SCIi-major axis

(€}  Ratio of the cubes of semi-major axis

{d}  Founh of semi-major axis
Ang, ()

i
[ssc Mrs Eun

$quares of the periods of any 1% ol
nfﬂmmbuqflhﬁ:m
::} Sth (b) Venus
i {:} Son (d) lupitar )
[SSC Section off B

¥




mmﬂdpnfdut,mlium

EH--'"I:_" Miwve

P e o 880 peat PO Thiy am the it of

““h of the fﬂ]hﬁfﬂﬂ i% not I.'Elll‘{-d to solap S¥Elem-
5 3 gmall plaset by Comers
plaset (d) Mebuly

(8SC CPO Exam, 2008]
Fﬂh“ﬂﬁhﬂ. is an interstellar cloud of duyst, hiydrogen, helfim

jonized gases. Their formation had beeg traced back
P 1o, billion yoars
pulsar #Are-
grars moving towards earth
). Stars moving away from earth
i€ Rapidly rotating stars
@ Stars with high temperature

s 0 . [SSC CPO Exam, 2008]
pulsaris a celestial object, thought to be a rapidly rotating

10, The largest planet of the solar system Is-
© {a} Earl (h) Mars
ich  Sahwm fd)  Jupitar
Ans, () [SSC CPO Bxom, 2000, 85C Tax Asst. Exam, 2007]

Expli- Jupiter is the fifth planet from the Sun and the largest in

the Solar System, It is u giant planct with a mass
that of the Sun, bui two and a half times that of all the other

in the Solar System combined.

The four largest planets of the solar system in descending
order are-
{a)  Jupiter, Mercury, Saturn and Uranus

(B)  Mercury, Jupitar, Saturn and Meptune

(1 Jupitor, Saturm, Ursnus and Meptune

{d} Jupitar, Mercury, Saturn and Neplune
Ans. (e} [$5C Section off. Exam, 2007]
12, The number of s:fgl!ri:'}f mercury is‘are-
o N 1

that emits regular pulses of radio waves and other 0 0 e
sgnetic radiation. ' () 2 1 N R L
s The distance between earth and sun is maximum on— Ans. {ir,‘.l,,__“f“--.._.. [$5C CPO Exam, 2008]
i Jumary 30 (hy Dhezcuibe: 30 Expl:- There are cight planets and their satellites —
(©) Seprember 22 My o | Planet no. of satellite
ies () [SSC CGL (Tier-1) Exarm;2013] ~Frrano =
Expl:- On July 4%, the distance between earth and sun sl Vens it
. While on January 3, they are at minimum distance. Farth 7
Lﬂ:hﬂiﬂmlmhwwnak.ﬁ.ph:&ﬂn and Perihelion. _— 5
1 Whatis the total number of planets ive'ariund the sun- Tonitar =
(a) Five @Tﬂ:ﬁﬁ'r Satum 52
(¢} Seven &i;ﬂrlQ\Sﬁ Uranus 27 _
Am. (b} [SSC CPO Exam, 2015] Neplune A4
! 13, Which of the follawing planets do not have satellite-

i~ 8 planets revolve nl-;mnd'm:'sun which are Mercury,
s Eavth, Mars, Jupites Satum, Urmnius and Neptine.
%  Which of the following is the largest planet-

{0)  Jupitar (b) Venus

) Satum {d) Uranus
A (a) [$SC MTS Exam, 2008]

T diameter 142796km
| diameter 120660km
s ijmﬂhﬁ- :
¥ 'ﬁmhﬂ-‘r Hﬁﬂﬂiﬂﬂ
iameler 12750k
meter 12104km

- GTETh

er A8 7Ekm

pyt. Ltd.

o

S

(2) Marsand Venus (b} Mercury and Venus

{c) Mars and Mercury {d)} Neptune and Plute
Ans. (B} [$SC MTS Exam, 2013]

Expl:- Mercury
enough to hold anyth
Venus has a greater gra

doesm’t have a gravitational pull powerful
ing else in orbil around itself, ... While
vitational pull, it still faces the same

problem.
14. Which of the following plamet does not have any |
gabellite- |
(a) Mors b} MNeptune .
hdercury (dy Plubs |
Ans {S} [S5C CPO Exam, 2006] it
- jonal pull powerful !
[:- Mercury doesni have a mvlmum
E::I;F hunmmw@_ammmnmmn




i

15, Which of the fallowing selentist
planet has an ehongated pat

(a) Galileo Bt
(c) Copemicus (d) Kepker

Ans. (d) -
Eﬂ':-mwhﬂymwthwpimﬂhﬁlﬂ

path around the gua. -
16 How manys days inon year on mercury
(a} 356 {b)y &8

(c) 300 (d) 36
Ans. (b) [ssC(l

ssc (02 20171

o2l [:-‘_:-::m,lﬂ1 5]

mcu]rd;jquﬂ 1o 5% days of carth.
{7. Which of the following is not 8 satellite of Jupitar-

{a) Europa (b} Ganymede

(c) Callisto {d) Deimaos
[§5C CGL (Tier-1) Exam, 2013]

Ans. (d]

i~ Jupiter i the largest and fifth planat from sun. It has &7

nanral satellites. Deimos i the satellits of mass.

18.  Why sturs look more in west tham east =
{a) Universeis meving from cast 10 west

(b} Earh is moving around the sun o

() [Earth is moving from east # wesl

it in which of the following planey |; .“.h t
k!

31, Theor
sua=
l:}. gatum (b} Jupitar
=]
{dy Uranus
[SSCLDC Emlﬁ]
planet from the Sunand the s
et in the g olar System, after Mercury |
g following celestial bodies Ny
{b) Uranus
‘(c) Neptune {d} Pluto
Ans, (d) o Al [SSC Tax Asst Exam, gy

stion Pluto s als0 i the options. As Pluto s b
from the list of planet, so when it comes to planets farthes
o earth then the answer will be Neptune:

13 &Qﬁus: of Jupitar is almost-

'-q{af Tenth of the mass of the sun

()] Theussand of the mass of the sun
{c) Hundred of the mass of the sun

{d} Halfof the mass of the sun

(d) Earth is moving from west (o east __2;;
Ans. (i) [SEE;.F(}[- %E’*I] m, 20M2]  Ans. (b) [SS-C{]I:}"E} E:'IE.DL!“‘.
Eﬂmnﬂ?ﬂﬂﬂtﬁﬂﬂsﬂﬂmmmmwﬂf :F?F]"{"I‘“* is _t_l;lz:'I' & plar of the solar I:
T | l-lrﬂ-l.lh .1-.r|-1_- i - iz thousand ﬂf‘thﬂ"lﬂ.ﬂ.ﬂ. ; ﬂ'fthﬂlﬂ_ﬂ]_. b

. Ina ysics, what,is the name of hole i
e wulls st - n oufer space 24 E:;:st;ut;u?mh;ul unit i the average distant et
of the followin
{a) Black Hele {b) Ozone Hole L]
(c) Asteroid Belt {di wmc'u:H;; (2)  Earth and Sun (k) Earth and Moot
<A 10) [SSC stmnﬂnph,mme_nmmﬂf‘

{a) Earth (b) Mercury
(c) Mars (d) Venus
Ans. (b) _ {SSCMTS Exam, 201
4. Mary

s e 6. Situm
e I I R

Rakesh Yadav Readers Mublication Pvi, Ltg,

SO Ove sl T e i o

istance of almost 149597870, 7km. It is the avenes =

:mm arth and the Sun, 3 '

{:rhi?if the brightest planet of the solar $¥51°™
upitar M

(c)  Uranug ol




ich I8 the ROTESt planey jg gy, -

(d) Pluto
[SSC (1042) Exam, 2011

s 6
= issimilﬁrtﬂ.f:ﬂﬂhinﬂm‘miliﬂwlﬁdaﬁ”sﬁﬂ
pne 0 £

il Which planet shows the phases like moon-

() Vemus () Pluto
{er Jupitar {d) Mars
A (1) [S5C MTS Exam, 2014]

g

Expl:- Venus also shows the phases like moon. In all planeis,
nercury and venus ‘the phases to show. The surface of venus
i not be seen because it is covered with dense clouds. There
o sharp comered rocks on its surface which were the result

) o
# g doiar ® Sy TS |
EF 5ig
: i3 | ) U“IIM & 0, which is ik losest star to carth-
) " 65C Secton of Exam g Vega (b} Sirius
LK Aggy |5;,,;3ﬂ_“7 e ) Proximy CemtAuTi  {d) Alnha
oo © pha centagr
3. [S5C CGL Exam, 2010)
:'h: Surfnce temperature of sun s measured-
T 6000 ¢ (b) 120000 ¢
(c) 18000 ¢ (e} 240000 ¢
Aps, (g
s {a) [5SC CPO Exam, 2006)
Expl:- The temperature of surface of sun is £0000c. While the

mﬂaﬁm of ifs centre i 15 million centigrade, The pertion

'E‘hcr mudmﬁmufmisdlﬁdgdiumpﬂu

S auler la:rm are the Photosphere, the Chromosphers, the
ramsition Region and the Corona. The surface of sun is called

i1 Iphmﬂﬂﬂw#. atmasphere of sun is called as Chromasphere,

It is & layer above tropasphere. Corona s the outermost layer

of sun's stmosphere which is found over chromompheres. Tt =
fead over in millions of km,

3. The outer “t.;’.“ _1"!‘1,-'!!& of Sun is called as -

[a) Eﬁ:qrmsphtﬁ b Troposhere

5 Corota (d) Lithosphere
Ans.)\(e)/ : [$SC CGL (Tier-1) Exam, 2011

Expl:- Ouler most layer of Sun is Page on corona. [tis not vistble
from earth Only during total solas eclipse we can see this.

T,

T

of volcanic eruption. It is similar to earth in mass and hape. It
looks bright in moming and evening.

solar or lunar eclipse-

r"'.. :"._I..L:Ir'-.
@ Fve o () Two
",
(c) Four ? 1‘=1::.1}r Three

B, Inhow many parts the !hlﬁﬂ'_!lr:_.ng-ﬂlll':i!.i divided during

35, The encrgy of sun is vested in which of the following

I].l'uﬂ'-.‘!!‘
(s) Photoelectne Emissio

() Nuclear Fission
(e) Nuclear Fusion

M. Which star is nearest to earth- ;
() Sun (b) Alpha Centaist

(&) Pole star

__ punlication

h W,

¢ Emission
(e (S5 Tax Asst Exam, 2006

251



k: (e} Gravity Method
Fossil Diati
Ads. f:—T:.]‘:p o (SSC CGL Exam, 2010]

i ing 18 a technique
Expl:- Radiometric Dating or Radicactive Dating is 2 .
used o dﬂtmn;auﬂnh s:-.:gh as rocks or carbon, It:;: "r:l}dlgﬁ
of dating geological s;rmnn:ns by determining s
Broportions of particulsr radicactive isctopes present i

sample,
31 Which of the following is called Red Planel-
4 iy Veous by Mercury
i (&) Mars (d} Jopitar
b Ans. (c) [S5C CPO Exam, 2006]

Expl:- It is fourth from sum. It looks Lke red so it is known 83
red planet, i ;

south of the Antarctic Circle, when the sun rema;

i satellite moves e
Expl- The Geo stationary ot
west to east in 24 hours of dura
In which of the following areas,
b seen-
(1) Intropical areas
(b}
()

nd tamp h‘
the “Midml{ht 5
Mg

43

In temperate areas

Aretic and Antarctica circle

& y Anywhere during solar eclipse

Ans. (¢} [S5C Mr3 Eﬂtnl
73 idnight sun is'a natural Phenomengy thay

ﬁ:‘:wwﬁw months in places north of the Arcg,

FANAR 108 Vigihy, .
; idnight. It can be seen in Canada, Russig, Swed
;m]; D%Emark,-ﬂﬁmru:r. Finland and Icelang :

M. Answer the name of first asian country to reach the orbit
of mars- i

{2) Japan
(c)  Pakistan (d} China
Ang, (h) [S3C {10+2) Exam, 2015

Expl:- Indis is the firss asian and fourih
Teach the orbit of mars.

Russia and European

(t) India

nation in the world o
Three other nation ‘are America, Soviet
SpAce apency,

¥
9. Which of the following is calleq “Blue Planer™- “h‘;\ j

.':.u {8) Saturg

b
(b} Earth ,{:.}l ~, )
W
.

(e} Jupiter {d) Mars b
e, Ly
Aps. (h) g [eaﬂrs;grﬂn;rz;.m"m.:ﬂn]

Expli- Earth is called a5 mig Pl R
: l:ﬂismvmdbj"‘met H“mmmwﬂ““

't 0. The light of sup tflfh‘*g ﬁugﬁfﬁ timie ta reach 4y earih-
5 ()  Shours 20 secondgt- () Sminutes 24 sErands

(e}  Eseconds {d) 20 seconds

#44. What is the meaning of “Midnight Sugp».

(a) Ewening lighes ,q'f‘
(®) Risingsdn » 4 Y

(d) Shy}.\lfg of sun in Arctic and Antareticy Circle

Expl:- The midnight sun isammal_ph:mmm:hum~
‘ ﬂuﬂl@:;m:rmmuﬁs;inplm north of the Arctin Circle o
of the Antarctic Cirelects g
45, - ‘Messenger salellite has heen launched by NASA for e
study of-
@ Mercury (M) Venus
(€)  Satum (d) Jupitar
Ans, (a)

[SSC CGL Exam, 201

the sanp time
aroungd the carth

It Moyes Wwith
d the gyn

IO rotate on its axis and mov

e same speed at which canh M0




a tw.tl-l“h‘“ (dy Black Hole
» [SSC (10+2) Exam, 2014)
(g ‘s umbral shadow is ol most 267 km seross

e T2 Totality lasts at most about 7.5 minutes, with the
ﬂ,# cwecping ra.pidlju'h west-to-cast, Only observers in the
#h‘#,w | solar eclipse. Observers in the penumbrm see

Umbia

Sun
= o tides are-
() Strong (b} Weak
() Moderate (d) Very Weak
. () ~  [SSC{10+2) Exam, 2014]

fxpl- Lew tides are 20% lower than the normal tides while
bigh tides are 20%s or more higher than normal tides.

E Which of the following is cansed by the combined effects
of the gravitational forces exerted by the Moon and the

Lun on sea levels- x

e

(b) PRunofl .

{a) Currents .
{c) Tides {(d) Waves f?
has, ) [SSC M qﬁmﬁ,zﬂm]

Expk- Tides are the rise and fall of sea levels caused by the
combined effects of the gravitational forces enerted by the Moon
ind the Sun and the rotation of the Earth.

H. Tides are caused hf”th&'m‘niii:thn;‘t forces of-
(3 OF carth on moon””~
()  Of earth on sun
(c) OF sun and moon on earth
(d) Of moon on earth

[SSC (10+2) Exam, 2011]

L When does tides rise in sea-
() Only on lunar day
) Full moon and half moon
e} When moon is on first phase
(@) Only half moon
by

(SSC CGL (Tier-1) Exam, 2015]

“¥8eh Yaday Readers Publication Py Ld-.

Expl:- At a full moon, the earth, moon, and sun arein approximale
alignment, just as the new moon, but the moon s on the opposite

side of the earth

IIII'-.--:"'- -t
o e ®

52, Which of the following celestial body contalns Hellum-4
Im aliundance-
(a) Fanh (b} Moon
(g} Wenus (d} Satum
Ans, (&) [$5C CGL Exam, 2008]
Expl:- Helium~4.is a non-radioactive isotope which is found in
hupe amount on earth.
£3, ‘The Earth is tilted on its axis-
(a) 23.5 degree b} 22.5 degree
(c) 21.5 degree {d) 20 degree
Ans. (a) [SSC CPO Exam, 2006]

Expl:- The Earth is tilted 23.5 degree on ite axis. Due to that, it
forms an agle of 66.5 degree on its surface
54. In how much time; iE'i_rtE'rututu gmce an its axis-
{a) 23 hours 30 minutes
{b) ,xﬁ' hc"!urs 56 minutes 4.9 sec
ﬁa{ﬁc{f?@, hours 10 minutes 2 sec
{H{'ii}.-"ii’f hours

[SSC CGL (Teir-1) Exam, 2015]

Expl:- The Earth rotates once on its axis in 23 hours 56 minutes
and 4.9 seconds. :

55, Day and night are formed-

{a) Due to the shape of the orbit of earth

(k) Due to the motion of revelution

{¢) Duetoihe speed of rotaion

(d) Mone of these

Ans. (c) [SSC FC1 Exam, 2012}

Expl:- The Day and night are happencd because of the speed of
rotation of the earth. .

56, Days and nights are similar here-
{a) Poles {b) Main time zone
{c) Antarctica {d) Equator
Ans. (d) [8&C CGL {Tier-1) Exam, 201 5]

Expl:- Oin equator, days and nights are similar.
57, What Is “Supernova™-
{a} Comet
(c) Meteor

Ans. (€)
Fapl- A supemova is an astronomical even that ocours during
the lnat stellar evolutionary stages of a massive star’s life, whose

titanic explosion.

m . 259

{b) Asteroid
(d) Black Hole
[SSC (10+2) Exam, 2011]




58, What is the clreumference of the earth-

(&) 13,000km by 20,00k

(2] 25000km {d) 40,000k i
Ans, (d) [55C CPO Exam, 2

Expl- The circumference of earth on equator is 40,075, 16km-

While on poles, it is 40,008km sn no option is correct.
59.  When and where did the concept of earth hour started-
{81 Jupe, 2007 in Chrsichurch, Mew Fealand
(b)  May, 2009 in Colomba, Srilanka
(e} April, 2008 in Tokyo, Japan
(d)  March, 2007 in Sydney, Australia
Ans. () [SSC (10+2) Exam, 2015]
Expl:- The Exrth hour started as a lights-off event in Sydney,
Australia in 2007. Earth Hour is 2 worldwide movement for the

planct organized by the World Wide Fund far Nature (WWF).
The: event is held warldwide anmially encowraging indivicuals,

. poles. At the equator it is around 11-12 rnjim{ls.zuhnjﬁh
commamitics, households and businesses 1 tum off their non-| | 50°N and 50°5, 5% miles and at the poles just uﬂdﬁ'fﬁmm
ESTU:EI-;L{hghs for eme howr, from §:30 10 930 p.m. Towards the high. . 3'-:.:;'.:" i ~
m :I “Eh"a i 3 v ] = - -

o =~ Symbol for their eommitment to he planet, 5. Whatis the name.of the layer closest tg earth

d W many geosynchronous satellites ape required for #L, ) R
umintermpted world broadecasting- A ”%“E“"‘“ﬁl’hm {b) 5':’3'-'3'51511'21'&
(@) 3 ) 4 P f {'E:' é?ﬁ’mﬂ!hﬂ'ﬂ {(d) Exosphere
- {::} 2 @ 1 < | CAale [SSC CGL (Tier-1) Exam, 13
[SSCMTS Exam, 2017)_ | Expl:- ?Wﬂ 0 the surface of Earth, we have the troposphe:
e sy e T 50 1% i
w‘mﬂnfﬁua phem"fhﬂﬂglﬂgand mixing up the g
6. Which
L. The study of the 2 ——— ummphn:;i.h found in maximum quantity in e
A ¢ study o llrprhcmﬁnfﬂtmph!
B g rt‘iﬂi all " {'ﬂ-:l H droir,
(3} Astrology WP Called a5 Yitogen (b} Carbon dioxide
O > (8) Meteorlopy (=) Oxygen
smology Ans. (g) (d} Nitrogen

'ﬂ:l %mnm
€} Ozong

is the lowest layer of atmosphere.

(a) Troposphere (b) Stratospher,
() Mesosphere  (9) Exosphere

s5C CGL (Tier-1) Exam, 2011, 88C g,
?;.;:;r 'E?ébTu Asst. Exam, 2008, 2009] o

Expli-The troposphere is the lowest layer of Eargg

spherestarts at Earth's surface and goeq
Egﬂﬂ (4 to 12 miles, or 23,000 to 65,

sealevel. C
4. Where do all meteorological incidents geey,.

3. Which

(a} Stratosphere (b) Troposphere
() lonosphere (d) Exosphere
Ans, (b)

[SSC MTS Exam, 2001, 85¢ (10+2) Exam

Expl:- The troposphere h-_e'gil_is_ at the Earth's surfae, and
up to 4-12 miles (6-20 ki) high varying from the

i!::lq

[SSC Tax Asst. Exam, 204
8 an

o) .'._"iﬁm.'ﬂupa like thi i
etk thing which
R ey e R

Whatis gue

a) g4 Percentage op nitrogen in atmosphere-
" ) 7804 :3; 003

“ (g 85.02

T [SSC MTS Exam, 31!

Whitn s e mn"ﬁfﬂhmre{luanim

::lhml‘ﬂ B the | M the lnyer above earth’ surfact w

: ;‘ “Quapg,,  CIEDEof 8km from poles and 1650 o4

- |

) T
Ang & (k) Atmosphere

(d) Stratosphere

[S5C Fop Bxam &




The troposphere s the lowest lnyer of Earth's atmosphere, | 14 The heat from sun to earth s called as-
: cre starts &l Barth's surface and L0Cs up to & height {a) Temperature Radiation
'--ﬂm[-ltnlimﬂﬁ or 23,000 065,000 feet) above sen

{b)  [ruakation
fe)  Emitted Heat

The todal number of lnyers above carth arc-

s 4 (b} 5 {d) Solar Radiation
) Ams. (d) [$50C MTS Exam, 2000, 2001, SSC (10+2) Exam,
) Lo 2012
S5 :
S5C MTS Exam, 2014 ;
s [ =i : Expl:- Hydrogen and Helium are the predominant gascs that

fupt- Layers of the Earth's Atmosphere: Troposphere, | | constitute the Sun, Due to nuclear fusion, The sun releases
Mesosphere, Thermosphere, and Exosphere tremendous amount of enerpy in all directions. Sclar radiations
are the primary source of the beat and light to eanth.

b Cheose the correct option with the correct sequence of

the layers of atmosphere- 15. In which layer, temperature increases dramatieally-
{a) Mesophere, lonosphere, Exosphere, Troposphere, {a) lonosphere {b) Excaphere
ki s {e) Stratosphere {d) Tropasphere
ﬂ:'} !rﬂll}pmimp!phm:rl: i.'«H.EIEF'MFE- Mm.ﬂ]}hﬂt. Slﬂ!'ﬂ:irll'll.‘-'l'{!. AR [.} [55{: fl_-l‘_l-'-_z:' Exam, 2["_41
T :
Exosphere, Troposphere, lonosphere, Mesosphere Expl:- In lonosphere, temperature rises dramatically, reachmg
“ mmf:phm | T T part of Themosphere.
(d) Troposphere, Stratosphere, Mesosphere, Tonosphere 16. ‘Troposphere s, ““’ most warm part of the atmosphere
Exosphere ! : because- ',I
= (@) (SSC 1042 Exam, 2011] 06 /s closer tothe sun
Expk:- Troposphere, Stratosphere, Mesosphere, Thermosphere, | 2, ':!ﬂ’ It contains charged particles
md Exosphere JJ{.- / (¢} It gets warm from the heat of the surface of the earth
I ;’h:hmi:f:;:fdlwing is located at the minjl}mT height- (d) Tt produces heat
(s) Stratosphere {b) Meso m"’" S Ans: 19 [SSC CGL (Tier—1) Exam, 2011]
—g

Expl:- The Solar radiation is the only source of heat and light

The d -'HT
(e) rmosphere () A ropoy of earih. The Earth receives solar radiation in the form of short

A, (d) s [55"3*'—“31”'“-13' Exam. 2013] | yaves. The Earth sbsorbs these short waves and due to which
_ : ptmosphere keeps itself warm. Thus troposphere also gets
FT;IE::::::::]:?:;:E:;;T::;:::EW’ = I wammer and warmer dus to ¢loseness of surface of the carth,
P 17. The ozone hole is detected in the atmasphere, where is it
(#) Tonosphere {b) Troposphere located-
(e} Stratosphere {d) Exosphere (1) Above Arctic Ocean (b) Above Antarctica
A, () () Above India (d) Above Alaska
Expl:- Joncsphere cxtends to a height of 640km. Thers is| Ans. (b) [SSC CPO Exam, 2009]

high b
miﬁ’wil}'ﬂ- S0 E:{ﬁmn 2 “'.i’:;' Expl:- The Ozone is located in stratosphere, where ultraviolet
bhh'ﬂﬂfﬂitgumulmﬂ:!hmﬁﬁhﬁ?dfhdmgauvdy rays convert oxygen into ozone. Thus UV mays can enter into

Reped particles known as the | | carts surfoce, Other green house gases also kills ozone. The
or jons. Thus this layer is also as kot 14 Antarctica, The

- hale allows UV rays to enter into troposphere
B A which height, the gaseous surrounding has covered it
ihe earih’s atmosphere- 18, Where Is ozone layer found -
@ 100km (b) 150k () Troposphere  (b) lonosphere i
(=) 200km (d) 300km {¢) Stratosphere {d) Exosphere |
L o(d) [S5C 10+2 Exam, 2012] Ans () [S5C MTS Exam, 2011] i' |

- The atmosphere. extends o abou krm from the laph- The Ozooe is o covering 20.30km’sbove: the carths
100 ol theeaeth s o e e i S & located in Jower part of stratosphere.

! *®sh Yadav Readers Publication Pvt. Ltd. 261




19, The Earth summit was orgainsed by-

{s) UNESCO (b) UNCED

“EF
< {:H [$SC CPO Exaim, 2009]
on June 14, 1992 in

Expl:- The Earth summit was u'guiml
Rio De Generio of Brazil. 1t was orgeinsed by united naicas
comference on enviroament and development.
10, Which of the following statement is correct-

{a}  Aircapacity of vaporization reduces with the rise in the
tenperatun: of air
Amaspheric pressure reduces due fo nise in lomperaie,
Relative bumidity is denoted in gram per cubic meter
of air,
Temperature decreases 10c at every 165 height

[SSC CPO Exam, 2012]

Expk- The Temperture znd atmospheric

. peessure  are
Propoctionally oppasite 1o each other, When temperature rises
atmosphenic pressure decreases and atrma : :
IEperaime decregics spheric pressuse rises,

What is the differemce hetw,
= fween
Greenwich time gpe degree longity
(#) 2 mingies
(€} 6 minutes
Ans. ()

de-

sy,
A

ﬂﬂ -ﬂmi,nmﬁ "‘-.':.Ilr-"-;__

i D ¥
_— iS%ﬁL_rSmEEr!PT'E Exam, 2006]
) : : DES Commeny bith
mmﬁw 18 & Semi-circle gng fu::TIﬁisﬁnfcimhh
360 o ¥ Ewmukudi:m earth in pwp Parts. There goa

TEXNs fi takes 74
it 5o howrs 1o

—

ne which rotates around h,
h and south poles

und the Satum

[maginary li
centre of nort
Tl1l5' Eirﬂlﬂ ard
(d) Axis of the rotation of the earth

ans. () (SSC CPO B
Expl:- The equator is 0 degree latitude. This in."ﬂﬂilflu_q, Tml'

h parts of South America, Afy
'i\'l-'l:i-ch TS ﬂll‘ﬂu!,h IJ‘ " f“t&. any
i I:I-fﬁ.ﬂik"!f the hﬂlfwu!,r point between the Hunh PU‘IE m:ﬁ

() arth In the

{c)

south Pole.
-l. Which of the fl]-lh“'il'lg is international “Htﬁ ““-'E-

(a) Equator (b) o° Iﬂﬂgi.tl,lﬂc

{c) 90"casiem longitude {d) 180" lonpityde
Ans. (d)SSC Tax Asst Exam, 2007, S5C MTS Ex am, 2
LDC, 2005, S5C MTS Exam, 1999, 2001, 2002)

Expl:- The Intemational Date Line (IDL) is an irl:llgi ~
of navigation on the surface of the Earth that nups Eh
north pole to the south pole and demareates the chy the
calendar day to the next. It passes m the mﬁjﬁﬂt

ll..isc

the Local timéada ¢/

:‘.:'-I,;'-‘f-'t} Sq:l'ﬂf[-ung sixties
ns. {d)

Facific Ocean, roughly following the 180° lina of longi
deviating to pass around some territories ang m“dungmﬁ s

A Wy i 1 '
£, .;:fl:!.rtl:]:: known as high pressure subtropical latitude.
{:{L‘I!r'-‘-kﬂaring forties (b} Furious fifties
(d) Horse latitudes

[S8C (10+2) Exam, 2013]

“Tation on poles

ton the Centrifupal acceleration of e
[SSC CGL Exam, 2011
CeT doeg : e per second ““"_:"g
Of pass through-
(b) Pakistan
(d) Myanmar
[SSC (10+2) Exam, 21

“E“

A



!

S

b LT |

o fmaginary line which

connects places
b yeight on AP, are- P of similar

1 Hachirre $7).
o spot-Height (d) Tsometrig .
L I {S5C Data Entry Operator Exam, 2009

mﬂﬂﬂm“ﬂ‘ii-ililﬂma_mapjumh -
ﬂdﬁﬂiabwl:'nrhcluwmlﬂﬂ_ E pomnts of

. The Contour line is those imaginary line which show-

(g) Arcas of similar atmespheric pressure

() Areas of similar temperature

fz) Areasof similar height

i@ Equal sunning arcas

Ant. g) [35C MTS Exam, 2008]

The contour lines compress and the coastal area :I.Ilbl:iud
the discharge shrinks . However, although the affected

L The Map showing the speciality of thtnmmu[ any

aren iy called as-
) Relief Map M!;J‘J

it} Thematic Map {:ﬁ?ﬂcbﬁ&phm Map
o, (a) o [S5C (10+2) Exam, 2015]
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¢ Theword "Imneph' represents the lines of cqual___

Expl:- mh:rham are generated from mean sea-levelpressure
fﬂ-&a!tmmgu mu..:ﬂ[?lﬂﬁ idn;qlhblm - Such maps are weiul for

o awpressure, which comespond to the
positions of surface cyclones and anhc:;-tnlnmz,

6. Which of the following pairs is wrong-
(m)  Isohvet - Humidity
(B)  Isobar - Pressure
{c) Isohale = Sum light
(d) Isotherm = Temperature
Ans. (a) [S8C CGL Exam, 2005]
Expl:-
Lines Factors
[solyel Fain
" | Isobar Pressure
[zohale Sun light
[sotherm Temperature
Hygrophyte Hurmidity

8 Cloudiness (b) Salinity
) Rain (d) Pressure
() [§5C CGL Exam, 2005]
: -Mhﬁahmmmwmlm
Wﬂﬁ&pﬁmﬁyﬂ fﬁh"“wﬂ“
= tomnects places with same i ﬁ;ﬁ:
m.ﬂmp]mmﬁnquﬂlrﬂﬂu e
Which sBows the place with same sabinity.

I“h“'“ltl showy-

[ Pressure (b) Rain
) Deph (d) Time
fa) [S5C MTS Exam, 2006]
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T The Enn?:lunr‘_r-ﬂﬁes which connects the places of same
b ll.ﬂ'lp:rl are called-

Q‘,‘. gm.bu {6} ladhyet
Isobaline {d) lsatherm
AHL (d) [SSC (10+2) Exam, 2010, S5C CPO Exam, 2003]

| Expl:- Ses the exaplanation of above Cluestion ]
8.  Which of the following line represents the lll'be which
connects the places of equal rain-

{a) lsohypse (&) Ischalines
) Taohar (d) Isohyets
Ang. (d) [S3C CPO Exam, 2009]

Expl:- isobyet: a linc on :mnpﬂrnhnrtmmhngmuf
equal rainfall

0,  The lines which connect places of equal rain are called-
{8} -Ischyet Lines

(b} Isotherm Lines

{c) Iscbars

(dy
Ans. (@)
Expl:- [mhrﬁun:mulamtuxmpcnnwdiupmhuhmﬂl

average rainfall.
10, The network of the series of vertical and horfzontal lined

s Kmown as=
(a) Latitude
{by Grd System
(c) Longitude

Tschalines
[SSC Stenographer, 2014, SSC CPO Exam 2009]




ical Coordinntes Systetm
{::} ﬁl.‘ﬂrgmphll.ﬂl I_SE': {H!{.E] E.'Fﬂn!- ]{Hj] —_— = =
Amns m —— " ; -....'.'_-__...
Expli- A geographic coofdinate sysicm 15 9 ?::ﬂm;giﬁiﬁ al oy which of the following 15 KNOWN a5 thy Rogp w.‘
i [ [o] : LI
that cnables every location on the Earth - ordinates are ofien Waorld : |
mﬂmuf Umfr mmmmmw‘;mnu vﬂih‘-ﬂli F"‘"':::E:' (a) Everest :'::; :-'fn:r Mountap,
5 i a. o den T ndu
and two or three of the muul:::l'!- Mﬁﬁmﬁ and . (e Ciberian Field SSELMT:U;SJ-. Mm“lth
A common chaice of coordinalcs. 5 [aHEICE s ®) { Exam, 0y ,
elevation. - — -
: tains are known as the “Roof
1. The science of drawing map fs called- EJPH'MM?MM@' ion of the high regi O he Yy
Tt is & metaphonc - EEIOM in (h
{a) Cartography bl Geography i as “High Asia™. The name was it ,
{¢) Topology (d) Geology :Eﬂpﬂz:lm British explorer John Wood, mhlpﬁ
Ams. () [SSCCPOExam, 2004, SSC COL Exam 2008 | for o parm-i-Duniah (Roof of the World), '

= The 568 I:Ifl'l‘.'l.ﬂkil‘!] : Is called ca—'ﬁm'ﬂl&lh}'. Th': 3. The narrow !trip nl'lnnl:ljnihiﬂﬂ two land '“'“HHWH

person who makes maps is called cartographer. as- & 5
12, Which is known as the art and science of making maps- W9 A "”'E:,m —
{s) Sensitizing (b) Cartography () Swait £ ___ ‘}>_'_={:|} Peninsula
! iy, |
(¢) Phatography (d) Mapping ams. () s [SSCCGL(Tier1) By
i 2010 ; I %
Ans. (b} (35C OGL Exsm, 2010] Expl:- Isthmus is a narrow strip of land which separates g
Expl:- Cartography, the art and science of graphically | | water bodies and connects two landmasses.
| Tepresenting 3 gecgraphical arca, usually on & flat surfice - 3, % Which border line separates India from Pakistan-
ihb i d end i W . : :
13, ;hr:ﬂd:f;;l:nl of the lines of beginning an mlg;_g bf.r'}":.n' {a) Me-Mohan L_m-;: (b) Radcliffe ILmE
(a) Dentaie (b) Feasibility A - (c) 17 Parallel Line (d} Durand Line
G s IS, 1{‘.}; Ans, (B)  [SSC Stenographer (Grade C and D) Exam 1§
Bora, S B
Ans. by | - LSSE‘HFE-EHH' 1013] | Expl:- Radeliffe line separates India and Pakistan, [t was
Expl- P Ci v after its architect, Sir Cyril Radcliffe, who was the chaime
:Tpr:iﬂ?:;?uﬁ'ﬁtyfrme HﬂH ﬂrh:E]_- T B el K gﬁ .Mlbmﬂﬂ' ':miﬂﬂﬂh..’h'lﬂrh{ﬁhun Line :iE mﬁmﬁr
A China and India. Durand line is a border line which
14. The instrument to u:\:_iqu_l;nﬂme area on maps is called- Pakistan and Afghanistar. :
(a) Planimeter ) |ml 4.  The nations, separated hy Me-Mohan line are-
{c) Pantograph (d} Opisometer (8}  Afshani .
Ans. (a) [SSC MTS Exam, 2013 SN Eakitan
———— 2 () Ba :
Xpl- Flanimetet is used (o measuce the area on maps, wiile WNers o finfi
opisometerscalesthelength, . 0F {m, (€)  China and India
15. What is the nume of the maps, natural d) Paki ;
portray the large forms . ural and m:fl—nld-e. ™ [{n} ekistan and India .
(2) Thematic Maps _ [SSC Tax Asst. Exs®
{h} Atlas Maps Expl:- Me-Mohan line was drawn over in 1914 il
o | TBrCEmEnt in between Britg; ureatly, i
@ Topographic Maps Tndix st c3: tain and Tibet. Currcntly;
Ans. (a)

(850 o 5 H
: I85C (COL Tiee-1) Exam, 2013 {u}m‘{:f Feuntain range is an Example 0
nic Mountains
() Residuyq) Mountaing

() Block Mot
(d) Faig

EE v Mountaing i
Rakesh Yadav Readers Publication F;'rtl.u, B [SSC (10+2) EX5® L
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mfﬂd moumiaing ﬂ-l'tm'l.hlm that form mainly by
%ﬂfﬂﬂﬂmm layers wﬂ.'ll_n:llhcuwupmtpflhnﬂmﬂl's
#* pefure gither plate Teclonic Theory developed, or the

1 architectufe of thruest belts became well understood, the

10. In which part of Africa, Sahara deseri s located-

ﬁmﬁfm most mountain belts, such as the Himalayas.
which of the following cities is known as “Eternal City™-

’ ) London (b} Rome
@ Athens (d) Berlin
s B [SSC Tax Asst, Exam, 2006]

gk halys capital city rome is known as > Eternal City™. Rome
s kpOwEL S the Eternal City even among the ancient Romans
o5, Jrwas s0 called because the Roman people thought
#-mﬂugw{:uw 10 the world, no matter how many
wmiﬁﬂ_@hﬁ:ﬂd&ﬂ-hﬁﬁﬂﬂdgﬂmfﬁmm

pesert building can be prevented by-

{a) Eastern (b} Western
fe) Momhem (dy Southern
Ans. ([c) [SSC (10+2) Exam, 014]
Expli- The Sahmi:umlamﬂhmdummﬂmmi:dmzm

“uﬂdaﬂ:tammﬁnmdlli:ﬁm:it.lumuf

desert in the
0,200,000 square kilometres is comparable to the area of the
United 5tates,
11.  Which of the follewing is the largest deserl of the world-
(a) Arabian {b) Kalahari
{¢) Sahara (d) Thar
Ans. {c] [S5C (10+2) Exam, 2014, 55C CGL Exam 2005]

E:pha'rhesﬂmlﬂﬁmisﬂtwnrw‘ilnrﬂsthmdmn‘h
W'-'l:ring_mu-:h of North Africa.

I
(2} Plugging Gullies  (b) By stopping Trespassing 12. The lake ereated h;.-.-\.i:r;an Dam in Africa is-
{c) Comtour Ploughing (d) Forming Protective Belts {a} Chad "_,.;h'_- A (b) Victoria
s () [SSC FCI Exam, 2012 (c) Nasser bamems B-’(d) Tanganyika
Fapk- Desertification can be control by making protective Ans. () 4 v [SSC (10+2) Exam, 2014]
bels. The Contour ploughing and Gullies arc used 1o confrol | - ['Eypl:. Nasser is a lake created by Aswan Dam. It is 2 vast
_‘ﬂm'm reservoir in southern Egypt and northem Sudan. It is one of the
g Match the following deserts with their places- A largest man-made lake in the world.
A Kalahari l.  South Americis, g (a) Gobi (b) Sahara
N r._'b._
B. Atacama 2. Ausiralia A\ {c) Thar {d) Atacama
C. Thar 3. Affiea g5 = > Ans. (c) [SSC CPO Exam 2010]
. R
D. Great Victoria 4. M”J'af o ¥ Expl:- Thar desert is located in north-west of Indian sub-
{a) A-2b3,c-1,04 @-_-:. ﬁ"ﬁﬁﬁ_a;,:_ld_L u:rn:;:nﬂll!’ It ig ?m:ad umﬂt:ﬂ India md_li'aﬁshm. It eovers
| P b, southern parts of Haryana, Rajasthan, Punjab and Gujarat It
&) A E'b'zac"j"‘.;,_,ért{:d wf-3.b-1,e-4,d-2 covers eastern part of Sindh provines and southern sastemn parts
Ans (d) "-‘:::L_‘ [S85C (10+2) Exam, 2013] | of Punjab province of Pakistan. -
Expl:- The comrect match is — 14. Which of the following City is the capital of desert
: ' —_ country mali-
e ::,.nﬁ"r"“m. - (2) Damascus () Bamako
N r'..ﬁ e (c) Adra (d) Ankara
Iﬂ_:m — E;m‘__m_ -— Ans. (b [SSC (10+2) Exam, 2014]
b COreatVictoria- | Australia ' Expl:- Bamako is the capital and the largest city of mali,
g, . . Whic
Which Is the largest desert of the world- 3 b s Vi gt uslimliy (ks dred):
(8) Sahara (b) Gobi : fu) Canada (b) China
(€) Thar (d) Taklamakan (5) USA (d) Russia
el (s5C CGL Exam, 2005] A" & [SSC MTS Exam, 2008]

o2 Sy devr 1 he Jargest desr of the world
& 2% desert cayers farge parts of Algeria, Chad, Egypt, Li

gt

="

Rakash Yadav Readers Publication Pwt. Ltd.

Expl:- Russia is the Jargest couniry in area in the world. Other
‘pations are Canada, China, USA, Brazil and e T T

16. [India’s neighbour country with minimum area is-
(a) Bhutan (b) HNepal
{c) Srilanka {d) Bangladesh
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Ans. (q)

[35C Stenogmapher (grde C and D) Exam 20121 () Maldives = male
Pl Comtrics i e square miles are as S S, ! " Seoul
ﬁ:illw-i 3 L e (d) ZFimbobwe - Harg,
Bangladesh — T. 55980 Aus, () (55 cpe, .
I”&:pnl - | 6827 Expli- Countries with their %mur E"ﬁ,;’k
| Sri lanka - |25.330 = .
Bltan = 14,834 s : - E":EIE:L-—-___‘ i
y 1 Indonesia = | Jaknry . :]
= The New name or Burma is Myanmar and its capital B— * | Maldives = | Male (
(3)  MNaypyidaw ) Arskan ! North koren - P}-u;w-‘ Y
-
E‘PI:— h::‘lm“r -|3 Thtﬁ_:tw aamE of Burnmna, Jig mm i‘ 11, Match the rﬂuﬂﬂiﬂt W“Htrml
Tenamed as Naypyidaw m Rangocn,
L
18. Corsiea Lsland bs related fia= A AMZE i
(a)  Mussolini (b} Hitler BI- Eurlg:rnb:': * " Bopoun
(¢} Mapoleon Bonapare (4) Chuszhill c. E %“%’l -
Ans. (c) [S5C CPO Exam, 2007] u- ?w > BumssAing
_ : : mipabwe, 4. Cai
Pl Corsica i an island Wythe Medioranes Sea belonging B c
10 France. Itis located wwest f the Inyfoas Peninsula, Southeastof “
the French ““T;id' 2ad sorth € the lalinn island of Sardiais @; 4 4 |
wan 'n - m 2 el
m’”‘”'ll .munﬁ% to ulm.-.l--:ly modest family of %:v ot : 4 1 ;
C 1 2
I%. The Warld's bigpest COnerete structure 3
D™ b located b o o j'nu:m-;: ;{hrﬂ:‘ Gorg {d) _3 I 4 1
{(2) China (B} Taiw \::,"3' sl [SSC (10+2) Exam 11
(¢}  Malaysia ()} |IRJ Expl:- - -
Ans. (a) CPO Exam, 2006) | |Country Capital
E?Hbmmfﬂﬂwﬁﬁumiumm'aammm Argenting Buenos Aires 1
i mﬁ* over by the lawn of Sandouping Jocated fy Yillng Columbia Bogota '
Dﬂi%ﬂ;ﬂhmg Shi, Hubei provinge, CHnuLTl:-aThmuGiﬁfgu Epypt Cairo '
Dﬂm\ 'Ill'ﬂl:lli*l. e z £ T - |
capacity (22,500 MWy, T SN if terms. of instaljeg Zimbabwe Hiurare. |
1“- w&':h IJI.I'II]E fn“ﬂ-“'ila pnlr s mat m"‘:ttr 'lil'l:hl:-d- zar Ht“ﬂ'ﬂlﬁﬂ.ﬂ. k an l“hiﬂhnﬂ of which of ihe ]'ﬂ"i
{a) Heves tree - Brazil Rations-
(b}  Sumatra storm - Malaysia @ Britain (b) Germany
(€}  River kayan = Homeg (€) Usa {d} Indonessia -
() Dekkectobafish . Brggy Ans. (b) [SSC CPO Bt

&Pk Heligoland T 3 smat ipelago in 7
S, It is located Mdhmﬂunmﬁmmﬁ"’ |
24, WHEI'I ol ihe rﬂ-ﬂumng continent ks locnied In Ml

Sauthern and Esstern-Western I1-en‘|ﬂ1|1||'l'l!"""'Jr
(@) Australiy () Africa

i () tl-l:mm {d) South America 3
Bi. () [SSC (10+2) Exs™

e b e T T e
ﬂfﬂhﬂm

Ans. (d) [SSC CGL (Tier-1) Exagy, 2014)

Rakesh Yadav Readers Publication pyy Ltd,




5 «ark Continent™ is-
(b} South Amercn
(d) Asia

[55C CPO Exam, 2007]

() Africa
{¢) Australia

T (a)
Fxpl:- The term “Dask Continent™ seems to have been a concept
W’_I:ﬁl as far back a3 the sixteenth century, and it denoted
mexplored. little knowm, or uninhabited termin or evenacademic

xS,
s “Tin Bigha™ corridor connects-

() [India and Pakistan

(t} India and China

{:}I Bangladesh and Pakistan
{d) Bangladesh and India

Ams, (d)

Expl- The Tin {or Teen) Bigha Corridor is a strip of land
selonging to India on the West Bengal-Bangladesh border,
which, in Septemnber 2011, was leased to Bangladesh go that it
can acosss its Dahagram-Angarpota enclaves,

17, Which of the following is not a member of SAARC,

[SSC CPO Exam, 2009]

(a) Bhutan {b} Mepal
() Singapore {d) Maldives :
Ans () [S8C Tax Asst. Exam, Eﬂﬂ ]

Expl:- The South Asian Association for Regional Cooperation
(SAARC) is regional intergovernmental organization  and
geopelitical union in Souwth Asia, I member states include
Afghanistan, Bangladesh, Bhutan, India, Mepal, the Maldives,

Iis szevetariat is based in Kathmandu.,

8. Greenland is the fargest island of the world. It is an  Ans. (2)

integral part of-
(8) Norway np,m} Morth Amenca
() Denmark {d) Canada

Ans. {e){SST Tax Asst Exam, 2006, SSC CPO Exam, 2003, S8C
MTS Exam, 2002)

Pakistan and S Lanka. SAARC was founded in Dhaka in 1985, |

5

E%Ermhnmmmu country within the Danish
bﬂwmlhnmﬂnmdﬂumhnmms,ﬂsmf

Which is the largest Island of the world-
()

New Guinea (k) Medagascar
) Greenland (d) Teeland
::" {€) [SSC MTS Exam, 2013]
" Which of the following countries shares the longest
er with India-
:“: Bangladesh (b) Bhutan
<) China d) Pakistan
hs (a) o

[SSC Tax Asst, Exam, 200%)
Rakesh Yadav Readers Publication Pwt, Ltd.

Expl:- India has its logest border line with Bangladesh. West
Dangal, Tripura, Assam, Mecghalaya and Mizoram share the
border with Bangladesh.

31. Which s the smallest {in area) member of united
nathons-
(a) Papua Mew Guinea {b) Cuba
(ch  Vetican (ef) Seychelles

Ans. {d) [SSC LDC Exam, 2005]

Expl:- Although, Vetican is the smallest country of the world
but it is not & member of United Nations. Countries with their
respective areas are as followed-

Country = | Area (mile square)
Papua New Guinza = | 1TRTO0
Cuba - | 42427
Sevchelles - | 175
Yetbcan city - 1017
32.  Which of the rnllnn_ﬁi; l:liimtry does not share its border
with Irnq- ot
(@ Jl:m:la.n ' (b) Syria
{n:'] Tu:kn:].l {d} Lebnon
: _.-ulm- 'Ld} [55C CGL Exam, 2006]

i| Expl:- Iraq is an important nation of westem Asia. It shares
border with Jordan in West, Syria in North-West, Turkey in
north, Tran in east and Kuwait and Saudi Arabia in south.

33, Which is the smallest Country (in population)-

(2] Vetcan City (b] Nauru
(¢} . Monaco (d) Palau
[S5C MTS Exam, 2008]
Expl:- Countries with their population are 25 followed-
i Country = | Population
Monaco = | 35,000
Palau - | 20,000
Mauru - | 10,000
34, What is the modern name of “Slam™-
(a) Myanmar (b) Thailand
(c) Philippines (d) Cambodia
Ans. (h) [SSC MTS Exam, 2006]

Expl- Thailand is o country at the centre of the Indo-chinese
peninsula in Mainland Southenst Asia. [Emmﬂﬂllﬂld
from Siam to Thailand.

35.  Which of the following Is meant by an archipelago-
(n) Lake ib) Island
{c) Mouniain {d) Plateau
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Ams. (b)

=m

or
Expl:- An archipelago, sometimes cdw-m.mﬁmﬁiﬁ
Island cliain, is a chain, cluster or collection of 5
big countries of the world are nrchipelago currently-Indanet

6. The Famous Kruger Natlonal Park bs located in-

J Philippines, New Zealand and UK.

() Saudi Arbia {b)y Seouth Africa
(¢)  Sudan {d) Tanzania

P [SSC CGL Exam, Espl:- i PR :
;:Iﬂi ]'I'hl! world-renowned Kruger Mational - Park offers hm{}z‘;ﬁ:ﬂlﬁﬁﬁ\:mﬂ“ ‘ﬂmmm ‘[-..
A ; that rasks with the best in Africa. I gllﬂﬂlf pe, o low-pressuse area around ge -
established in 1898 1o protect the wildlife aE iﬁﬂﬂtﬂ where the prevailing winds are calm. =
Kruger National Park, in north eastem Soul . is o1
ATebacs Iapest game rescrves. lis high density of wild amimals | 42 Which s the largest country of the Africa-
includes the Big 5: lions, leopards, rhinos, clephanis and {a) SouthAfrica {b) Sudan
buffalos. Hundreds of other mammals make their bome here, Algeria [ ,-{‘fd]' Egypt
as do diverse bind species such as vultures, eagles and sorks, {c) o =
Mountains, bush plains and tropical forests are all partofithe | 4.0 () s % S TS Exam, 1y
landscape, Tt is spread over in an arca of 19,48 5km square.

T vied in Asin, But in terms of distribyg, |t

T

o

World's most humid place is Hw%

gputh America umammm%

41. Whereis
(s} Near Equator (b) Near Polar Areg

() Tropic of Cances (d) Tropic of Capg

Ans. (@)

Doldrums Belt lacated-

[S8C MTS Exag, 3,

The doldmms is 8 colloquinl expression derineg

#7. The coast of which of the Following country are not

touched by Arnbinn sea-
{a) Saudi Arabin (b} {rman
(<) Kenya iy loan
Ans. (€] [S5C MTS E:am‘-jl._gaﬁ;]

Expl:- Afler the u_Fa_mﬁ:rn'q_f Ewl:hﬂud@ from :
has become the largest country in Africa.

43.% Whalis the capital of Rwanda-

B St ibrevitte (b) Kigali
e] Copenhagen (d} Bogota
. Ans. (b [SSC 1+1 Exam Ni5

Expl:- The Ambisn Sea (Also Persian Sca) is 3 region of the
Irun, on the west by north castern Somalia’ and the Arsbian
Peninsuls, and on the east by India. Historically the s has been

—

Expl:-Ki

commercial centre of Rywanda.

gali s the capital of Rwanda. 1t 15 Ui mﬁﬂﬂj

mountain which separates Asia and Europe &
Allai Mountain Range

Alps Mountain

LUral Mountin

Rocky Mountain
| A Ehmmph:[ I:'ﬁ:'al:l: B} E:'.l.[ﬂ-:‘f

known by other simes ineluding the Erythrsean Sea and e | 44 The
Persian Sea, Its total area iz 3,862,000 knid (1,491,000 £q mi) {a)
and its maximum depth is 4,652 metres (15,262 11). '
38. In which of the follswingscountry, the first lron bridge ®)
was constrocted- 2 L fch
i2) England (b} lualy {d)
{c) Gresce (d} Franos Ams. (c]
Ans. (a) [S5C Swenographer, (Grade D) Exam, 2015)

Expli- The Lron Bridge is a bridge that crosses the River Severn
in Shropshire, England. [t opened in 1751, 1 was t
bridge: in the woeld to be made of st jrom,

39, Peshawar iz nearer to which af the f-ﬂliun‘l:ug—.
{2) Kamkaram Pass (b} Zojila Pass
ey Mamiks [a Pas {d) Ehybar Pass
Ans. (d) [35CMTS Exam, 2013)
“KEybar pass s located et (0 F oo
of the Khyber Pakhtunkhwa provincs of Py
40, The Warld"s most humid continent k-
(&) Asin (b} Europe
(€} MNorth Amenca (d) Sowth America

Rakesh Yadav Readers Publication Pvt, Ltd,

45 Whi

islands-

(&)
()
Ans. (d)

ﬂ.nr:'nnm“m‘hUTﬂMv:mdmnhmm
| meuntun mnge forms part of the comvend
£en the continents of Europe and Asia.

ch of the country is formed of various ™

Papau Mew Guines (b} Philippincs
lagan id) Indonesia




gk garest 18 found fn-
1] I g2 o G‘““‘”_'?
. |y:n$-|l:""""9'ha (dy Romania
x .;;1 [SSC CPO Exam, 2006]
—rest, 4 mountainous region in southwest

- plack F 2 -
ing France, is known for its dense evergreen
_ﬂ;dhﬂ'pjd’m £ e villages which inspired some of the
F cturesd tales. Feldberg is the highest peak of
¢ Famous Danube River originates from

.jﬁnﬂﬂﬁ!ir:r’

2]
| = D
o 1 = £ =
ll — e
|7 gpatisthe cup-shaped mouth of Yolcanos-
} ol C:Wﬂfﬂﬁs‘i" (b} Epicenter
o Cralef {d) Cinder Cone
[8SC (10+2) Exam, 2013]

is a roughly circular depression
by volcanic activity. It is the mouth of a

measure the magnitude of earthguake

The jnstrument to

i calbed=

)] Ideograph (b) Pantagraph

ic) Angograph (d} Sejsmograph ;
i, (d) [S5C Tax Assl Exam, 2006]

‘ i Fapt- Seismograph - an instrument that MEASUrEs and records

h!ihufmlhqwkﬁ._mch as force and duratiofn. Epicenter is
fe point of origgin of the earthquake. ’
1 What is the point below the epicentre of the carthyuake-

() Wither T, ‘(b)  Incenter

@ Epicentsr (&) Focus
A tdjemll i [$SC MTS Exisr 2014, 2002]

5. The Richter scale s ysed to measure S—

fallowing=

(o) Humidity of Air

(b} Velocity of Air

{c) Magnitude of Earthuake

{d} Density of Liguid

Ams. () [SSC MTS Exam, 2000. 55C (10+2) Exam. 2015]
Expl:- The Richter scale, developed in the 19308, 15 8 I?ﬂﬁﬂ-Iﬂ
logarithmic scale, which defines tagnitude as the logarithrs of
the rotip of the amplitude of the scismic waves to afn arhitrarys
minor amplifude.
Howing=

s a type of which of the fo

6 Antclinei
{a) Riverne by Fold Structure
fdy Dela

{c) Erosed Landrmass
Ans, (B) [S8C
Iﬁpl:- Anticline 15 8 IYpE of fold strustufe. _|
milar

7. The series of line which connects i

shocks at the samc time is ca [Ted-
{b) [soseismal Line

(d) Seismo Limes
[55C CGL {Tier—1) Exam,

Expl:- Homoseismal iine Is the line oo the Earth's surface
connecting points where the seismic wave arpives. jj:n-mlmd by
an earthquake, at the same HEME.

The Rift Valley Is created-

(10+2) Exam, 2014]

he places of si

{a) C:iﬁr._ismal Lines
- ) Homoseismal Ling
201Z2]

Amns. . (€}

8.
fa) Between Two pnticlings
(b) Between rwi Tifts
{c) Erosion of synclinal basin
(d) Dueio volcanic enuption
Ans. (b) [SSC (10+2) Exam, 2004]
Expl:- ARift Valley 15 2 Tinear-shaped lowland between several
created by the action of a geologic

¥

highlands or mousntain rANges
rift or fault. Arift valley is formed on a divergent plate
4 crustal extension, spreading apart of the surface, which is
ubsequently further deepened by the forces of erosion.
where the leak of radioactive

g, The puclear reactoh
substance Was detected in Japan following the tsunami

of March 11,2011,are if-
() Fukushima
[c) Tokyo

(b) Kyoto :
{d) Mone of Thesc
[s5C CGL (Tier-1) Exam, 2011]

mi Dadl:h: nuclear disaster was an Cnergy

_Wm!wmmm _
i 1sunami following the Tohoku




i,  What is the maln cause of EsumEmi=
{a} Volcano

(k) Cyeclons

{c) Eartheuake on Sea Surface

{d) Gmvitaion of Moon
Adig. () [S5C CGL {Tier-1) Exam, 2001]

wave,

Expl:- A umminlmhﬂwauuhmic_sumw_ Itis a series
Hﬂmiumbnd}'ﬂmd by ﬂmdmplmmmﬂ_n[mge
mmnmn&.gmmltrhmmm-wg:me.ll_um
of the words of Japancss, tsy fmeans barbour wnd nami means

11,  How isunaml waves are generated-
{a) Earthguake on Sea Burface
(b Gravitation of Moon
(g} Tedes in Sea
{d} Cyelone
Ans, {a)
Espl:- Undersea Eathquakes Cause Tsunamis, A continents]
plate. is dragged down and bent by an' oceanic plate. The
coatinental plate carmot bend any more and snaps back, pushing

the seawates up. The sewwater spreads in all. directions as
atsunami and reaches land, sometimes howrs bater

12 The resson of formation of sunami is-
{a) “Warm and cold currents meel o S
(b} Earthquake L W
(e} Change in susrface of sen 5
(d)  Volcanic eruption o~ )
Ans. (b} _ %V [sscero Exam, 2008]
Expl:- Exrthquakes are usually ecansed

[SSC FCI Exam, 2012)

1% What are the Bame of the selsmije sea

o comgt wt 8 very high force. waves which reach
. Ty () Tsunami
=) Curreni
d :
Ans, (b) ) Cyelone

IS5C CGL Exam, 29 10}

M'ﬂuﬂlﬂlﬁ i3 geri =

““dﬂm“ﬂhani:' mﬂfﬂmww

14, The CulEse “r“"tqmiu'h. the s
#) - Disturbances in earth gyefyesq
(b} Adjustment iy ghe lavers of eary:
(=) Destraction in gheyy System
(d}  Rise in plaes

Rakesh Yadav Readers Publication

% Crug)

155{: Tax Asst, E“lln, 3
An eprthquake (also known 88 4 guake, oo

bie shaking of the surface of e t'nl
lease of energy in the Earhy; trg

Ans. (n)

Expl:- :
temblor) is the perceptl
resulting from the sudden e

thil creades seismic WaVEs.
5. The reason behind earthquake ks-

(b} Rotation of eanh
(d) Demidation

[55C CGL (Tier=1) Exaim, M

{a) Land cruises
{ch Tecionism
Amns (c)

Ezpl:- Tectonism. : the process of defﬂmal_l':!n thas Prodoy
in the eanth’s crust its continents and ocean basins, plaieyyy,
mountaing, folds of strata, and faulis—called also dj%

i6. Find the odd one-

{a) Tsunami (b} Earthquake
(e}  Wind-Turbine {d}+ Cyclone
Apns. ()

Expl:- Tsunami, earthquake and cyclone are the natural digge
while wind-turbine is a machine to E-mm‘;ile power,

17.  Find the odd one-

{a) -Basalf (b} Ruhy
(e} Emerald {d) Sapphire
Ans, (a) [S5C CGL (Tier-1) Exam, 2011

Expli- Ruby, Emerald snd Sapphire are the gems whi i
rock formed by the Tava, Ph. - WM']I&—!]
18.  Which type of lakes are created by the volcanic acthitie

{a} Lagoon (b) Sweet Water Lake
(€}  Volcanic Lakes (d} Karst Lake
Ang,
5. (&) [SSC (10+2) Exam, 24|

The Voleanije nctivities app found more in-
{2) Hawaj .

(¢} Columbiy
Ans, (a) -

(b} Japan
A (d) New Zealand
[&IS{.—' Elﬂnugmph:', IDI ]1 SSC CGL Fxany |!i'?';1

% Indonesian Territory
® earthquake in 2004,

() Sumatra

i




|';.] } falibangan () Javg
'ﬁ' I.I" JL E‘
h, a large Indonesian i, 2010)
wildlife and smoldening vo
M.;h, which was dg-..rmtﬁd h;..r :
,!.-";;u';_ﬂnmkmmm. highest peak of Halwr,
i i purst in 2007. In whick country is j Ing-a':;a lsla.u
i) () Jepan (b) Indonesiy
5 {@) Russia (d) Frange
d. A 1
5 us O [SSC Section off Exam, 2007]

Mount amkonora is a Sirtovolcano og Hal aherm
mndonesia. With an elevation of 1,560 rrmtn:.::is the
pﬂkm the island. Tt has produced an elongated serieg

the north-south rft,

I

] i Soil fzctors are also Enown as-

{b) Geo Morphological factors
{d} Edaphic factors

[55C CGL (Ticr—1) Exam, 2014]

Eu‘;l Biological factors
{¢) Ecological factors
Ams. (d)
| 3ail factors are also known as Edaphic factors. Soil form

Eﬂlhe:’merpla:.r of five main factors namely Parent material,
iz, Climate, Relief and ﬂ-rgumm '

5.

W
hich is the besy suited sail for (ke cultivation of rice-
() Loserite soif () Red 2nil
() {d) Black soil
[S5C (10+2) Exam, 2013)

ﬂllll'ﬂa] 5.:,”

A, {E:I

Expi-
r%ﬂ:‘h;:mHWM s0il s a finc-grained fenile soil deposited
hititmisdo TE over flood plains or in river beds. Alluwial
s uvial sediment, allwvium, alluvion - chay or il of
carried by rushing streams and deposited where the

" | all laterites are of rusty- -red coloretion becanse of high iron oxide

1 The Black soil is related to which of the following erop-

Mream slows down, 1t is hest for the cultivation of rice.

6. The Red colour of red soil 15 due bo-
(a) Mitrogen () Humus
=) Iron {d} Copper
Ans. (¢} [S5C{10+2) Exam, 2013]

Expl:-The red colour of red sail is Duc to iron axide, the colow
of soil is red.

7. The soll which bleaches quickly due to rain, Is called-

{8} Red ‘(b) Laterits
feh, Black () Allayial
Ans. (b} (S (10+2) Exam, 2013]

Expl:- The laterite soil bleaches with the rain. Laterite is a soil
and rock’ type rich in freni’ and aluminium end is commonly
considered to have formed in hot and wet wopical areas. Nearly

content. They develop by intensive md Ir.'m.g lastinyg weathering
of the underlying parent rock.
B.  The remedy for soil erasion region is-

I. Berdering the region 2. Crop regulation

[S5C (10+2) Exam,

(a} Cotton (by’ ‘Sugarcan 1. Deforestation 4. Allowing animals for grazing
(c) Tea - (d), Coffes @) 1.2 (b) 1.4
. () % ;_j,: (SSC M Exam, 2003 (c) 43 ) 42 20135
. i jer—1) Exam, 2013
Thi B 2d best for thepartonproduction. |- ang, (a) [58C QUL er) BT
: Il i -L ':".... H .::.rl = 'ﬂ]-ﬁ h
. Soi Expl:- To control soil Tl"lﬂm mm:-:mnt MCWP mpﬂ:mtmﬁﬂ m‘“ﬂ
: _u.[ﬁ; sofl, rich in Caleium- and public shnﬂdnﬂthﬂ o s
. edalfier also be helpful in controlling soil eroson. T
E i 5. Which of the following is & Bio- ki
(d) Laterite ' (b) Terracing

fa) Contoar Fosming

(c) {]ul1;.'ﬂ:'nnlml (d) Basm Listing

[8SC (10+2) Exam, 2014]

il
Big-method 10 contrel 5o
%:h:;ﬁfm““ This

Ans. (2)
']11|: Contouf

sary-
js crop rotation BEcE
I{.l wh}- ] Eu‘frm me F¢It|'|“:l| ufjl:ll.l
ol case the quantity of minerlls

To ik
() e .;lman:mI!:n"'Ii""-lﬂ"""“"""5

() To redues




o —

(e}

To plough various types of crops
Ans, (a)

[SSC CGL (Tier = 1) Exam, 2015]

Expl:- Cro
of the soil,
SEASONS,

P motation is very necessary to increase the fertility
Under this system, varfous CTORS are SoWwn in yarious

Il.  Which of the following method does not help in
conservation of the fertility and molsture of soil-
fa) Contour ploughing (k) Dy farming
T {e) SIrip cropping
Ans. (d)

(dy Shifting cullivation
[35C Bection off Exam, 2006]

Expl:~ The shifting cultivation is
moisture and fertility of the sojl.

12.  Which of the following is
[a) Drainage
(c) Wenthering
Ans. {c)

not helpful in conserving the

not & cause of soil erosion-

(k) Deforestation

{d} Grazing

[SSC Tax Asst. Exam, 2008]

Expl:- Weathering is the main process of soil formation.
Weathering is the breaking down of rocks, soil and minerals as
well a5 wood and arificial materials through contact with the

Expl:- The solid portion of earth iy called - .
comprises the m-cks'-ﬂflh_e earth’s crust ang lh'l
that contain nutrient elements which susiain o ruqu-r

%
3. Which of the following is not 5 resul Mu’h-.
R

water-netivity- dhb\
(a) Stolactites ) Stalagm,, i
(¢} Sink holes (4} Fionds |
Ans, (d) [55C MTS Exam, 2001, S50 Dty l
Exam, 2008] Em?':'r\

- A fiord is formed when a gh:im‘\\\
Eyﬂl::'-:e segregation and abrasion of the ”'i{um“l.
Glagial melfing i accompnied by the rebonn e’ o204
crust as the ice load and eroded sediment is rerggy © 2
isostasy o glacial rebound).

3. What s the cascade profile of riur_m-;;:“‘--..‘

|
(8] Seamless curve in lower course -

(b} Seamless curve inupper course ; ‘
(e Seambess curve from source o mouth

(d} Seamless curve in middle course

, ) . . BT B
Earth's atmosphere, biota and waters. Amns. - (b} [S85C CGL { Tier-1y E|;=|-,_3-|-_I
13. The Plantation in & huge manner to t soil jon | EXpli= The path the river follows from its source 1 ok
ks ealled- . R ' knowm as the river’s course, The Seamless curve in 'ﬂﬂ'ﬂ!
J | : _ .
(a) Shelter Behs (b} Contour Farming ;5 called the cascade profile of river course !
2 4 - - . i

() SwipFarming  (d) Forestation —, (7 ; g Whieh type of topography, water recharge pris

Ans. (a) [SSC CGL (Tier-1Y Exam, 2013] (@ KarstTopograpey (b Termain

Expl:- A windbreak or shelterbelt

5 a plantation ususally made
up of one or more rows of trees or shrubs planted in such g
anner as 1o provide shelter from the wind and to protect soi]

from erosion. They are commonly planted around the edges of
fields on farms. :

4.  Soil eroslon in dleuﬁ area can be prevented -

(a) By.Strip P'E'Dughing (b) Using Manure

(c) Forestation (d} Shifting Cultivation
Ans. (c) [SSC (10+2) Exam, 2014)
Expl:- Seventy percent of Earth's Jand smimals snd planis
live in forests, and many cannot survive the deforestation that

shelter for some species also provide the canopy that regulates

1.  'Which of the followings are related with

“Lithosphere=.
(a) Plant and Insect (b) Earth's Interins
{c}) Earth's Crust (d} None of these
Ans. (c) [S5C CPO Exam, 2013

Rakesh Yadav Readers Publication

Ans. (a) [SSC CGL (Tier - 1) Exem 3
Expli- In Karst shell regions, thousands of wates jous®,
formed because of the carbon, dioxide. The Kars %%
is. 2 landscape formed from the dissolution of solibé i
such as limestone, dolomite, and gypsum. It is characterizt :
| underground drainage systems with sinkholes and coves_—
5. The breaking up of the rocks at its place is ko™
(2} Erosion (b} Withering
() Mass Destruction  (d) Degradation o
Ans, (b) [SSC (10+2) Bl
Expl- As time pass by, al| mnhdmﬂrlﬂ”'“?“?“
smaller frg 15 by & process known as withen!
6. The Coral reefs are 4 specimen of -

(e)  Desert (d} Tundra ‘

(8)  Temperate Forests

{b)  Tropical Rain Forest

(€} Savanngh

@) Coppice Lang Al
A, [SSC CGL (Tier-1) E‘"ﬂ'i



Gl 0 AT s 1 vy o
Conl reefs are diverse underynyar :
calcium carbonate struciures e

in inter-peean
cosystemns  held
reted by corals,
in marine
y corals, which in tum congig aof polyps ﬂ'ﬂll:':ll:lu-lr:::

12, i
Whal arp obsidian, andesite, gabbro and peridotite-
{8} Iotusiverocks  qh) Sedimentary rocks
(t)  Extrusive racks () Metamorphic rocks
Ans. g

[S5C CGL (Tier—1) Exam, Hi4)

wWhat is changed in metamorphic rocks-

p

o) Structure (b} Formatign

e {a) and (b} both (d} Actual chernical CoMposition
18 [SSC CGL (Tier-1) Exam, 2014]

Expl:- Obsidian, andesile, gabbro and peidotite are the Examples

of extrusive rocks. All of : :
rock: . these fall in the calegory of igncous

The Temperature and pressure change the formation and
mnfmmﬂwfﬁc rocks. These are the hardest rbcks

iffﬂﬂkm Aot found m it

The Rocks of E_',I‘Ill'lilt are Ehil’lﬂ&d into which of the
fadlowing due to metamorphism-

ia) Marble (k) Feldspar
) Gneiss (d) Quartz
s {8 [SSC (10+2) Exam, 2012)

Gneiss is a high grade metamorphic rock. it has heen
giected 1o higher temperature and pressure than schise. It is
med by the metamorphosis of granite, or sedimentary rock.
155 displays distinct foliation, representing altemating layers

amposed of different minerals.

%  Granite display standing quarizite sone because-

{a} These rocks are resistant to all kinds of erosion”
&) They do not decay :‘Hlsi:l.}' o

) They weathers quickly. -

i) These rocks do not destruct easily

s, (d) \

[SSC CGL (Tier-1) Exam, 200 3]

= Fits, formed by the deflating action of wind are called-

13, Which of the following rock has formed the Earib’

Cruste
{a) lgneous (b Metamorphic
{c) Sedimentary {d) Carbanate
Ans. {n) [S5C (1042 Exam, 2014]

Expl:- The crust of Earth, the Moon; Mercury, Venus, Mars, and
other planetary bodies have been generated largely by igneous
[OCEEEEE, ;

14, Which of the following is an Example of Abyssal Ingenous

Rock- A
{n} Basalt . | (%) Cranite
{c)-| Slate_' (d) Dolomite
Ans. (h) . [S5C (10+2) Exam, 2013]

Expl:- Abyssal Igneous rocks are formed by the magma as il get
cold. Granite is an Example of it.

15, The Metwmarphism af Shale sceurs in which of the

Following racks-
{a) Graphite (b} Gnoeiss
{c) Marble (d} Slate
Ans, (d) [55C CGL Exam, 2005]

Expl- The Metamorphism of shale occurs in slate while
dolomite in Marble. :

16. What s the incidemt of movement of landmass and

rockfalls-
{(a) Landslide {b) Earth progression
(e) Scaling off (d) Weathering
Ans. (a) [85C LDC Exam, 2005]

Expl:- A landslide, also known as 2 landslip, is a form of mass
wasting that includes a wide rmange of ground movements, such
as rockfalls, deep failure of slopes, and shallow debris flows.

f3) Playa (b) Yardang
(e} Blowouts (d) Sand dune
o (e) [SSC CGL Exam, 2010]

mape through

17. The formation of “Mushroom Rocks ™ in deserts is an
- cxample of which of the following-
(b} Coniraction

(a) Erosion .

{c} Artrition {d) Abrasion
Ans. (a) [SSC (10+2) Exam, 2013]
rock, also called rock pedesial ar & pedestal

mfmﬂﬂﬂmn nnul_n'nﬂﬂi-‘ﬂsnﬁuuwuun urumnmr.lﬁ'_ia
an example of erosicd. : by A

73




by high
B Wlatiic tha marke o€ the sanil pound Sormed Y
speed of wind-
{a) CIff {b) Cimue
{e) Dune (d) Hamadn
e [SSC MTS Exam, 1013]

Expl In physical peography, a dune is a hill of sa0¢ built by
cither wind or water flow. The Dunes ocour.in mmrﬂmwrm
and sizes, which is formed by irm:m:mn with the

water.

19, The region which is resistant to th
macro siructure, is called-

{b) Ancient structure

{d) Shield
[SSC (10+2) Exam, 2014]

e lrﬂl!li-fﬂrlllﬂﬂn of

(a} Firm strociune

fcd  Tectonic plate
Ans. (d)
Expl:- The arca which is resistant 1o the ml‘u:mnuu :rt' JIRCTD
structure is called the shield. ;
. Where does Moraine form-
; b1 Dry Zones
{d) Monsoon Region

[SSC (10+2) Exam, 2013]

{a) Deltas of Rivers
{c) Glacial Region
Ans. (c) -

Expl:- A moraine is any glacially formed accumulation of
unconsolidated glacial debris (soil.and rock) that oocurs -n
currently glaciated and. formerly ‘glaciated regions on Earth,

| —

et water come from lhum\|
E;':;’; gﬂﬁui::mwd LT, h“n “i I
e largest Delta of the world is —

(a) Nippon Delma (b)  Sicily Dejg
jg) Ganga Delta (d) Caspian Dey,
. () [S5C MTS Exam, 2002, S5C Cgr (T .

E_\'pl:- The world's largest delta is Ganga Di_-"'\\

rahmapetra Delta in Bangledesh low landeq
B n the South Asia region of Prtnga ﬂh‘"‘.f i

d.:I‘l‘ﬂ. i
g:nﬂgla:tﬁ]! and the state of West Bengal, India. I:L:mﬁl.

«gundarban’’ region. :
Which of the following river erosses the E*r-‘-""

4, Uallty g §
() Congo (k) Amazon
(c) Niger (d}). Mile:
. (a) =SRC (10+2) E?';I.l:"lr

Expl:- The Congo river of Africa coosses mwm{nh.
Limpopa river of Africa crosses tropic of Capricom r'm-,

5.  Whichof u".- fnlluwing river crosses Tropic ﬂ’fﬂrh

twice- |,
fa] Vaal River (b} Limpopo River
(¢) MNiger River {d) Zambexi River

Ans. (b) [SSC{:w]me.-;

1hw_ummrp}mltrg:nnl Processes,

21.  Which of the following geomorphic pairs is not cornect-
() CirqueGlacier  (b) Coral-Ocean
(c} Delta-River (d)~ Pores-Air

Ans. {d) 4 [SSC (10+2) Exam, 2012]

Expl:- Limpopo River flow through Botswana, Zimbbe
South Africa and Muzﬂml:quue where it empties into the b
Ocean; It 2350 acts as a boarder ‘which separates Soulb A=
from Zimbabwe on the North for 240 km and South Afiaks
Botswana on the Northeast for 400 km.

L

| Expl:- The Pore solution is formed in Karst regions.

]

‘ DRAINAGE SYSTEM _|

1. The Inﬁ'g,ur river of Europe is-

{a} Rhinc (b) Rhonc
ic) Danube {d) Volga
Ans. (d) [S5C (10+2) Exam, 2013]

Exph- Volgn is the longest river of Earope. Its length s
3.692km. While Danube i Ejﬁﬂhn I:m;u‘.&hm: Elakmmi

Rhine 1,236km,

2. Which Is the largest reservolr of sweet waler-
(a} Underground Water
{b) Pond
() Lakes
(dy Glacier
Ans. {d) [SSC (1042) Exam, 2015]

Rakezh Yadav Readers Publication

6. Which is the largest river of Asia-
{a) Indus River (b} Yangtre River
{c) Hwang Ho River  (d) Ganga River
)
Ans. (b C {1042) Exams
) [SSC ________.
Expl; = The Yangtze River, known in China as the (2 &ﬂ:
or the Yingz{ Jidng, is the longest river in Asia 20d ,ur'i"
WO

Img:u mﬂ:ewurld ‘The river iz the longest in the
entirely within one country.

ise
7 Rivers in “Annular” pattern flow in which direc?

(8)  West to East (b} North to South
(e} Likea rfng (d} Transverss d“{ﬂﬂl ]H
A [SSC CGL (Tier-) 27

T

ge patfern sfreams
:Immwm“‘:ﬂ“ﬂ‘lﬁpﬂﬂ! along a I:u:ll ﬂfﬂﬂi—-{/ '":nﬁﬁ

w patiern.

8. Inwhich river Is “Grand canyon™-
(o) Mississippi {(b) Colorado
(€}  Columbia {d) Ohara




y. () 1SSC CPO Exam, 2001, S5C CGL Exam, 1999, 55
i :;11-:] Exam, 2001 ' '

k- The Grand Canyon s o sicep-cided canvan curved b
£ River in the state of Arizonn in lhnFUni'lnd Sﬂhil:r
<5 Grand Canyon is o natural formation distinguished by
s jayercd bands ul’_md rock and its vast scale, averaging 10
s 0SS and & mile decp along its 277, Mile lengih,

The FrEsrn behimd hl‘l}:dr"]nn the Fver "I-'E“(!}' I5=

%'ﬁ

(¢} Pygmy
Ans. (h)

() Eskimo
[S5C (1042) Exam, 2015]

Expli- The Maasai are a Nilotic ethnic group of semi-nomadic
wartior tribe inhabiting southem Kenya and nocthern Tanzania,
They are among the best known local populations due to their
residence near e many game parks of the A frican Great Lakes

and their distinctive customs and dress. ¥

! {a) C"-“T':'.“':'” (b} Soil Erosion 3 :;“:[::1}; ;:::5:?;::;:;;“!“ following-
| {c) Atrition (4} Hydraulic Action () Village of Maasai shepherd
1| ans (B ~ [SSC(10+2) Exam, 2014) (¢) Stockyard of kikuyy
' Fapk- De 10 soil :m_w:inn. the river valley gets Rroaden. This {d) Tenmt of Kirgiz
develops the river valley, Ans. (h) [S5C MTS Exam, 2013)

i1, Which of the following s a characteristic of river crosion
at early stage-

| {3} Are Lake (b} Gorge
1 {¢) Inter Valley (dl Cut-Bank
azs (B) [S5C MTS Exam, 2008)

escarpments or clifls and is the most often carved landscape by
the erosive activity of a river over geologic timescales.

i1, The zrea marked by Internal drainage is-

- F;- A gorge or canyon is' 4 deep ravine between pairs of

| {a) Plateau (b} Plains
, fc) Desert {el)  Mountain
' Ass. (e} [SSC (10+2) Exam, 2014]

| | [Exphi- Internal drainage is mostly found in Deserts. |
IL Which Is a type of crosion caused by hydraulic action-
(b} Wind

(d) Mone Of These

[S8C CGL (Tier-1) Exam, 2014]

{3} Flowing Water
2] Glacier
\n. ()

Espl:- The Hydraulic action is erosion that occurs when the
Tetion of water against s rock surface produces mechanical

weitheting, Most generally, it is the ability of moving wiler
owing or waves) 1o dislodge ind transport rock particles.

L el |

Which of the following are related with “Red Indian"-

1 {a) New Zealand {b) Srilanka

{c}  MNorh America (d) Kenya
B i [SSC Stenographer (Grade D) Exam 2005]

Lapk:- Red Tndinns are the native of America. Currcnily they are

v o g i

“iciled in Haveai and Alasks.

Which of the following tribe performs animal

h“h-lﬂ‘ﬂr}'-
.. 3 Bodo (b) Maasal
“*5h Yadav Readers Publication

| Expl:- The Kral is a protected village of Maassi shepherd. |

4.  Pale colowr, medium height, epicanthic eye are the
characteristics of = *

(B) Megroid

(2)  Australowd
) Mongoloid (d) Cancosoid
Ans. (€ [SSC [10+2) Exam, 2015]

Expl:- The Mongoloid 15 a term pow often deprecated 2
offensive, for peoples indigenous to East Asia, Central Asia,
Sontheast Asia, Fastern Ruszia,

[ weavous orassiavn) )
S i coencicitos sl e wimcisiunsoioct. M

l.  What is the name of the temperate grassland of South

America-
(a) Pampas (b) Praicies
(c) Veld {d} Savanna
Ans. (a) [SSC (1042} Exam, 2013]

Expl:- The Pampas arc fertile South American lowlands,
covering more than 7,350,000 km? (289,577 sq mi), that inchude
the Argentine provinces of Buenos Aires, La Pampa, Santa Fe,
Entre Rios and Cérdoba; most of Unuguay; and the Southernmost
Brazilion State, Rio Grande do Sul.

7. Grasslands are called pampas in-

{ny Adrica by South America
{c) Britain (dy USA
Ans. () [SSC Data Entry Operator Exam, 2008]

=~ he Pampas (from Cuechua pampa, meaning “plain™) are
E:-E]In g:um Ap::ﬂnn lowlands, covering more than ?ﬁﬂ,ﬂlﬂ_
km2 (289,577 5q mi), that include the Argenting provinces
Buenos Aires, La Pampa, Santa Fe, Entre Riuls _ud C&rdnbf;
most of Uruguay: and 1he southermmost Brozilian State, Rio

Grande do Sul.
1, The Prairics of North America arc-
(b} River Basin

(d) Temperate Cirnsslands

{a) Tropical Forest
{c) Animal Farmm




a1

-Rakesh Yadav Readers Publicatio

I

[S8C MTS Exai. ]

[ = 1end to bt in
Landz typically refesred 1o 83 "Prairie i
ﬁ:ﬂ]:ﬁmmwmimpnm fhes Areid mﬁﬂ‘::.r;-
Interior Lowlands of Canada, The United Siples, ot -
perate grassiamds of soprth Americn #re ki

Ans, (i}

4. The Tem
“-.
(n) Panapad (h) [rowns
ic1  Steppe (d} Prainc
Ang, (d) [S5C (10+2) Exam, 2014]
Expli- Praircs ane ecosveiems considered port of the !ENP'-':'I"_'-“E
grasslands, savannas. Lands typically refirred o s Tpruinc
tend to be in Morth America,

£ Which of the following biomes is knawn 2% “Breadhusket
of the Warld™-
(a) Mid Latitude Grassland
(bl Taipa
c) Meditermnexn
{d) Tropical Sawanna

Ans, (a)

Expl:- The Mid tatitde grasslands (prairies) are known as the

[SSC (10+2) Exam, 2013]

"Breadbasket of the World™ bocanse it is & highly grain growing.

region.
6. The Tropicsl grasslands are called- )
{(#)  Pampas {t) Llanos
(¢l  Savamna o () Weld,
o (8 ~[SSC Scetion off, Exam 2006

e e g T WO
[ .

Ans. (b)

Exph:- to a8 “the Great Steppe™ it "Hi
jon, ofted m'::;d Central Asin ond neighbourig, .'
Eastemn Euml:fuminc in (e west through Russis g

tching sicistan 0 the Altal, Kenne :
?::km:ﬂjsl:ﬂn and Uzbekistan & : 'ﬂFi'll.IThEln.l'ﬁ“

Shoy R,

In pupllhllinn, high growth ““.: isa clmmtlnrlsuu

High birth and High mortality rate

High hirth and Low mortality rate

Lo hirth and Low mortality rate

(d) Low hirth and High mortality rate

[SSC Section off Exam, 10 .
|

()
(3]
(=]

Expl:- The High pepulation 15 related with the second sage |
demozraphic transition theory. In first stage, birth and mosys,| |
both are high while in second stage, mortality rate is coatnily! |
by improving education and health sectors but birth rbebegrs
high This situation is responsible for population explosin}
developing countries like India.

2,  When total land is divided by total population, we g, |

Ans. (a)

(a) Population Density (b} Muintional Density
(c) Agriculture Density (d) Industrial Densiry
[S8C [10+2) Exam 1]

_ﬂj:l‘pl:-— !‘q'_'-_l.'.h_:tinu density=total population/total arca
Nutritional density=tolal popalation/total food croppingars
Agriculmre density=total arable ppulation/total arble ares

Expli- Savanaa grasslands are called the tropical grusslands,
A savanna or savannsh is a grassland ecosysiem characterised
by th res being suficenly widly spaca o that he canopy
does not close. The open canopy alliws sufficient light to reach
> SUepart fn unbroken berbaceous Tayer consisting

[ 29,

7. Llanos are the grassiand of —

{a) Guyana hiphland  (b) Brazilian highland

3. The Density of population in any region is measurcd ¥

Ang, {a)

Em'h- The number of people living in an area of one SE=1
4

Ans. (c)

(£} Argentina {dy Chile
Ans. {n) [SSC (1042) Exam, 2014)
[Expl:- Los Llanos is s vast tropical grassland nlai o :
e S e
South America. {th-mmﬁﬁﬁfﬁfﬁﬁ_ﬁfﬁmﬂm! d
Hm : Fs . 1-.|-... u'n .lm
B Word “Steppe” :
e EPPe b related to which of the Tollowing
(8} Cmssland (B) Tropica) Foresy
() Spvanna (d) Conifergus Forest
Ans. {n)

5

numbers of-
(2} People (b} Children
&)  Families (d) Houses

[SSC (10+2) Exan, 18

the population density of that area. ]

In which of the : ol
oll ; myt
Population of Muslis ﬂ'l:rmg country has the

(a)  Indig
{c) I“'lhhl:gin

(b} Pakistan
(d} Sandi Arabia -
[SSC CPO a7

Expl:-| —
India ranks e i MEESE Country with Wil popi”
0 1S context whi' + Pakistan is

Which af y -,

PODulation. I8 countries has the largest "
2} Suydi g,

1€)  Irgn b (b} Bangladesh

(d) Indonesia



LSSC CPO Exam, 2005] -

‘ ge of !ndﬂnmian Muslims reaches up fo
an increase in Eﬂlﬂ.ll;l:r up to B3.1%, equivalent
Wiﬂﬂ on a worldwide seale,

[S8C Tax Asst Exam, 2006]

Joording to Demogtaphic transition theory, population
-5 divided into- four stages. India is fisted in third stage
" qhe reserved area for the conservation of wild life is
- palled-

.{|] Forest

[f) Botznical garden
w (@ [SSC (10+2) Exam, 2015, S5C Stenographer Exam,
3H
Il The reserve area for the conservation of wild life is
s wild life sanctuary. There are more than 500 wild life
ies in India currently. These are established in order to
&0 conserve the flora and fauna. The Hunting of animals
triclly prohibited in these area, but grazing of animals is

In national parks, hunting and grazing is: sttilr:lly

sibited, Human interference is prohibited in national parks.
Nebonal pucks and sanctuary both are established to conserve
M life, A wild life sanctuary cannot be a national park, but
| Boal park will definitely be a wild life sanctuary.

L The legitimized ‘reserved region for the conservation of
wild fife in Itfs_ui_t:urgl form is—
oy fﬂ’“ﬁefﬂ:]ﬁ&:ﬂ'-'ﬂ (b) Sanctuary
i L,
) Socal Forest (d) National Park

(b} National park
{d) Sanctuary

" 1) 7} Exame 2010]
. [SSC (10+2) Bxan
Wildlife sancruaries are established by TUCN category

sy ) drcas. Many National Parks were initially wildlife

:mm the following countries of south-Asia in their

] Ing order of literacy of peaple-

2 Indig

4 Pakistan

St _

,;:; :‘4-31 (b) 3.24,1

o @ 4321

[85C Tax Asst

Yau-. -

Expl:- Forest and environment
Country - | Literacy Rate (%)
Srilanka - |92.60
Irckin = | 7300
Pakistan = | 58.70
Bongladesh |- | 61,30

Amns, (d)

__ owmomenr )

1. Environment includes-
()
{b)
(c)
id)

Abiotic component
Biotic component
Oxypeen and MNitrogen
Abiotic and Biotic component
. [8SC (10+2) Exam, 2010]

| Expl:- In Biology and Ecology, Abiolic components or Abiotic

factors are non-living chemical and physical parts of the
environment that affect living organisms and the functioning of

ecosystem.

2. The World's largest bio-fuel plant has been established

~with a production capacity of 100 million liters per year,
iz located in- 7

(a) China (b) India
(¢} Brazil (d) USA
Ans. (d) [SSC CGL Exam, 2008]

Expl:- The World's largest bio-fael plant was established in
June, 2008 near Houston ship channel in America,

3. What is the cause of "Green house effect'-
{a) Nitrogen (b} Carbon Dioxide

{¢) Carbon Mono Oxide (d) Witrogen Dioxide
Ans. (b} [SSC Section off Exam, 2006]

E:plpTht'Gmrﬂmuseeffmt'ismepmm by which radiation
from a planet's atmosphere warms the planet’s surface 1o a
temperature above what it wouold be without its :l_unu:ph:n:.
If a planct’s atmosphere contains mdiatively active gases (Le.,
Greenhouse gases) the atmosphere will radiate energy in all
directions. Carbon dioxide is highly responsible for Greenhouse
effect.

4. \:lr'hich of the following is an important Greenhouse
(ins-

{a) Carbon Dioxide

(b} Chlorofluorocarbon

(dy Freen
[SSC Section off Exam, 2007]

(¢) Carbon Monoxide

Ans. (a)

Expl:- The primary greenhouse gases in Earth’s atmosphere are
water vapor.carbon dioxide, methane, nitrousoxide, and ozone.




mities is soclal
5. Which of the following man-made cald

calamity-
(a) Landslide

(b}  Interpenetration of Salt Water
(¢}  Home Cremation

{d) Ozone Depletion

m, 20131
N [$5C CGL Exa

Expli- The Home cremation is o socially man- -made Calamity.
While ozone deplation is man-made environmental calamity.

6. What is the main natural cause of disruption of road in

hilly areas-

fa)  Landslide () Falling of Teees (a) Total Wild Life {b) Biosphere

() Traffic (d} Road Construction (c) Lithosphere (d) Hydeospher: .
Ans. (a) [55C CGL Exam, 2013] * Apg, (b) [SSC{10+2) Exam, e |

: Parterns [n nature are visible mm
Exp the Mmr_af world. Thﬂﬁpﬂﬂmmumﬁh
r"“'f:“:: ond can sometimes be modelled

con

Ne.nn-al p:ll:t-e:'HS inchude symmetries, trees, Spirals
wWayEes, foams. -

(1. The best Exa mple of Multi Embryos js-
‘ {3} 'C-EIEIJH H:'} ':‘i:p-_r,icum
{g} (Citrus (d) Cyeas
SEC (10s
el 536 (1) Exam, Iy

| Eaple- Citrus is the best Example of multi embryos,

{2, What s the eeological system integrating al| iving "
and their relationships-

Expl:- Roads are gm::rail;.r dm-up:ed in hilly areas because of

the landslides. -

T.  The cause of reduction of forest coverage is-

(@) Agriculture (b} Manufacturing Indusiry
() Rising Population {d} Towrsim and Pilgrimage
Ans. (¢) [55C {1042) Exam, 2010]
Expl:- The Forest mmgc has bern contimisoesly dn-t]mmj_: as |
the population is growing. :
B, Where is the secretariat of the l:-rlrll'mnm: on hh]u-gll:-ll
Diversity-
(2] Loadon (b} Hcnky
() Montreal {d}. Toroato
Ams. () ISstnnrz]n Exam, 2014)
il oAt Jg,“im B e ety i
1 {}:‘th wildlife fund founded-
@ 'E\ ®) 1992
Tl ()} 1965

[SSC CHSL Exam, zms]

-.Eﬂnuummﬁfw :
B

1!;-5} »éﬂﬂla&m-dnmﬂ
ﬂ{diﬁmuﬂwmw Ejmi&

: TSEECHELM 2015)
ﬂ"idn MHFuﬂluum

Expl:- The biosphere is the layer of the planet Emﬁm
exists. The Binsphere is the global ecological system t

all living beings and theirrelationships, including their
with the elements of the L:lhusphera Gmsphm Hm

and m:musphm
13. The [.ugrgest ecosystem of earth is-

“w (2) Biome (b) Hydrosphere
»e) Lithosphene id) Biosphere
* Ans. (b) [SSC CGL Exam, 3417

T1% of the earth is covered with water.

Expl:- The Hydrosphere is the largest ecosystem ﬂfﬂiﬂj

14. Which of the following sequence is correct B "i.

declining productivity-
(8}  Mangrove, Ocean, Grassland, Lakes
(&) Ocean, Lake, Grassland, Mangrove
(€} Ocean, Mangrove, Lakes, Grassland
(d)  Mangrove, Grassland, Lake, Ocean
Ams. {c) (ssc coL Exan

EF.]}!;- The Hlﬂhﬂﬂ Dl'ﬂ-du-:mrj. cors!
tv is found at estaary,
in ﬂ'h: l:'l:rnﬂumun -nfﬂc-:an .and continent. The si:ﬂﬂ"ﬂw

Ve region is humit forest, lakes and gﬂiﬂm

15, "
Furwhlth of the following reason, it is necessary st
rge area for forest -

(&)

> Absorption of carbon dioxide
()

C‘nnsl!n'nliﬂ-r! of wild lifs

(€} More rain
Ecological balance

P
[55C MTS Bl




What is the percenta

jLe eaver of trapical ral

n forest jn the

r wof the following forest is resistant to eyclones- 1]
' ' Alping Forest (b) Mangrove Forest workd-
| t;] prereree! jorest  (d) Munsoon fores! () 2% {b) 1%
o [SSC CPO Exam, 2015) () 10% (dy 15%
forests work as the besieger of eyclones, They Ans, (c) [SSC 0 #2) Exam, 2014]
- 41 forests. Theses fi i ; : |
. tidal orests can live in severe Expl:- Biologists egtimate that iropical rainforests contain about
: g = 50% of the world's terrestrial plant and animal 5
_ ul&trﬂ"*d cavily duoe to de orcstation, it affects tl W ; 75% of world's
i :mg nhurfnze water hadly. Which af the following .i: : |“h,|:fh s the targest forest iy ?
| ol .mﬂ.,d by these Ccauses-
tlr H“mm-ﬂcsﬂ.un’:ﬁ () Tropical rain forest |
| : {(b) Taiga forcst of Siberia
| Foological SyStEm
{ : {c) Monsoon forest
I[: 'E]L['I“h’- -
—_— (d) Temperate forest of Europe
R Ans. (b) (55C CPO Exam, 2015]
B [SSC MTS Exam, 2013] _ -
- = — Expl:-Siberia's Taiga [orests arc the largest forest covering 25%6
The deforestation results in increasing soil erosion, while land of the: world. They are the coniferous forests- It includes
iﬂmwﬂfﬂ‘ﬂm and can imbalance ccological system. pine, deodar, fir, spruce elc. :
4 Which of the following 1qtfn_ti: plant s effective in 13 Which has the maximum rale af deforestation-
]:-::j,ﬂng the w:i:r—lpnlluhnn caused by industrial ta?e_; Trﬁp_ipﬂ’iune (b} Desert Zone
} T N
| ) Water Hyacinth () Elephant Grass ﬁ " (¢} “Temperate Zonc (dy T mh;m:;:;ﬂ o
v I L 201
| ¢} Parthenium (d) (b)and ie) g ) i i )
| e (85C (1 +2) Exant; 201 1 E_Iﬂlt—E_ml‘:ﬂlilf, the i . Imn: nfd:fﬂrﬂtﬂtinni!inmpﬁﬂ]'
: T mmTMmtand:fnmhmmzldhkhhﬂmcw}'mThe}r
| |l Ejlﬂlhﬁﬂﬂ Crassipes, commonly known. 25 . Water sre damaged beeause of the growing demand of beef. These &re
! o2 ?ﬂjﬁqnﬂkpt@lrmﬁvetqmg_mmmmﬁig cuiﬁnwmmi'uﬂinfnd&ﬂmmm:'
T a highly problematic "?f“s'f".ﬂl’_ﬂ’f ":'“'u'*da 24, Duetogrowingdemand of which of the following product,
Tinge. - ' . tropical forest are being damaged the most-
T Where are rare plantless fﬂr’f!sj‘rfnll_i'ldr (a) FPork " {b} Sugar
ah Alpine i - Tundra () Meatof Goat idy Besf
e} Chapparal 't *, ¥ (d) Taiga Ans. (d) [$SC CHSL Exam, 2014]
Ay, [l} B .:"-F"' [SS-C{].U“"E} -
. % f,;pl;.--;:ﬂ:_e-mrlql:_mmr_rbd 129.5 billion pounds of beef in
DT Ta e oEE 2016, Uroguayconsumed the most beef per capita in the world
EI{E wrowth iﬂ! FOE .El':'l’f.-- "ﬁ‘"ﬁ” i Ly in 201 & followed by ;ﬁ._';gv:_rll_iﬂn and Hong Kong. ... The United
S b‘m‘ - ed b ¥ ety ot _Sl;alg:s 1 the 4th mostbesf per capita in the world in
£ The 4 2016. -
mazon forests are a type of - ;
2} Trogical 75, [Evergreen farests are found in-
t) Temperate: forest (a) Monsoon pegion
{2 b} Deseried region
Temerate evergreen forest .
) Teae () Mediterranean region
Ay ropical seasonal forest i
[ (dy Egquuter pegion
[SSC MTS Exarl, 2014]
Ans. (d) [55C CGL Exom, 2004}
“Expl- M_Iﬂultﬂﬂ'ﬂ everpreen forest is @ forest consisting
mainly of evergrecn trees that retain green foliage all
' :mmd.ﬁ.lﬂl forests reign in the equatorial refrion, between
s primarity s broadical evergrecns, and i tempere! e
' hnmdﬂ-pdmlﬂl?_ﬁmnlfm_ﬂmﬂw,

- EREEH




26, Deciduous trocs-
{a} Depend on ather for its food
{b) Lose their leaves every yoar
{2} Do not loss their keaves
(dy  Dosynthesis of their food
Ang. (b)

Expl- Deciduous means “Falling OfF at Maturity’ tor “Tending
to Fall off”, and it is typically used in order to refer to trees OF
shrubis that lose their leaves seasonally (most commenly during
sutumn} and to the shedding of other piant structures such as

[55C CGL Exam, 2001)

petals after fiowering or fruit when ripe.

27, Which of the following forest is the forest with maximuom
hiim diversity-
(3} Tropical
(¢} Monsoon

Ans. (d) :

{b) Temperate
{d} Equatorial
[55C CGL Exam, 2010)

Expli- The Maximurm bindiversity is found in equatorial-zume.
because of the Jngh tempmnm-. muf lugh hu:rr.ldjh-'. 'd.'hith |5
necessary for bio diversity.

18,  Which of the following gives the maximum oxvgen-

(2) Cireen Fogest

(b} Desgest

(e} Grassland 4, 1 L4

(d) Phytoplankton ~ AN
Ans. (d) ISSC[IIJ#]I'Eium'znu]

E:pl:—TMLhmm-mfmygmmurﬂimlhnmnn:plms
which provide almest 50% of the oxygen. ;

I9.  Match the followings- . ./
A, Bosewood T'_r"-_"'.__:.' 1.

Ciaren forest

E. ‘::;Z;:’E{;_}' i :Ipi.nn: fiorest
. Deciduous forest
D 5 i trea 4, Dry farest
A B C (K]
(ad "1 2 =i | 4
(b 2 3 | 1
(c) 4 3 e |
(4 3 4 - 2 I
Ans. (d) [S5C Cro Exam, 2012)
Tree - Forest +
; ‘Rosewood - Decidunus farest
Bushes - Dy forest
~ Birch - Alpine forest =1

Rakesh Yadav Readers Publication

.-'». { W(a)

5" )

_._._—l'!_
I____,_.— -:;-_.!

Which counfry started the cultivation of Piks oy ]
Enrapcs

(a} Crerman

{¢) Dutch

Ans. (b}

-ﬁfmutmﬂ af such cultivation was. transferred (g Em’lh

South America.
2 [nwhich form can the cultivable land be defigey.

{a) The land which can grow the crops

{b) Waste land+fallow land

(¢} Oid fallow land+new fu]lﬁ'.-..f land

(d) Total fallow land+net sown land
Ans. (d) ;"_. ) ' [SSC (10+2) Exam, 315 |

Expl:- Todal cultivable land includes total fellow land mﬁ\
gown land; |

3. Whiat is known as Soil-free Farming-

: (b) Humidity up gradsiion

(d} Sericulture ;
[SSC (10+2) Exam, 2017

Expl:- TheHz.r-:h-upﬂmcsm a subset of hydroculhure and i

method uf',grmumg planls usmg mineral mrhwnl solutioes, 3
waler, withoirt soil. !

4. The biggest producer of Rice 15~

(b} Spanish
(d) Portugucse
85

S

Hydroponics
Interlude crops
Ans, (@)

(@) . Indis {b) Pakistan
(¢} China (d) Burma
Ans. (g) [SSC MTS Exam, 159
B
Expl-cAs per the figures of 2015 of FAO, the rank of 5
F“'E”':mﬂ“i mmﬂﬂ&limﬂd— ;
L China e
: .-3. Indn'uesih: : -4, Bangladesh
i Mietnam
5. Whi 5
® r: 15 the best variety of cotton in the warld-
5 Etn h.lam:f (b) Upland American
Pl Eyphian (d} Indian short fibres

T (8sc MTS Exam, 2
length ':]::-W of cotton is determined on the bass .
than shor e - o 1he Long fibres is better in

coon, " 18 DS Variety of ot are ea slanth 6




1_-‘pit1f"'"'“| pores of seeds

' oady fibre of ro0ls

& Fioarm fibre of roots
i [$SC CGL Exam, 2014]

@ m——
i dermis 15 2 single layer of cells that covers the
Th:ﬁ_ rogts and stems of planis.
| menrﬂm edible crop of Australia-
e {b) Barley

F fuize
w (d) Rice
' wheat
i) o
| [55C MTS Exam, 2014]
|

. Tearly 15% of the region of Australia is suitable for !
! bt only 6% of that is cultivated. Wheat is the most
1 | pditile cTOP of Australia, which is largely produced in
| = and the states of western Australia,

4 Which of the following

£5
(i) Srilanka
.::b Indin
.
K is 0t B0 exporter of tep India, Kenya and Srilanka
h_qmnupurtﬂ' of tea. Other important tea prodecing
Chim, Vietmam, India, Srilanka etc.

country is nol an exporter of tea-
(b} United Kingdom
(dy Kenya
[SSC CPO Exam, 2015]

gioss a2

i Thelargest producer of coffee in the world is- .'
(g [vory coast (b} Brazil "
c) India (d) Mexico -,
|l ) [SSC MTS Exam, 2000, 2008]

b The data of 2014 reveals the top six coffec producing
ies of the world-

. Brazil 2. Vietnam
3. Columbia 4. Indonesia
% Ethopia 6. Ilndia
a E:E_;h]ih: biggest coffec producing country in the
W India (b) Brazil
hira Pery (d) Argentina
i [SSC CHSL (10+2) Exam, 2015]
. Beail, esbica production s located In the main coffee-
e o whr i e
il & ) - "-

IL d e
Wi
B of the following pair is correctly matched-

Rice

= Wheat

- Coffees

- Matural Rubber

(c) 3 () 4 2013]

Ans. (d) :
| Expl:- Malaysia is a producer of natural rubber:

[§SC MTS Exail

12. Maich the followings =
List 1 List 2
A, Rice l. ﬂm.ﬂ1
B Maze 2. “Thailand
. Ruobber 3. China .
0. Sugarcang 4. United Staes of Amenca
A B _-I: o
ja) 2 1 3 4
(B} 1 3 4 2
ey 3 4 2 . |
@ 4 2 = 3
Ans, {(c) (SSC CGL Exam, 2015]

Brazil

Expli- China ranks first in rice production, USA in Maize,
in Sugarcane and Thailand in Rubber.
13. -India is the largest producer and consumer of-

e (a) Rice (b) Tea
+ () Coffee (d} Sugar
| Ans. (b) [SSC MTS Exam, 2015]

Expl:~ India is the World's largest producer as well as consumer

of pulses.
Which of the following determines the quality of ngro-

14.
products-
(@) LSL {t} Eco Product
i) AGMARK {d) Green Product
Ans. (€] [SSC MTS Exam, 2011]

Expl- AGMARK is a cenification mark employed on
agricultuml products in India, assuring that they conform to a
set of standards approved by the Directorate of Marketing and
Inspection, an agency ofthe Government of India. The AGMARK
iz legally enforced in India by the Agncultural Produce (Grading
and Marking) Act of 1937,

The present AGMARK standards cover quality guidelines for
213 different commoditics spanning a variety of Pulses, Cereals,
Essential Oils, vegetable oils, Fruits & Vegetables, and semi-

processed products like Vermicelli,
15. LR.2I0 is a high yielding variety of which of the
follovwing-
(a) Cotlon (b Rice
(e} Wheat {(d) Sugarcane
Ans. (b) [SSC MTS Exam, 2011]
[Expi:-LR.20 is a varicty of rice. : B




i .
E ¢ and
16. The region famous for various types of win
champagne is-
{a) Eastern Europe {b) Western Europe

(¢} Mediterancansea (d) Glossland .
Ans. (c) [S5C CHSL (10+2) Exam, 2010, 2014]
i i for wine

Expl:- The Region of Mediterrancan sea is famous
and champagne. It rain heavily here due to tropical cyclonts.

That led 1o farming of grapes, lemons and cranges cte. It is the
heartland of wine industry. : ; :

17.  Which country produces the maximum aq ot of timber-
{a)
(b)
i)
{d)

Ans. (a)

]

United States of Amenca
Brazil
Migeria
Sweden
[S5C CHSL Exam, 2010)
[Expt:- The USA is the biggest producer of timber

IB.  The flower bud which is used as spice, is obtained from-

(a) Cinnamon (b)) Cardomom
€} Clove (d} Coriander
Ans. (g [SSC MTS Exam, 2011]

Expl:- The Cloves are the aromatic flower buds of & trec in the
fnmil}-'nrM}rmﬂp._Smlgimr_: aromaticum. They are native o
the Maluku Islands in Indonesia and arc commonly used as a
spice. 3558 | SR
19.  Which of the following is a type of farming ﬂi'ifin?utvu

both the growing of crops as well as raising of livestock-
(2) Intensive Farming  (b) Mixed Farming

3 L]

{c) Dairy Farming {d)". Dry Farming

" |
}___1{“-,__[_3.51: Steno (Grade C) Exam, 2005]

=S IRE 0 crops a5 well as the raising of livestoek. i
20. In which country, sash and burn agriculture is known s
“Milpa™- :
(3)  Venczuela (h) Brazil
(e} Cemtral Amecrica () Mexico and ceniral Americy
Ans. (d) [SSCCGL Exam, 2014]

Ly - "along with-
=, ;

!

———
f— e
iy

“MINERALS AND INDUSTRy S

———

Which of the following country is the lary,,,

1. arapium in the world- "f-h-“
{a) Canada (b} Souih Africy
{c] Mamibia (d) UsA
Ans. (a) [55C Section ofy Etuq‘m&
; | above, Canada is the 5
ﬂ:&hhﬂlmsm ranks first in mhmm
the world. S
2. Which of the following resource abigy, .
renewable-
{a) Iron Ore (b) Livestock
{(c) Water (d)_Forest _
Ans. (©) 1"y [S9C COL Eyun gy |

Expl:- The Renewable resources are the mm
replenished by the environment over mlaﬁv;l-yrshmm
time. This type of resource is much more desirabls loue
oflén a resource renews so fast that it will have TegenEteg
the time you've used itup. - i

__I:!;-" 'w*.j_lmlia is one of t

he largest producer of mnngum_;

(2) . China and Russia  (b) 'Brazil and Russis
() Australiaand USA (d) South Africa and LS4

L

Ans. (*) [SSC Section off. Exam 2
Elplt' ﬁﬂ:mdmg to the data released in 2011 by Indilht';].
of mines, India ranks seventh in the world in the pmilﬂ"'!:
Munganese ore. Rank of nations are-

. Country = Production (in thousand b}
g 2011 2013
L R Prov 15500

2. South Africs . _ B652 10952 .
3. Australiy - 6961 7448 |
A :.Eﬁbm'! - 3562 4091

3 Bragi| - 3100 | 2502

: :*“*_ﬂihlan - 2930 2852 |
- din - 2387 2588

B : =
- The best Quality coal j5 —

(a) Lignite (b) Peat
©)  Bituminous (d) Anthacite

Ans, (4 Eam
e . [SSC CPO 5
sub- Mhlllzh ™ & hard, compact variety of coat %41

: e A ot IUhas the highest carbon contetl I° o
mmuu%ﬁ“‘lﬂﬂumm me ﬂ o

tent is between 92



“.H of the following is not 5 Variety of cpg).
g 2 palomite (b} Bitumingys

r Ligaite (d) Pem

F
¢ # [S5C CHsL, ¢ |C+2) Exam, 2015]
— ofcoal. Itis

5 paomiteisnota typeoficoal. s a common rock.formy
; “ﬁimmgnea:mn ':N:bmmwiﬂ: a I:'I:Tmr:uf‘tgl
# of CaMg{CO,). It is the primary Component of the

sock Jmown as dolostone and the megarme .-
ig/:’;:g_ﬁﬂmumn timorphic rock
- “-h":el:tﬂ“?

i a [jramiamm ib) H)'d:-n-pﬂ-ﬁ.tr
o Diamand (d) Snow
o [SSC CPO Exam, 2008]

f‘Wﬁmu'wh Coal' because it does not
T B : n

= which mineral is an ore of aluminlum-

) Haematite (b) Bauxite
&) Wiagnetite (d) Siderite
|u_ b} [SSC CHSL (10+2) Exam, 2010

Beeite, a0 aluminium ore, is the world’s main source
mium. The Lateritic bauxites are found mostly in the
w4 of he tropics. They were formed by Iateritization of

Orisss is the largest producer of bauxite in India, -

| Whith of the following country depends.on other
amatries for iron-ore for its steel indusiry- -

i} England (b)... Australia
- ) T () Tarkey
LY W (. [8SC Tax Asst. Exam, 2008]

0 o Teading stcel producer, There is not largs

Eis] ,ﬁ_it-. orts ﬁmmw

. st 7.
Rl L I, e Y E_Dn
i'.-;"..-.- T

Expl:- As per the new data of 2014, China (465, Tton) ranks first
1o gold production, Other nation are Russia (272t0n), Australin
(269.Ttom), America (200.4t0n), Peru (169.3ton) and South

Adftica (164.510m).
. Which country has the 50% share of world coal depostis-
(n)  China, Russia and India
(b} America, Russia and Chinan
(€] Chinn, India and America
id)
Ang, ()

Indin, Russia and America
[SSC 10+2 Exam, 2015]

e

s silacate rocks such as granite, gneiss, basalt, syenite, and |/

Expl:- The 5% of coal is shared by America, Russia and China
which ranks first, second and third in coal reserve.

12.  The resources, which can be wsed agaln and again are

catled- i
() Biotie (b} Abistic
(e)] Non-renewable () 'Renewshle
Ans. (d] N [55C DEQ Exam, 2009]

Expl:- Renewahle resources ane the resources which can beused
agnin and again, while non-repewable resource are scarce, they
do not regeneraie by the environment,

Granite stone, used in construction work is a—
e {n_} Sedimentary Rock (b)) Metamorphic Rock

(¢} Igneous Raock {d) Permeable Bock
Ans, (¢} [S5C Steno {Grade D) Exam 206:5]
Expl:~ Granite is a light-colored igneous rock wlt_l: grins large
enough to be visible with the unaided eye. It forms from the
slow crystallization of magma below Eanth's surface.

14. Dolamite is-
{a) Sedimentary Rock (b} Abyssal Rock
{c) Igneous Rock {d) Metamorphic Rock
Ans. (a) [S5C Tax Asst. Exam 2006]

{ .h'“llpf;h:. Mlowing places, steel and iron industry
" set up with the help of Germany-
! Drgapur (&) Bhilai

fie _{.‘;’j Kuwait city

Expli- Dolomite is a common rock-forming mineral, It is &
calcium magnesium carbonate with a chemical composition of
Enidg{ﬂﬂ_]-}!. 1t 15 the primary component of the sedimentary
rock known as dolostone.

Which of the follawing Is largely used in cement industry-

15.
(a) Gypsum (b) Lime Stone
(c) Coal (d) Ceramic
Ans. (b) [S8C Tax Asst, Exam 2007]

-~ The Lime sione i3 8 very important component of cement
ich i Jargely used in cement industry.
16, The headquarter of petrolenm exporting countries is
' loeated in-
[ ":F]' Vienna

(b} Riyadh
(d) Abu Dhabi

"




—

Ans. (a) [SSC Tax Asst. Exam 2008]

Expl:- The Organization of the Petrolenm Exporting LU0
1% an intergovenmenta) organization of 13 pations founded in
1960 in Baghdad by the first five members and headquartcred
since. 1965 in Vienna. As of June 2016, OPEC's members anc
Algeria, Angola, Ecundor, Indonesia, Iran, Irag, K“"“_“' Libya,
Nigeria, Qatar, Saudi Arabia (the de facto leader), United Arab

Emirates and Yeneruela,

I7. The Atomic power Is a mineral based energy source, Itis
generated by-

{a)  Uranium
ic)  Plutonium
Ans. (d)

(b} Thorium
(d) Al of These
[SSC Tax Asst, Exam 2008]

following e
i ;vrz;tuhrt:il't::lﬂl- . Peinty 7y wuﬂd"‘kh
()] Canzda
(b) USA
(e} Australia
{d) Britain
Ans. (¢} Eﬂcﬂmlth.,
- ia is a leadi — "
s i e S E:,:Wah

in terms of total weight. New Zealand ;. e WIE}EE

largest producer of wool, and the largeg p‘rn.;]m“ﬂ%

wial.

Expl:- Uraniurm is the most important mineral for atomic power
generation, Thorium and Flutenium are also used for atomic

POWET peneration,

18.  The country with highest papulation density and largest

oil production of Africa s~
(8) Nigeria (b} Uganda
(€) Kenya (dy Sudan
Ans, (a) [SSC 10+2, Exam 2012]

23, Which is the largest producer of woot o =

(a) Australia e
(b} Mew Zealand
(¢} Canada
(d) USA

Ans. [(a) [S8C Steng

J= T
1

Expl:- Migeria iz the most dease nation of Africa, It is also the

Expl:- It varies on the sheep's type, Among all of the wags
Marino wool fiber is best. In this regards, Australiy P

woal pﬂdmﬂmmtry in the world,

producer of oil in Africa,

19, In which of the following important south-western Asian
oil region is located near—

(3) Coastal area of Persian gulf
b Euphrates-Tigris basin

(¢}  Arab desert

(d) Rubal khali deser

Ans. {a) [SSC CGL (Tier-1) Exam, 2013

located near coastal areas of Persian Gulf: The main countries of

20, Find thf'drdﬂ_-

(2} Petroleum (b) Coal (%)  Srilankg (b} Indonesia
(e} Fucl Wood (d) Power (¢} Chile (d) Russia )
Ans, (d) «  [SSCFCy Exim, 20012]  Ans, (e) pua

4. The largest topper producing country of Afria b-_-
(a) Kenya
(b)  Union of South A friea |
(€] Tanzania
(d} Zambia |

Ans. (d) [S5C (10+2) B X

Democratic Republic of Cango produes mers then Z24%
it is not in aption, = e

E
3. Which of the following is un important copper [
country.

Expl:- Petroleum, coal and fuel wood are the sources of energy
while power is a product,

21, Which s the largest producer of wool In (e warld-
(a)  Australiy {b) China

(el  Argentina (d} New Zealang

Rakesh Yadav Readers Publication

[S5C PO

producmg .
are America, Pory, China, Congo, ammﬁmm‘i“;ﬁ-“;

il
26, Which of the fallowing Industry s hased
it eriy).

() Ship Building

b)) Sugar Industry

(c) Petroleym Refinery

Engilm:ring Works I

Wy Ligm
Ans, (b




_:.._-_-..- of raln In humid equatorial climate js.
e
.Il T (b)) Mountainous
il y 1
| I E"Lm'll'ﬂ'l:“u““l “Il} F!U\'-'“lﬂllns T | Lljl‘q.'h]niﬂ
¢

“ [SSC MTS Exaim, 2014]

I
i* mﬂﬂﬂ"“'iw rain is the iII'I'II!.I'II Wpe ol rain in Tumid
1 cEmate, In this type of climate, temperature is high
f‘l be ver. There will be B0%: humidity in air. It rains
. The anmual rainfall is more than 200cm. :

ol
5 - :

W}Erdll:rrunrnn region is known for heavy rain-
; (b

o |
i In winter {(d) In summer
[S5C CGL Exam, 2015]

o sprnE SCAS0M In autemn

ﬂ"--rl-hs_]ﬁﬂ'i]}' in winter in Mediterranean region, It

h
?ﬁ?ﬁ‘ﬁ"]mm rain in winter. Summers are hot and dry

E —
i (Dashare brecee develops in-
fl Duay (b} [‘-il:ight
i Both Aand B {d) Season
in s} [SSC CGL Exam, 2011]

firpk- A Sea breeze or onshore breeze is a gentle wind blowing
4 % fowards land, that develops over bodies of water near
fﬂd& to differences in air pressure created by their differcnt
steiicily. It's a common occurence along coasts during day
Ealy radiation heats the land more quickly than the water.

| Liad breeze is a cold breeze which flows from land to

. What does acid rain contain which destroys planis-

fu)  Mitrate
ih
fc)
()

A, (d)

Clone
Curbn Mono Oxide

Sulphuric Acid
[SSC ( 10+2) Exam, 20121

Expl:- The Acid rain is a rain or any other form of precipitation
that is onusually acidic. It contains sulphur 2nd pitrogen oxides
which combine with atmaspheric water to form acids.

| _-_ﬁ—
) Sea (b) Forest
) Desert {d) Mone of These
s, ] g
$SC MTS Exam, 2014]
— :

"-The warnr air over the land is less dense and begins 1o

||iﬂrn;L"f"FfﬁwrciﬁmatﬁiTh{: airpr:sﬁm':mfuﬂhcwﬁﬂf
Wik cold dense air, which moves 1o occupy the space

=% the land.

Oange.
4

{
.!‘] HH-H“

) [55C CGL Exam, 2013)

i
H E
™ can the classification of climate based region be

h"[lm c.h‘“'mﬂliﬂn of climate based region 15 done on
‘tt'ﬂf from equator. The equator usu.:t] Iy ;fm
£ quator:- an imaginary line on the Earth's surface

rom the North Pole and South Pole.

¥
2v Readers publication

7. The Sea water is more salty than rain water, beoause-
(a)
(b
()
(dh

Ans. ()

Sea creatunes salt
Airaround scu 15 saliy
Rivers pours salt from the soil into sca
There are salt mines in sea surface
[SSC (10+2) Exam. 2012]

Expl:- The salt comes in the ocean from the rocks on land.
The rain that falls on the land contains some dissolved carbon
dioxide from the surrounding air. This causes the rainwater 1o be

slightly acidic duc 1o carbonic acid.
5. What is the benefit of rain water storage-

{a)

b}

fc)

(d)
Ans (a)

Expli- The Rainwater harvesting is an imporiant method to
collect and store the water of rain. This method is mainly used to
recharge groud water level.

9., What are the five main indicators of global climate

change of our planet-

{a) Sea level, nsing temperature, rain, nitrogen and Arctic

Recharging ground water level
Respite from Moods
Reduce the scarcity of watler

Protection from s-:lil-_em:iinn
|SSC (10+2) Exam. 2013]

gcean ice

None of these

Arctic ocean ice, carbon dioxide, global tempemture,

sea level, surface ice

Antarctica ice, oxygen, rain, drought and sea level
[SSC (10+2) Exam, 2015]

(b}
{ch

)]
Ans. (c)

¢ pcean ice, carbon dioxide, global temperature, sea

Expl:- Arcti
n indicntors of global climate

Jevel and surface jce are the mai

change.
j0. The best way of conservation of water resources is-
(g) Storage of min water

gustainable waler consumption
Encouraging reformation of natural plants
Adl of the above

(b}
(c}
{d)




= Ams. (d) |]:Eiﬂﬂ
Eapls- The Storage of o woler, sustainable water ORS00,
and encouragement of natural plants are the SRS :
water pesolres. n water
1. Which of il [ﬂ“ﬂwlm i iu;nl’rﬂ" whout ra n
harvesting-
(a) Itis helpful in ruising water level
(B) Itinereases the harms of flow
- {c) It is 4 mode of water conservafion
o (&) Ttishelpful in fulflling the growing demands of Water
i Ans () [SSC CGL Exam, 2015]
Expli-The Rain water harvesting is a medium 1o congerve Waker:
Ttcan be helpfal in rxising the level of waler.
12. Which of the follawing winds changes its dircction with
ihe change of scason-
{a) Recuming trapped Winds
b}  Monsoon Winads
(£} . Paolar Winds
{d) - Cyclonic Winds
Ans. (b} [S5C LDC Exam, 2005
Expl:- Minscon is traditionally defined as 2 seasonal reversing | ~
| wind ‘sccompanied by comesponding chanpes in precipitation,
-] 13. Dry winds (harmattan) blows in Sahara Desert from-
' (3) SouhtoNorh (b} EasttoWest, | '
(c) West to East (d) Mmhlwﬂsguﬂt', >
-. Ans. (b) *\, [5SG.C6I Exam, 2014]
3 Espl:- Harmattan is called as Trade Wind, It is dry and dusty
5 wind blowing i Southern Africa, Harmattan blows from
" northeast or east in the Saham to west.
| , 14. What is the meaning ﬁwm}u‘pﬂ"}-
s L {a) Tropical Cyclone near Australia
| 1 (b} Earthquake
H i c) High Tide
| ¥ I
1 1} {d)- Tropical Cyclone near India

“ ; [S5C Steno Exam, 2005]

o aia i
:.::ndzaéugﬁnh of the 2013 Pacific typhoon seasg,
{6, Another name of Hurricane in """““ral_h?‘\\

[S5C 19

Typhoon Quedan, wa.=-_11:u= SArOngest
jnland China during October singg 1945

(b} Wiiiy-w.]h,

(a) Baguio
(c) Storm (d)} Typhoo
Ans. (b [55‘310+2E.mh
E:'p-l!-"“'i“]f willy” in Australin i a dus m-‘:
cyclone. |
17. Match the following and choose the mmm
List 1 List 2
(Country) (Local Wing)
A Australia . Humicane .
B. China o L Willy-willy
C. France #% #& 3. Typhoon
D, West Indies™ 5, 77 4. Mistmal
al ' c D

S (ay :‘2_ | 4 3

Tyt 2 3 )

, @ 2 3 4 |
i () 4 1 2 1
Ans. (e) [SSC Tax Asst X

Expl:-
Country - | Local Wind
Ausiralia - | winy-willy
o - | Typhoon
France = | Misteal

© | West Indies = | Hurricane .
18.

What is the reason of duration of cold wave i it
(a) Bjodiversity and Habitat
(B} Climate ang Energy

(c]  Political Administration
(d) Polar Vortex

In """'Mt'h
Year-

(€} Tropica

¥
°fthe following region, it rains oo’

{b) Equatorial
(d) Temperate




[SSC Steno Exam, 2010)

~—hroughout the year in equatorial rep;
5 pﬁﬂhmm and south latitude 50 and']{h;tﬂ'm. 4
g regions. The characteristics of this region
ure throughout the year and heavy rainfa)|

ieous soil erosion
i ] :
 High population density

;: pastrial pollution of air and water

!u il [SSC (1042) Exam, 2015
}fﬂ{?ﬁ-—t‘l;m the cause of degradation of climate in
' Despite that mining of corals, wastage management
| Lo ey 155UES:
iL The pudllzﬁﬂﬂ of storm I8 made, when atmospheric
gristure- '

fil Rizes suddenly

iy Rises gradually

tfj Decreases suddenly

|
i . .
. : pn the surface of land or sea per unil arcd

 fipk- The pressure
e lnyers of atmosphere is called the atmospheric pressure.
b & ammospheric pressure declines suddenly, storm s

2 Thesudden deeline in atmaspheric pressure indicates-
() Clear Weatherl, {E}'.rﬁm:m

| B Rain Y U%@) Cold Weather

|y 2" '[85 CPO Exam, 2006]

---------

" Ans. (b)
Expl-

24.  The Clouds fioat in atmosphere because of =
{a) (h) Low Velocity
(€ (d) Less Density
Ans, (d) [S5C MTS Exam, 2006]

Expl:- The density of clouds are Iess than the densify of aif, thef
i3 why clowds float in atmosphere.

15, El-nino is-
{a) Warm Ocean Current
(b} Seca Storm
{c) Tropical Disturbance

{d) Another name of Typhoon
Ans. (@) [SSC Tax Asst, Exarm 2006]

Expl:- Originally the term El Nifio applied to an anmual weak
warm ocean current that ran southwards along the coast of Peru
pdﬁmqqrmnjmﬁmtmw_m time the term
has evolved and now refers to the warm and negaw© phase of
mcﬂwﬂﬁ_ﬂa'&iﬂéﬁﬂéuﬂinﬁunmi;mcmﬂnsnfmﬂm
‘surfisce or abovelaverage sea surface temperatures in either the
central and castern tropical Pacific Ocean. This warming causcs
1 shift in the atmospheric circulation with rainfall becoming
reduced over Indonesia and Australia, while rainfall and tropical

wﬂmﬁrmﬂimhmmmdumpinﬂﬁniﬁ:ﬂmm

Low Temperature
Low Pressure

Im J"r -
[ﬂ] e grndilly £ | {,E‘ﬁ.j‘lﬁ"hkh of the following instrument is psed tn measure
[55C CPO 2004, 55C (] 0+2) Exam,di‘mﬁ_l

& humidity-

(a) Kata thermometcr
(b} Ancmometer

{¢) Sling Psychrometer
{d) Medical themmometer

Ans. (c) [S5C CPO Exam, 2007]

Eapl:- A hygrometer is an instronent psed for measuring the
moisiure content in the atmosphere, Generally hygrometer 18 8
sling psychrometer, Ananumm mmmm the speed of wind

27, The vertical speed of air is called-

(a) Wind (b} Aircurrent

{c) Adir outbusst (d) Velocity of air
[SSC 10+2 Exam, 2010]
Thermals are caused by local differences in (cmperatire,
re, of impurity consentaition in the vertical. Temperature
(Jiffrentes i CoUSE aif SUTTEnfs because Wany air s less dense
r'i"-.':':-':.l. u m. .I‘I.-ll sl ¥

E WIIt'l.urtheﬁulluwin;cytluuhddeﬂnlttd Bangladesh

g in Nuvtmh““m'
{a) Dean {b) Vutiye
C© Sidr (d) Moneofthese
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J'riﬂl c_.l.cl‘ﬂ.m dh“m-d :

= Cycloni Sidr was o 1o .
F?'i*‘ Pl disasice in Banghadesh- ACE
5

f the worst nataral i ;

ienpson scale, it was 2 CHCRT 5 gychone

.2'!'. Foqg s an Exsmple o
fap  Gasin digpersad gis

by Gas i||.-.||~|'~:3m.'\d Leaquaicd

() Cias in disperad silid
{di  Liguid in dispersed saofid

Ans (b}

Expl:- The Fog is a visibie mass
droplets ar ice erysials suspended in |
surface, Fog can be considered o 5ype
heavily influsnced by nearby bodies of walcr, fopogr phy.

wind eonditions,

30, A form of condensation which reduces the v
causes hreathing problems, is-

{a) Dew ihi  Frost
(e} Smoke fog (di Fo
Ans. () [S5C CGL Exam, 2012]

[55C CPO Examt, 204

5 conssting ol clowd -.-.ral:f
e pir ar near e Earth's [
alf low-lying clowd and &

iibility and

Expl:- Smoke fog is produced due to smoke particles, which
reduces the visibility, It i produced by induserial plants and
thermal power plant’s chimneys. It cam also cause breathing
prallems.

M. Smegisa Mixture of-
i3} Airand Water Vapouor
(b} Water and Smoke
(€}  Fire ard Watsr
td)  Smoke and Fog
A ) [SSC CPO Exam 2006]

Expl:- Combination of smoke and iy i
which proven
very hazardous to health and jis ; iy Ko

The largest ocean [s.

:a: Adlamtic Geean (b} Indian Ocegp

F Archic Oppepp d i
i g} Pacific Oceqp

Erpj:" Th: Eﬂr‘m Ea
]|
covered with water e planet, |

square,
L Which of the Tellowing soegp h
fa}  Arciic Ocpan
ted  Indian Qcpag 9 Pacifie g
ean
Rakesh Yaday Readers Puh!-lmnn

asst, Exam 2007, SSCUM B M

|q|
(he largest surface area. i opyp,, “h-‘

h's surface.
tage of world's fresh water ks yqp,, myp,

of eafl
ercen

Wyl ¥ e
[ locier 6=
ﬂ"m:ﬂ; (b 1%
ia)
dy 30%
e} T0% (d} [DS.I. o
A & SCCOL Exam,
v, (68.7%%) in the form of maf:i‘" g s
E:l:p::- ﬁlﬁ;ﬁ -._flar-l:f. world's fresh water is storeq %
the form

4, Water exists in hovw much part of the world.

(@) 70% by RO%
[l:';l 15% {d} 55%
Ans. () [35C (10+2) Exam, By

Eapt- Water covers 71% of the Earth’s surface. Tt is viul
all known fosms of life. On Earth, 36.5% of the planct’s gy
water ie found in seas and oceans, 1.7% in groundwater, |
in glaciers and the ice caps of Antarctica and Gireenlad 4
small fraction in other large water bodies, and 0.001% in te|
air as vapor, clouds (formed of ice and liquid water sizpendd |
in air), and precipitation.Only 2.5% of this water is freshua,
and 98.8% of that water i5 in ice (excepting ice in clouds) md
groundwater. Less than 0.3% of all freshwater is in rivers, libs
and the atmosphere

£ The !h-!l:lling down of glacier is normal event repardig
the rising sea level. Most of the glaciers are found ln-

(a)  Green Land (b} South Pole
(¢) Himalaya {d) MNorth Pole
Ans. (b) [$SC CGL Exam, 205

Expl:- : ;
Exp: oot of the glaciers are found in south pole.90%of e
Hnd in glacier of Antarctica i.e. South pole. It loae

90% fresh water of partl,
lacated ! PATt of water in coastal areas of ocean whid®

£y TDPﬂEIzph}- ) Do ek

(d) Continental Slope
[SEE M'IS Eﬂ.:lml I[}EH 580 DE’D Exam,

(€} Continen
: tal §
Ans, (e} helf

e, resulting in an arca of relat”
shelf sea. Much of the shelves
Fiods :

Which iy gy, —Periods and interglacial periods
@) Gulr oy %t Gulf of the Worid-
(€) B, N (b) Guif of Persia

(d) Hudson bay

el
[SSC MTS Exam N




Gulf of Mexieo is an ocean bas;
¢ : : 5in Ia
E,F__;rﬂ.,h,ﬂ.mm:.ﬁt-:intlgnnt. lis Mm?:ll}l']:irm:mkd () Tiliescn idy Toba
B orthwest by the Fulf Coast of g 11 ortheast, | A4
u LA . - i4
kﬁﬂ est and south by Mexico. and op “::19._1 States, on [SSC CGL Examn. 2014]
(o southeast by LExpl:- Titicaca Take is known as Honcymaon Lake. |
1#1-. which of the following, grand bank ang Doger bank 13, The Stagnated water in the surface of lake is known as-
IEer i
L ﬂlﬂd- ik [} Epiliinniom (b1 Metalmnien
o) Tidal |:||:'|l'¢l|'-¢r' plants (b} Man fish catching zone (el Themocling {d} Hypolimnion
el geuba diving (dy Shipping Ans, (d) [SSC (10+2) Exam. 2012] |
. #l [S5C LDC Exam, EEII.'iﬁj MoapLe Thzt hypolimaion or under lake is the dense, battom layer
of water in a thermally-stratified lake, It i the layer that lies

]
“{new found
Hﬁ'ﬂ@dpmﬂmnknfﬁgim: farer;l?j IE-MEE‘E' bank (British | | below the thermocline,
’3]'!'"11 r Cal Iﬂg. -I.-IH flf'-.lﬂﬂ Eﬂ“kﬁ, I"L ‘I‘lhil:‘l' u‘r'ht ' “ i | I_.H " d
. w{wndmml arc a group ol underwater platenes south-ast olbwwing sca is landlocked-

J'H:‘:humdml-d Iﬂ'ﬁ the MNorh American continenta) shelf () RedSea iy Timor Sei
Thest ;ifgmmhmwm shallow, T?ll'lgl:l'lg frivm EO-330 feet e} Morhem Sea id] Aral Sem
1. m) il .
h_.HI:IJ Ans. (d) [SSC CPO Exam, 2009, SSC CGL Exam. 2004, 2011
¢ The deepest surface depression on carth js-
i Teetich Eapl:- The Aral Sea is an endorheic lake lving between
i Kazakhstan in the north and Uzbekistan in the South Red Sea
i Trmor Sca are Open Sea,

3 Mariana Trench

¢} Tonga-Kermadec Trench 15.  The Marine cliffs are formed mainly due to-

i) Bentley Subglacial Trench ¢(ap  Cheean Currents ib) Siructure of Shall

Agi () I[SSC CGL Exam, 2005] () Coast of Sea (d}y Drepth of The Ccean
Ans. {a) [S5C MTS Exam, 2006)

Epl:- The bariana Trench s the deepest part of the workd's
It is Tocated in the western Pacific Ocean, to the cast Expl:- The Marine termaces often result from mirine eTosion

o the Meriana lelands, The trench is about 2,550 kilometres along rocky coast lines in temperate regions due to wave atack

| |11380 mi) long with an average width of 69 kilometres (43 mi), and sediment carricd in the waves, Erosion also takes place in
connection with weathering and cavitation.

| [Bresches & maximum-known depth of 10,994 m at a small slot-
j saped valley in its floor known as the Chalienger Tecp, 16. What is the narrow strip which connects fwo water
| B Where is worlds deepest trench “Mariana Trench” bodies or Sea or Ocean-

leeated- (ay Gull (h) Sarait

@ In Indian ocean {b) Inatlantic oc2an (¢}  Peninsula () Isthrius

{ch  Inarctic ocean (d) In pacific ocean Ans. (b} [$5C MTS Exam, 2000, S5C Section off. 2006]

e _
@ [SSC DEO Exam, 2006, SSC CGL Exam, 2041 e paveage of water connecting Two largs
water bodies like seas and oceans.

17.  The Coast of Norway is an Example of-

t"*"ﬁ_l-!i:riw Trench or Marianas Trench is the decpest
Pt of the world's oceans. It fs located in the western Pacific

Euhuﬂﬂfmmm %T:Fw [’Iff:?:mﬂbﬂ!“ {2} Dalmatian Coasi bl Fjord Coast
1, Where Is S I e . (¢) Rin Coast {dy Pelagic Coast '
{2) Indian el b} Pacific Ocean Ans, (b) [SSC (10+2) Exam, 2013]
Ocean { = -
Atlantic Oc i Expl:- Geologically, a flord or fiord There are many fjords
{“_:' = (d) GuifpfMeric? nnI:he coasts of Alaskn, British Columbia, Chile, Greenland,

Teeland, the Kerguelen [slands, New Zealand, Norway, Labrdor,
Nunavut, Newfoundland, Geotlond, and Washington  stibe,
Morway's coastling is estimated at 29,000 km with fords, but{ |

only 2500 km when fjords are exchuded.
18, Which of the following is a tropical ecean current-

: .| - TR [ n ~ Curiel (b)) Canary
lake Is known a5 “Honeymon (a) tur _
‘ (¢} Labrador {d) Gull Stream

) [$5C CGL Exam, 2014)

e — T ————— i ——— -



2
Anw 0l [SSC {10+2) Exar.

Hile
Expli- The Gulf siream is & s tropical oo cumeiN
-others are cold current.
uglack Current”

19. Which is the longest current knawn a3
due to its black colour-

{a) GulfStream (b} Kuroshio

{c) California Current {d) Amtarctica Current
Ans. (b} [SS( CPO Exam, 2'3'15]

Expl:- I‘twwmﬂmhnwn ulbumntkﬂm-—andﬂm
23 the “Japan Current™. :
20 Find the odd-

a14]

.
i

{2} Dead Sea {b) Red Sea
{c) Black Sea {d) Caspian Sea
Ans. (a) [S5C 10+2 Exam, 2012]

Expl:— The Dead Sea is located in only ope continent. while Red
Sea. Black Scaand Caspian Sea touch bwo continents:

21, What is eoral Bland —
fa) Sand Dune b} Lake
(c)  Sand Cast (dy Terrestrial Sea
Ans. (d) [S8C MTS Exam, EI:H:IE]

E:ﬂq—hwal&ﬂandmntypnnfu]mdinmnd:ﬁnmmml
detrims and associated organic material. Tl‘u'.-:.n'm-.urmwﬁnl

and sub-tropical areas, typically as part of coral reefs which have
grown to cover a far larger area under the sea.

22, The headland in sea is called- o boeny 7
(a)  Strait ) ""-E“ esfinstla.
(c) Insthamas N {d‘,l"ﬂsl;l‘nd’”

11. Why ﬂ'eth Imu pi'l!niic sea opened for trade in
winter-

{a), Itis tropical belt

(k) Mﬂmmmh flow in this region

fn:l [mlflcmkqpﬂ Wik

,{ﬂ,} mm increase the temperature,

[83C CGL Fxom, 2003)

I";HI:-: l']-l-z r
il ]
: - ir 1e absout Eﬂ.kilunu:lu:{j.] i
o Bmﬂ,gsralhs _m

Hﬂ%mgﬁtjslemmuﬁl paint of the Asian mﬂmhh‘l
R e T e
The full name of OTEC

(a) Offshare Thermal Encrgy Conservation

(h) Ooenl
and Thermal Energy Conservation

Energy Conservation

(o} ol
(@ Ceean Thermal Energy Conservation
|S8C CGL Exag, ¥, )

The full form of Il:lTEl::Js'l.‘ilua:r.-iu:h'I'Jzu:;nmEm:n1

Ans. (d}
E:I!P].-
Conversation.
—_—
36. Which of the following current is responsible for ey
temperature in western Europi-

(a) Lahmdnr!:mt o) Gulf Stream
ic) Eanu:;-.' c:ment #{d) Maorth Equatorial

Ans. @) o b [SSC CPO Exam 15z

Expl:= The Gulf Stream influences the climate ol the west e
of Earope, the climate of Western Europe and Naorthern Ezm
4 fs wanmer than it would otherwise be duc to the North Ades:
| drift which is the north eastern section of the Gull Strean ks |

. | part of the Morth Atlantic Gyre, |
27. Which of the following ocean current is not found
Atlante aeean-

(8) GulfStream
(c) "Pem Current
Ans. ()

. (b) Brazilizn Stream
(d) Canary Current
[S8C 10+2 Exam. 304 |

Expk:- The Peru Current_ also called Humboldt nmrntﬁ“""'
low-salinity ocean current that flows north along the wes o

gfm&l:uﬂ: America from the southem tip-of Chile o
28.  In which of the ocean is Sarpasso Sen-
(@)  Atlantic Ocean (b} Pacific Ocean
. (e} Indian Ocean (d) Arctic Qcean
ms. (n) [85C {,GLE‘imT'
Expl:- The § .
ArEasso Sen ja g the midk
ﬂ* Nosth n:-.gmn in the gyre in ™
Atlantic Ocean, It is the pnly sea on Earth whic
19, Monglu port i located jp-
(8) Sr
..!..u:. {'hj tn (d} Ldia D'ﬂ
[Exph o [SSC lﬂ””m'
= Mangls iy iy
-Western Emg;]:lu:h, port in the EHE'-'““*W
¥ ""-r'|—:'_ . —

Es = -
. A e




Expl:- Robert Peary discovered nonh pole, while “"'ﬁ.\
Amundsen discovered south pole. '

7. Which of the following is India's north station?
i ARG md“ﬂ.h.:ﬂ “I.I'c s latest age- {a) Dakshin Gangotri {i:} Maitri
fs o ngmian (k) '|ml;55|rt (c)  Mimadri - (d) Nome of These
i) Crelaceous (d) Jurassic Ao (6 (SSC CPO Exam, 2008]

[SSCTGL Exam, 2014)

- Expl:- Himadr i [ndia’s research station on Marth Pole, Dakshin
'ﬁ"fﬁ,ﬁmagﬁ arc as following- p _

e Giangotri, Maitri and Bharati are the stations on South Pole.
Em-;mus-l‘ﬁ to 66 million years ago % Whichofthe following set of country Is known as “Golden
1. Jurassic -201.3 1o 145 million years ago Crescent”, world's largest oplum Industry-
- Trisssic-252.2 to 201.3 million years ago {a) Myanmar, Laos and Thailand
permian-298 10 252.2 million years ago (b} Afghanistan, Iran and Irag
"";:;d_;h of the following country, drip irrigation Is used (g} Afghanistan, Pakistan and [ram
very efficiently- . {(d) Myanmar, Malaysia and Thailand
i) India {b) Isracl Ans. (€) 5 M [S5C SO Exam, 2007]
fe) Srilanka \d) Englund Expl- The Golden Crescent is the name given to one of
o () [SSC CGL Exam, 2013] | Asia’s two principle aress of illicit opium production {with the

other being the Golden Triangle), located at the crossroads of
Central, Sowth, and Western Asia. This includes three mmns,
Afghanistan, Iran, and Pakistan, whose mountainous peripheries

[F;q:t. The Drip imigation is used very efficiently in Israel. \
1, ‘Which of the following separates Asia and Africa-

. i : Thailand anc
; . I defie the crescent. While Myanmar, Laos and
i) Pmma Canal (b} Sur.z.;l Fana ” | s s golden tiange,
Q) <Ml Jver () 2ne u:;g]:m :ﬂ : ’;M'S] ‘9" The Ozone hole over Antarctica was discovered in-
55C Steno Exam, 2
o l ' © @) 1978 (b) 1985
Expl- Thaﬁuc? canal connects red sea and Mediterranean Sea. © 1978 () 1987
: Sc AT T - ] Amns. (b) [S5C FCI Exam, 2012]
L Which of the following has.to be crossed over to reach . s
Colombo from Kanyakemard-'.| Expl:- In 1984 British Antarctic Survey scientists, Jocsph

Farman, Brign Gardiner, and Jonathan Shanklin, discovered

a recurring springtime Antarctic ozone hole. Their paper was
published m Nature, May 1983, the study summarized data that
had been collected by the British Antarctic Survey showing that

o, NP
(2) Palk Strait (b)/ Guifof Palk
(e) Gulf of Mannar' ={d) Cook Strait
Ans. e [SSC 10+2 Exam, 2013]

P

ozone levels had dropped to 109 below normal January levels
E'Iﬂb'.- Gulf of mannar has to cross to reach ":_:Ulmb':’fm'“ for Antarctica.
:ﬂ_'ﬂhm, : = " 0.  What is the bigpest source of pollution in the world-
! E"lkl of the following four countries are known a8 Asian (a) Scwage and Garbage
g . (b} Automohile Laxity

(8}  Hengkong, Singapore, South Korea, Taiwan {c] Herbicide and Insecticide

1% Hongkeng, China, Singapore, Taiwan (d) Industrial Tributaries

() Hongkong, Malaysia, Singapore, China Ans. (a)

[SSC Steno Exam, 2014]
) Hongkong, South Korea, China, Taiwan

) [SSC CGL Exam 2011]

i’""Hﬂﬂ!}ﬂng. Singapore, South Koreaand Taiwan are known
A tiger because of their highly developed cconomies.
Who discovered South Pole-

2} Roben Peary (b) Amundsen
A 1) John Cabo {d) Tasman
" () [S5C CGL Exam, 2011]

h‘"h Yadav Readers Publication Pvt. Ltd.

Expli- The Sewage and parbage are the biggest pollutants’ in
the world, Sewape is dumped in ponds, lakes and river. Sewage
confains urca which forms ammenia as it gets hydrolyzed. This

ammonia pollutes water and it starts Stinking. It demages aquatic
plants and animal. ' Y

1. Deliquescence rises in-

(a) Warm, Moist and Airy Condition
(b) Cold, Moist and Airy Condition

_‘_'_ |

191




ST CHE—

(e} Cold, Dry and Still Condition

id)  Warm. Dry and Airy Condition
Ans. (a) [SSC 10+2 Exam, 2015]

solution that is formed is less than the partial pressure of walcer

Expli- Deliquescence occurs when the vapour pressure of the
vapour in the air

1. The capital of South Sudan is-
{in] (b1 Juba
[ch {d) Taichumg
Ans. () [S5C 1042 Fxam. 2012]

Suva

kel oaom

Expl:- Juba is the capital and largest city of the Republic of
South Sudan. Tt also serves a3 the capital of Ceniral Equatoria,
one of the ten states of South Sudan

13.  Peso ks the currency of which country-
{(a) Souh Korea (b} Mexico
(€} Japan {d) Traly
Amns. (b) [SSC MTS Exam, 2011 ]
Expl:-
Couniry Currency
Mexico Peso
South Korea South Korean Won
Japan Yen
Italy Eufo
14. Yen is the currency of-
(a)  Yugoslavia (bl Mexico
{c) Japan _ {d} Thailand
Ans. (¢} [SSC MTS Exam, 20117
Expl:-
Country Currency
Japan Yen
| Yogoslavia 't'uEﬂl:h'-'m Dinar
Mexico Peso
Thailand Thai Baht

15, What is the currency of Saudi Arabia-

(a) Dinar (b} Riyal
{e) Lira (d) Pound
Ans. (b} - [SSC CGL Exam, 2015)
Expl:-
Country | Currency
Pound Uk
Lira Used in 4 Countries
Dinar Used in 9 Countrics

L1

Rakesh Yadav Readars Publication

Who discovered America-
{a) Vasc¢o da Gama
fc} Caption Cook

16.
ih) C':'I'-"'"'h'u-l,

"J] -"luI'|'I.|.r.|1.;I..-“::rq
1S5 birg Erag,

3 : VY L
D i oo Como
Amcrica in 1492, d'"ﬂ.ﬁ-*'
17.  Wha discovered Cape of Good Hum

fa) Magelian B Columbys

gl Bartolomeu Dias id} 1""3""'7'3:115:".,]3 |
Ams: 46 [SSC 1028, ,

Expl:- The first European to reach the cape of pood .|
Portuguese explerer Bartolomeu Dias 12 March inhnlm_ﬁh"

named it as “Cape of Storms™. It is located in SW.J'LAE»&"L?
18. Maich the following airport with their citje,.

Ans. (h)

Port City !
A.  Chatrapati Shivaji 1. Singapore
B. Heathrow © 2. Hongkong
C. Paya lebar 3. London i
D. KaiTak 4. Mombai |
A B C b |
(a) 2 4 : .
by 3 2 4 I
ey 1 o | 2 4
(d) 4 3 | 3 |
Ans. (d) [SSC CPO Exi
Expl:- Comrect match of airport with their located oo =4
followed-
Alrport City
Chatrapati shivaji Mumbai
Heathrow London
Paya lebar Singapore _
Kai Tak Hnuglfﬂﬂl!__...-""i

19. Which is the shortest air route from Perth 0 L |
(a)  Penth-Mumbai-Rome-London |
(b} Penh-Ankara-Paris-London
() Perth-Aden-Paris-London
(d) Penth-Mombasa, Reme-London it

Expl:- The shortest route from Perth to London is Poré
_—-/‘-"liﬁ

Peris-London,

20, The Biosphere § h which suppt™
Inclndes. 5 a region of earth w

I. Hydrosphere




; L..:hff‘l'm':m

" gsPET

: Traposphers

{and 3 by L2 and4

-!:' il (@) 2.3.and 4
p:ﬂ* [SSC MTS Exam, 2013
mpﬁm#m tfe. Tt includes lithosphere,

| the largest and latest shipyard established hy

joh 15
n :::“ Co-Operation-
w M _
g Cochin Shipyard
i {Garden reach workshop in Kolkata

wazzaon Dock in Mumbbai

inddustan 5|'|i:'|.'ll'5'ilt'd in Wﬂlﬂkhamnm:un

|||E'

',_ W [S8C 1042 Exam, 2011]
rochin shipyard was established with Japancse co-

| cation. [Lwas established in 1972 with the help of Mitsubishi
{yy inchestICS,

hipyard Estd. year

Hindustan 1941
| [Cochin 1972
i Garten reach workshop | 1916

_HLJ'-EIHI Dock 1934

;

I o “Terrs Bossa™ is 2 Latin word which means-

i8] Warm Region

Bl Red Landscape

e} Lateritic Region
| i Region Nearer to Poles
el [SSC 10+2 Exam, 2014)

|E‘P‘='; "Tem Rossa” is @ Latin word which means Red

1

How much part of earth’s surface is desert-

W 10 (b} Sth
iy ™ (d) oth
% ($5C CGL Exam, 2011

i‘;ﬂ'ﬁﬂfm: total eanth’s surface is covered by desens.
Sl ;;:thr classified in torrid and cold desens. Sabara is

l N in the world.
My, the first Asiun country, reached in the orbit of

L Pikisgap
" Indiy
i)

(b) Japan
{d) China
(SSC 10+2 Exam, 2015]

Bhegy y,
*dav Readers Publication

Expl:- The Mars Orbiter Mission (MOM), also calied
Mangalyaan iz a space probe orbiting Mars gince 24 Sfﬂmbn
2014. 1t was launclved on § November 2013 by the Indiad Spact
Resenrch Organisation (ISROLIE is India’s first interplanetary
mission and ISRO has become the fourth space agency to reach
Mars, after the Soviet space program, NASA, and the Europead
Spoce Agency. It is the first Asian nation to reach Mars orbit,
and the first nation in the world 1o do 5o in its first attempt.




